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POLYCET-202

Hall Ticket Signature of
No. The Candidate
Time : 2 Hrs. Full Marks : 120
Note : Before answering the questions, read carefully the instructions given on the
OMR sheet.
(5805 esarenen EPofned 50008 OMR esaren SRS’ angdd Srrvde erfidn HeHos.
SECTION—I : MATHEMATICS
1. After how many decimal places, the decimal expansion of the rational number
22—><5 will terminate?
23
m 0930 eESRAD 50&)5 o‘:‘méb Inidet:s &')gde'a o)g)ol Inadet:s @@w"o HBOIH 90SHMON?
(1) 1 (2) 2
3) 3 (4) 4
2. The sum of the exponents of the prime factors in the prime factorization of 156 is
156 Bu¥); P57 S0 DS HIT 050 DBo
(1) 2 (2) 3
3) 4 4) 6
3. For any natural number n, 9" cannot end with which one of the following digits?
AP Ve Dog)y 1 K, 9" devd S 1808 D ©c3E” eoBo 5?2
(1) 1 (2) 2
(3) 9 (4) None of these
ADD )
4. If the LCM of 12 and 42 is 10m + 4, then the value of m is

12 508050 42 Jog)go E.e./0. 10m + 4 0D, M 0D
1) = o)
1) 3 2 3
(3) S (4) 8
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+ + i
5. The value of log; 60 log, 60 logs 60 '°
LS SR
log3 60 log, 60 logs 60 035 De3
(1) o (2) 1
8 s (4) 60

6. Which of the following collections is not a set?

&2 1808 T°ES° & KATAN0 28 S 5007

(1) The collection of natural numbers between 2 and 20
2 08ain 20 B¢ Ko dres 30950 FI00weavo

(2) The collection of numbers which satisfy the equation x2-5x+6=0
XP-5Xx+6=0 o D508er) HHNI6D PoRge FHNTADO

(3) The collection of prime numbers between 1 and 100
1 508050 100 3065 0 (570 Sog)5e Idwaso

(4) The collection of all brilliant students in a class

2.8 BEHBS"D ©0stH BIH DTy DHTT0

7. If P={3m:meN} and Q:{3m:meN} are two sets, then

P={3m:meN} 2800 Q ={3™ :m e N} e03oc 5008585
(1) PcQ (2) OcP
3) P=0Q (4) PUQ=N

8. If A and B are disjoint sets and n(A)=4,n(AuB)=7, then the value of n(B) is

A 08030 B @0 o0 ddodoen 8dsw n(A)=4,n(AuB)=7 9008, n(B) He0H
(1) 7 (2) 4
3) 3 (4) 11

9. If the sum and product of the zeroes of a quadratic polynomial are 3 and -10
respectively, then the polynomial is

8 ég DTIHE ABE); ér"mege) 20BN DBt og:ﬁooe)o DB 3 208050 —10 90008, €3 205008
(1) x*-3x-10 (2) x%>+3x-10
(3) x?>+3x+10 (4) x*-3x+10
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10. If x - 2 is a factor of the polynomial x2 —6x? +ax -8, then the value of a is

X5 —6X2 +ax—8 & pTVI68E x — 2 2.8 SEETOERNB, a BE); DEVD
(1) 10 (2) 12
(3) 14 (4) 18

11. If o, B and y are the zeroes of the cubic polynomial 2x3 +x? -13x+6, then the
value of afyy is

2% + X% ~13x+6 &S 50 TS B, BN o, B, Y 0 @B, ofy B¥), devd
(1) 3 (2) -3
1 13

@ -5 4 -5

12. The number of zeroes of the polynomial shown in the graph is
TRS® DrDGD TVIB B, BT S0y
y

A

\/

Y
(1) O (2) 1

(3) 2 (4) None of these
A0 579

13. The pair of linear equations x+2y—-5=0 and 3x+12y-10=0 has

X+2y—-5=0 508a50 3x+12y—10 =0 & BOPoDH doEBeTe 2sdd

(1) no solution (2) two solutions
5D B BOC LSO GO0

(3) unique solution (4) infinitely many solutions
IBE A5 0808 @H0B FPETHRD GOLTON
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14. In a competitive examination, 1 mark is awarded for each correct answer while

5 mark is deducted for each wrong answer. If a student answered 120 questions and

got 90 marks, then the number of questions that the student answered correctly is
1
28 2563 HBES®, (58 BBER I3 edE 1 5°50), AR, WA (FO By AT GRS 7 360, S,

a8 ;’)w:sg 120 L;’o@eéo IR [P 90 o800 é&l)ée&)oooé es g)w&g QB DIeRren
RS (50 Doy

(1) 90 (2) 100
(3) 110 (4) None of these
DD D)

15. Which of the following is not a quadratic equation?

&3 1808 TRS” B HY HEGeN0 5°0?
(1) (x+1P=x3-2 (2)  (x+1)° =3(x-2)

(3) (x+2P+3=x-1 (4)  (c+2)(x=1)=(x+1)(x-3)

16. If one root of the quadratic equation a(b—c)x2 +b(c—a)x+cla-b)=0 is 1, then the

other root is

a(b-c)x® +blc—a)x+cla-b)=0 ed HE LT 1 2.8 e, D878 0rrebsw

b(c-a) ab-c)
(1) a(b-c) (2) cla-b)
a(b-c) cla—Db)
3) bc-a) ) apb-o

17. If the sum and product of the roots of the quadratic equation kx? +6x+4k =0 are
equal, then the value of k is

kx? +6x+4k =0 B HY IAFTe30 Q08); BTrere B0, HTrere oards DITHB, k ed
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18. If the numbers n - 3, 4n — 2 and 5n + 1 are in arithmetic progression, then the
value of n is

n-3,4n— 2 508 5n + 1 Joggen 0SRES® G083, n Jend
(1) 1 (2) 2
3) 3 4) 4

19. In an arithmetic progression, 25th term is 70 more than the 15th term, then the
common difference is

28 WOSBES’ 25 B $5¢8%00, 15 D 553500 E083 70 5D 9000w, Ry B
(1) 5 (2) 6
3) 7 (4) 8

20. Which term of the geometric progression 2,2:/2,4,..... is 128?

2,242,4,..... % (HeEGS® 128 i 565507

(1) 11th (2) 12th
(3) 13th (4) 14th
. . 2 2 2 )
21. If the geometric progressions 162, 54, 18, ..... and 8127797 have their nth
term equal, then the value of n is
2 2 2
162, 54, 18, ... 508080 o7 o g & MOEBEEIO N DH FTPO0 DDTHD, N Hed
(1) 3 (2) 4
(3) 5 (4) 6

22. The points A(-5,0), B(5,0) and C(0,4) are the vertices of which triangle?

A(-5,0), B(5,0) 38050 C(0,4) ®osoes dorenr Ko @4Hessn DB?

(1) A right-angled triangle (2) An equilateral triangle
2.8 0028 |9EHEHL 2,8 03025 (9802850

(3) An isosceles triangle (4) A scalene triangle
28 Q0BT (BgHesd00 28 DA D230
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23.

24.

25.

26.

27.

The X-axis divides the line joining the points A(2,-3) and B(5,6) in the ratio of
A(2,-3) 208a5n B(5,6) Docen §9% Bargoaed) X-e50 98580 dyd

(1) 1:2 2) 2:1
(3) 3:5 (4) 2:3

If four vertices of a parallelogram are (-3,-1),(a,b),(3,3) and (4,3) taken in order,
then the ratio of a and b is

(-3,-1),(a, b),(3,3) 28050 (4,3) e B E00S" BoLdy) a8 SHroBs DEoYe30 G0, TROIDH TS,
a 508050 b © dRHY

(1) 4:1 2) 1:2
(3) 1:3 4) 3:1

1 1
If the points (a,0),(0,b) and (1,1) are collinear, then E‘*‘—:

b
(@,0),(0,b) 508050 (1,1) &9 DotoPHeo SEHATSH, é+% =
(1) -1 (2) 0
(3 1 (4) 2

If the centroid of the triangle formed by the points (3,-5),(-7,4) and (10,-k) is at the
point (k, —1), then the value of k is

(3,-5),(~7,4) 08050 (10,—k) &3 Doco)es’® A8t |eheso B, KHthdg Soso, (k, —1) Dok
DY &e00d k de0D

Q ™
(1) 1 (2) 2
3) 3 (4) 4
If AM and PN are the altitudes of two similar triangles AABC and APQR respectively
and (AB)? : (PQ)?2 = 4:9, then AM : PN =
AM 508050 PN @0 B0t 8778 18802385 AABC 08050 APQR© &)®oen S8 o8dsw
(AB)? : (PQ)? = 4 : 9 eo0®, AM : PN =
(1) 3:2 (2) 16:81
(3) 4:9 4) 2:3

/3-A
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28. In the given AABC, if DE || BC, AE = a units, EC = b units, DE = x units and
BC = y units, then which of the following is true?

QY0 $005°0 AABC &', DE | | BC, AE = a d0~dew), EC = b d0~de), DE = x 0505°06x) 508050
BC = y 0506y @008, Se 308 TS 8 Se500?

A
D E
B c
(1) x=—7 2) y=—
a+b a+b
_a+b x _a
6) *="oy Ol

29. If the lengths of the diagonals of a rhombus are 24 cm and 10 cm, then each side of
the rhombus is

2.8 oroR (D DBoByes0) BooY), o deHeo 24 Ro. . HBakn 10 Do. . e 90008, D (9

£025500 DCED)
(1) 12 cm (2) 14 cm
12 o. do. 14 o. 2.
(3) 15 cm (4) 13 cm
15 o. . 13 o. 2.

30. In the given figure, PA is the tangent drawn from an external point P to the circle with
center O. If the radius of the circle is 3 cm and PA = 4 cm, then the length of PB is

20 5208°, PA &8 erirg 206 P o0& O oo Ko H@d8 Rabedd 9)5de. 88 oo
3 0. d0. 508050 PA = 4 0. 0. ©@ond PB Bk, )

A
3 cm 4 cm
(@) B P
(1) 3 cm (2) 4 cm
3 o. d. 4 o. .
(3) Scm (4) 2cm
5 o. . 2 o. .
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31.

32.

33.

In two concentric circles, a chord of length 24 cm of larger circle becomes a tangent
to the smaller circle whose radius is 5 cm. Then the radius of the larger circle is

B0t bééo@ Eﬁg@"’e)ess, 24 0. 0. D) Ko D& Zée)ééoo B, &g, 5 o. . 3)"’5@1365;5&) Ko DY é&@”ﬁ)g
—o Q ) () -0
BB 0B, e BB Bk, TG0

O
5cm
A 24 cm B
(1) 8 cm (2) 10 cm
8 o. . 10 o. .
(3) 12 cm (4) 13 cm
12 o. %o. 13 o. %o.

The area of the circle that can be inscribed in a square of side 10 cm is

10 0. 0. ghHasore Ko HESRHH0S® eﬂoééggﬁoba)&é B0 Ao, PBPegH0

(1) 40m cm? (2) 30m cm?
40m ¥.20.20. 307 ¥.20.20.

(3) 100m cm? (4) 25n cm?
1007 ¥.%0.20. 251 ¥.20.0.

If the height of a conical tent is 3 m and the radius of its base is 4 m, then the
slant height of the tent is

2.8 B0gLY) &5°8 K80 BE); 2B 3 . H0BAsL TR e W?S@vgéoo 4 3. @008, &3 &S0 By,

VTR0 DB

(1) 3m (2) 4m
3 . 4 2.

(3) S5Sm 4) 7m
5 . 7 .

/3-A
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34. If the radius of the base of a right-circular cylinder is halved, keeping the height
same, then the ratio of the volume of the cylinder thus obtained to the volume of
original cylinder is

28 (530 )T75e8 B GBo%); 800 R 0D, T°D &° TGGR0R B8 BRoY éegooo@, e3 Dsome
DED By H0B0k0 eden BESHne HIBITET DS
(1) 1:4 2) 2:1
3) 1:2 4) 4:1

35. If tan6 = \/5, then the value of sec is
tan® = /3 @ad, sec 0 EBooE); dewd

(1) (2)

(3) (4)

2
V3
2 3

36. A chord of a circle of radius 6 cm is making an angle 60° at the centre. Then the

length of the chord is
6 0. . TR0 LORD 9)B0S® 2.8 a5 Boo D 60° © §%30 BRYOB. OB 5 ey FD

(1) 3 cm (2) 6 cm
3 o. . 6 o. .
(3) 12 cm (4) 3v3 cm
12 o. do. 343 %o. .

37. The value of tanl10° tan15° tan75° tan80° is
tan10° tan15° tan75° tan80° 3Bo0E); DD

(1) -1 (2) O
(3) 1 (4) None of these
ADD )

38. If tan®+cotd =5, then the value of tan?0 +cot?0 is

tan® + cot® = 5 esond, tan20 + cot2 0 BooE); eV
(1) 1 (2) 7
(3) 23 (4) 25
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39.

40.

41.

42,

c0s 36°cos 54°-sin36°sin54°=

cos 36°cos 54°—-sin36°sin54°=
(1) 1 2) O

1
@) -1 4 5

If two towers of heights h, and h, subtend angles of 60° and 30° respectively at the
mid-point of line segment joining their feet, then the ratio of their heights h, : h2 is

h, %8050 h, d8oen EORS Boch RPDTeen 763 oo $92% Bar oo Gk, 0855 VoY Mo
DK &s8sE eren ST 60° 2080k 30° @B T3 JBe dYB h,  h, =

(1) 1:2 2) 2:1

3) 1:3 4) 3:1

The angles of elevation and depression of the top and bottom of a lighthouse from

the top of a 60 m high building are 30° and 60° respectively. Then the difference
between the heights of the lighthouse and building is

2
Q-

30° 9805 60° ésgs 508050 D8y §%e0 Bike00B, B9 Fogo B 590 G0, JBL BesH0

60 0. & Ko 28 PIdo P od 28 8% C‘rgoa’éo BooE); P D0 BB 9K ey SB[

(1) 20m (2) 80m
20 &v. 80 %v.
(3) 60m (4) 40m
60 %o. 40 .

Which of the following cannot be the probability of an event?

&5 808 TOS® 2.8 0ead Boog); Sogrdgd OB 8?2
1) 0 2 2
(1) (2) 3

5
@ 7 (4) 1

/3-A
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43.

44.

45.

46.

If one card is drawn at random from a well-shuffled deck of 52 playing cards, then
the probability of getting a non-face card is

2T E00ES 52 0¥ Sg),e0 Ko 2.8 8y 20o0d OISy RSO 2.8 5P e@?aéé&)oooé, & 5°8) S0 57
558908 Ko Rogrng®

3 10
1) 13 (2) 13

7 4
(3) 13 (4) 13

A lot consists of 144 ball pens of which 20 are defective and the others are good.
Rafia will buy a pen if it is good but will not buy if it is defective. The shopkeeper
draws one pen at random and gives it to her. The probability that she will buy that
pen is

28 oSS 144 ard DYoL o). TBS® 20 ST N, DRADD 0D, EPOIT® 00D DIYR
DR 5706008, STHEI0NHAD DY ETHED. LISPEmRdE RIS 28 DH/Y B e
AR T &) §ROR"L DALERS Ko Sogrdgd

= n 20
(1) 36 (2) 36

31 31
B 36 ) T4

A bag contains 3 red balls and 5 black balls. If a ball is drawn at random from the
bag, then the probability of getting a red ball is

28 $00S° 3 DY oBoen BAN 5 Hend woBey KoY. & J0d Wod ADIEIET &8 20

BAVIE 98 DY 208 O Ko HogrHgd
(1) (2)

(3) (4)

©|ul N+~
w|lw ~|w

If the mean of the following frequency distribution is 15, then the value of y is

e (808 D93y DeresoH B, B 15 eod, y deosd

x[5]10]15[20]25
fle|8 |6y |5
(1) 8 2) 7
(3) 10 4) 9

/3-A
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47. If the difference between mode and mean of a data is k times the difference

between median and mean, then the value of k is

2.8 (BP0 QB00E); 2TVTEI 08050 e908 :ﬁoégﬁo‘cﬁno :636523 23650, T éocﬁ?sﬁééao 208050 e90¥ éxﬁg@éwe)

A IS ke Bex 00D, k 0D
(1) 2 (2) 3
(3) 1 (4) Cannot be determined

E2085),8%0

48. The median of the first 10 prime numbers is
200863 10 (557 Sog)e D85S dewd
(1) 11 (2) 12
(3) 13 (4) 14

49. For the given data with 50 observations ‘the less than ogive’ and ‘the more than
ogive’ intersect at the point (15-5, 20). The median of the data is

28 &T07°08 38°es HBAL N8 e L8500 50 ©oFeR now. © (155, 20) & Dot 9
POGOWIEIOLTHON. ©000B S$ET°080 BY); B0¢5BB0

(1) 155 (2) 20
(3) 145 (4) 15

50. The modal class for the following frequency distribution is

&4 1808 DPREY DgeH0 Q) ePTOTE BSHS

x | Less than Less than | Less than Less than Less than | Less than
10 20 30 40 S0 60
10 s 8%, 20 smyoxs | 30 smpoxys | 40 sy ess | S0 sayexps | 60 s 8509
f |3 12 27 57 75 80
(1) 30-40 20 - 30
(3) 10-20 50 - 60

/3-A
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SECTION—II : PHYSICS

51. The value of —-10 °C temperature in Kelvin scale is
3950 H°90S° ~10 °C &pis dend
(1) 283K (2) 263K
(3) 273 K (4) OK

52. According to the principle of method of mixtures, if A and B are the net heat lost
and net heat gain respectively, then

0[S0 S BIB0 (55750, A 58050 B 00 S50 BE559er 6?0009 o 98050 390 SHe

15200 €50 ond
(1) A>B (2) A<B
(3) A=B (4) None of these

A0 579

53. When wet cloths dry, water in it disappears. This is due to

B 280 G WOVBHED, 29080 DD ST DBV, 5530

(1) freezing (2) condensation
S0DesdH0 088880

(3) melting (4) evaporation
B5DEI0 RNAEES

54. The relationship between average kinetic energy (E) of water molecules and its
absolute temperature (T) is given by

D J8ITe0DO BT KBestE (E) 508050 o0 3820 &ai1® (T') © Jogy Sowogso

1 1
E o« — E < —
(1) T (2) N2
(3) E«xT (4) E is independent of T
T E 358566880
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55.

56.

57.

58.

59.

Pick the false statement on specific heat.

808 T3S° 2IPHH0P By TEI IB?

(1) Its value is same for all the substances
B2 devd o) Rloys SECRMMAY

(2) Its S.I. unit is J/kg-K
82 S.I. Bdoesso J/kg-K

(3) Its value is high when the rate of rise (or fall) of temperature is low
B o0 JL DB &S DEOINS (B BIES) Bew Qo

(4) Its value for water is 1 cal/g-°C

2e38 o0 Qe0d 1 cal/g-°C

Freezing of water takes place at a temperature and atmospheric pressure of
D FoREHH0 Do &S SoBA TTHSe DET R HEBIT

(1) 100 °C, 1 atm (2) 1°C, 100 atm

(3) 0°C, 100 atm (4) 0°C, 1 atm

Refraction does not take place when the angle between the incident light ray and
normal to the interface is

38 5708 886708 0B ©0erdE Bodsy 9 §%s0 5 51885950 BN

(1) o0° (2) 22-5°

(3) 45° (4) 60°

The refractive index of a medium is 2. The speed of light in that medium is

2.8 o880 ABo0E); é@eﬁzﬁé Ko8950 2. €3 ASIPHEOS’ SPoBDNEW

(1) 6x10% m/s (2) 10®°m/s

(3) 5x10% m/s (4) 1-5x10% m/s

Which among the following are used in transport communication signals through
light pipes?

BHTT I08TOR (980 BAHTERE T°e S0 eren

(1) Plane mirrors (2) Concave lenses
QDO B58)e5°e0 DTS Eeaseen

(3) Prisms (4) Optical fibers
BERSEN &8s pabdey

/3-A
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60. Which among the following statements on mirage is false?
DOGHTHOL D0W0P0H (808 TES® By TEFW
(1) It is an optical illusion
8 CSQ)E (85530
(2) It is the real image of the sky

78 85730 ABWE); &3 (DD0VH0
(3) It appears on the distant road

B B8 5% E1D08
(4) It appears during hot summer day

B3 00K V0N

61. If v, and v, are the speeds of light in the two media of refractive indices n, and n,

respectively, then

n, 08ako n, 518859 18250 denHen EIRD Bok) AIrHSTeS® SPodd e HEHM v, B0 v, 9000

vl_nl vl_nQ
1) 5 " @) o Ty
2 2 2 1
v _ M b N2
) L, "\n 4 . "\n
2 2 2 1

62. Which of the following rays undergoes deviation by a lens?
1808 TPBS° Ko Do VD0 o SPod Ederen
(1) Ray passing along the principal axis
D50 Kot D) 8o
(2) Ray passing through the optic centre
&8 Boo Moz 8 Sderen
(3) Ray passing parallel to the principal axis

PERR8 dATroBSoT DY) SSeTeen
(4) None of the above

A0 579
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63. Pick the correct answer from the following two statements :
1808 Bockd TEGHNO 00 BBAR IHTGH0 J0DE BWE0G
(@) Virtual image can be seen with the eyes.
DG (SBD020 E0e38 E15:008.
(b) Virtual image can be captured on the screen.

T (IDD0LRY BEP DO

(1) Only (a)is true (2) Only (b) is true
(a) So° 0 Deso (b) S°BR0 D8H0

(3) Both (a) and (b) are true (4) Both (a) and (b) are false
(@) 508050 (b) Botre desS (@) 28050 (b) Bore HIPS

64. The lens bounded by two spherical surfaces curved inwards is

B0t DY A58 &:38Beroty SHTPHE JoR &) Ser¥o

(1) biconvex (2) biconcave
850858 B)erses

(3) plano-convex (4) plano-concave
DB KH083°5°8 DBO J)eIrsey

65. If the object and image distances due to a convex lens are x each, then its focal
length is

2.8 50857578 £e050 ABE); H) 8w (B0 SeTren zu§°b§be3 X 90008 mwéoééo
(1) 2x (2) x/2
(3) 2x/3 (4) 4x
66. Irrespective of the position of the object on the principal axis, a concave lens
always forms an image of nature

(DGE0 D 5‘@0@ a@v:soﬁs 0200850 BEIOT®, 2.8 HeTseE eoso Qgg@)dﬁ? bq)ém ESLELVILARSINALVIVON

(1) real, invert (2) real, erect
ez, Boooenne Qe3s, DYDY

(3) wvirtual, erect (4) Does not form any image
20T, DV 98D0810 ELBDED
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67. Usually Doctors, after testing for defects of vision, prescribe the corrective lens
indicating their

RGBT G583, B R B0V HBETH, SI00w e 50577 (808 T3 EIH0S” R ARed

(1) radius of curvature (2) refractive index
DS TN 518859 Koeaso

(3) mass (4) power
(8550°3 0850

68. Farsightedness is called
&I°8) HIWOR Jygdor BurROR, SR8 SudHere I8 JDIESEDED) cse)g’.bxﬁsaéw

(1) hypermetropia (2) myopia
aqg S ENN Y

(3) presbyopia (4) cataract
LNl ERepS

69. Relationship among the speed of light wave (v), wavelength (A) and frequency (f) is
given by

208 BBoK Do (V) BSoK fo.;géo (A) SoBas» o850 (f) © Dogsy Sowodso
(1) f=vA (2) v=ra

3) A=fv 4) r=fv

70. Which of the following statements on red colour light is true?
1808 773S° IKHB0K 520D H020Ho JeID TGO
(1) It has low refractive index and suffers high deviation
8 ee) :5@255;6 0350 EOR, 9% V050 DooEos
(2) It has low refractive index and suffers low deviation
08 00y 85 Heago ¥R, ey DN DoEHB0E

(3) It has high refractive index and suffers high deviation

8 98 :5@25:6:6 K350 EOR, 9BE D050 Do
(4) It has high refractive index and suffers low deviation

08 o8 H8DD Heago EOR, we) DBeH0 0B
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71. Blue colour of the sky is due to the scattering of light by the molecules of
5708 (808 HEHTENNOE” HBEIE0 DOGEO HOD &850 VOO EHEBI0S

(1) H, (2) H,O
(3) CO, (4) N,and O,
N, %8050 O,

72. If i, and i, are the angle of incidence and angle of emergence due to a prism
respectively, then at the angle of minimum deviation

2.5 3g¥0 B, S8 §%30 208050 20 §een HHIT i DB 7, & o K DVOD §%0 H¢

BB

(1) =14, (2) >4,

(3) ¢ < i2 (4) None of these
ADD 5°D)

73. The minimum focal length of the eye-lens of a healthy human being is

856K§ S0BGD HIPIYD BwE); Soed-5eos SIUSEORAL(CLIINY

(1) 25 cm (2) 2:5cm
25 o. . 2:5 o. .

(3) 227 cm (4) 1lcm
2:27 o. . 1 o. .

74. Volt per ampere is called
S°G / 302008 B8 Jdrno

(1) watt (2) ohm
ey 8.0

(3) coulomb (4) joule
Ereood &S

75. The device which maintains a constant potential difference between its ends is called

HD BoL DHBew 985 @ne?;gosoé BEe0 EeORDo%0 oo

(1) Dbattery (2) multimeter
2508 20920608

(3) ammeter (4) electric bulb
2606 DS wew)

SPACE FOR ROUGH WORK /083508 36550

/3-A [18]



76. Two resistors of 04 Q and 0:6 Q are connected in parallel combination. Their
equivalent resistance is

04 Q $08050 06 Q enden Ko Botd I8 PO H$AT0HE0 HO*H0 Daded. HO8 96%50 e
(1) 1Q (2) 05Q
(3) 024 Q (4) 01Q

77. The junction law proposed by Kirchhoff is based on
80°),9 (HAFB0DD D0 DAN0 B BPVHEBS

(1) conservation of mass (2) conservation of momentum
(B550°3 DBBS e B0 Ld:béfm DB QB30

(3) conservation of energy (4) conservation of charge
38 DBgBg Dot o DT DS Bor o

78. The materials which have large number of free electrons and offer low resistance
are called

¥ éogpéeS’s ?oogag OO EOR &0d 90050 KR éock SEgren

(1) semiconductors (2) conductors
eagmt’m?oo ESIEN)

(3) insulators (4) None of these
20855000 ADD 5°)

79. A fuse is made up of

DB HAsB8 ek S
(1) thin wire of high melting point

Sy &0&, 9B¥ 59835 %0:60 EOR &odicio

(2) thin wire of low melting point

DY &0l, ) B3I %@éo EOR &odico
(3) thick wire of high melting point

JooGone 6ok, 988 |$DETHD %v?éo EOR &0cser0
(4) thick wire of low melting point

SooKore &od, o) SIS %v;éo EOR &odéco

SPACE FOR ROUGH WORK /93508 e300
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80. If the specific resistance of a wire of length 2 m and area of cross-section 1 mm? is

1078 Q-m, then calculate the resistance.

2 m 2res) 08050 1 mm” $o¢55) Prrego SORS 2.8 &K 933 98%50 107° Q-m eand e &K 26%50

el
(1) 1072Q 2) 2Q
(3) 2x107°Q 4) 2x1072Q

81. An evidence for the motion of charge in the atmosphere is provided by

TTHEE0S” I DOV BOAHBAL SIS

(1) rainbow (2) mirage
QOGO DOEEDICO0

(3) thunder (4) lightening
68000 WY

82. The electric energy (in kWh) consumed in operating a bulb of 60 W for 10 hours a
day is

60 W 20850 o wey) 2.8 8”10 Howeo PGB DABIHo 5538 (kWh oS® )
(1) 06 (2) 6
(3) 36 (4) 12

83. The scientific demonstration of H.C. Oersted is related to the study of

H.C. e30008 R& wrnahon Seddad (@Ko

(1) electric discharge through air
oSt 3)650?35 &&Bo

(2) relationship between voltage and current
S'Be98, DesogS (S8 Bogg Bowocso

(3) magnetic effect of current
DS (S0 HY AH,08 (9gTD0

(4) refraction of light

P08 91845990

SPACE FOR ROUGH WORK /083508 36550
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84. Pick the correct answer from the following two statements :

85.

86.

1808 Both TEFHNO0E D8R ISTTRHO DodE DOHoS :

(@) Within a bar magnet, magnetic field lines travel from south pole to north pole.
$S0teaH?) 080 S, £90503r),0% ST NS I AL @ydo H00é &BBE)H0 PHB [Hosreedaron.
(b) Outside bar magnet, magnetic field lines travel from north pole to south pole.
50G°05HR°); 08B0 VIO, 90 2000 &8Y $ydo 20od dé\e’acﬁe):so DIHE (Hosreedaron.
(1) Both (a) and (b) are true
(@) 208050 (b) Bokr® Deed
(2) Both (a) and (b) are false
(@) 508050 (b)Botr B3PS
(3) Only (a) is true
(@) ST°BI DD
(4) Only (b) is true

(b) 7585 Desdoo

Weber is the S.I. unit of

J2d 9058 D08 S.I. [Sduesso

(1) magnetic pole strength (2) magnetic moment
eaoi)@vboé (;Sq)é:()éogéao eaoi)@vboé [8P080

(3) magnetic flux (4) magnetic flux density
e9A0V?),;08 9PI°I°0 9AV7;08 9PI°IT° 0[S

The magnetic force acting on a straight wire of length [ carrying a current I which
is placed perpendicular to the uniform magnetic field B is

[ &res) B0BA50 T 055 (W0 SOR i 2.8 SR IEBY 9dHI),08 0 B K 000N &0DNHE), &
BN 3 DA e9aHw)08 o

(1) IIB (2) I/BI

(3) B/II (4) I°Bl

/3-A
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87. Mechanical energy is converted into electrical energy in

OSO[BS $8D DS BEM® HIEY) AGHHN

(1) motors (2) electric geysers
doed D85S RSB

(3) generators (4) televisions
2350608 B992:S

88. The device which contains slip rings to reverse the direction of current through
coil is called

HE0QS® DEgH (T B8 HIBBE 8L HI°8)0S” &DBIHHE YD BorHOR EOR &0k SHHN

(1) resistor (2) Dbattery
D8°H50 a5l

(3) electric motor (4) solenoid
DB DIerd o0&

89. An increase in magnetic flux through a coil of 500 turns in 0-1 s is 0-:001 Wb. The
maximum induced EMF generated in the coil is

500 %06 SORD 2.8 @Kiﬁoéégé‘s 0'1s & 8BRY dHA,08 wPairo NG 0:001 Wh. eoid®
DHED MBY (288 dEgHTOE 2B
(1) S0V (2) 10V
(3) 05V 4) SV

90. If € and At are the induced EMF and time respectively, then the change in magnetic
flux is given by

£ 08050 At &0 SEIT (D8 ado?sega‘be)g 200 0805 5700 oD 9CA0O);08 ©9PT°I0 DI°EY)

n 2) eat
G) (4)  Jeat

SPACE FOR ROUGH WORK /083508 36550
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91.

92.

93.

94,

95.

SECTION—III : CHEMISTRY

CHSCOOH solution turns red litmus into
CHSCOOH (PHEI0E 3& e%)&f) 5@3):6?{))633

(1) Dblue (2) Remains red
DOB0MHE HoeBH JBEIYHBOKITTD &GoCIRD

(3) colourless (4) None of these
égdirééomm D 79

Identify the hardest substance in the body.
#B80S” @508 KBRIH ergo B

(1) Calcium sulphate (2) Calcium chloride
QA0 SBed 52dao §8&
o o\ [l
(3) Calcium phosphate (4) Magnesium sulphate
52900 Fraed oRaDHo Byed

2HCl + Zn ———

(1) ZnCl, (2) ZnCl, + Cl,
(3) H, (4) ZnCl, + H,
Methyl orange shows colour in acidic solution.

52 ([TPHER00E PS 380 EIIHE O B0l BIDOBIR

(1) yellow (2) red
IO Nleti)!

(3) green (4) blue
55039 deo

Which of the following is not correct?

1808 °0° Dzs0 5208

(1) 2p° (2) 3s!
(3) 4f (4) 2d°

/3-A
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96. Quantum numbers of a subshell are n = 2 and [ = 1. Identify the subshell.
n=2 8050 [ = 1 55080 J0500 [0 &S50 I
(1) 2s (2) 1s
(3) 2p (4) 2d

97. [ values of subshells d, s, f, p are respectively
d, s, f, p &358)0°0 [ de0Hen HEOJM

(1) 1,2,0,3 (2) 3,2,1,0
3 0,1,2,3 (4) 2,0,3,1

98. In visible light, red colour possesses
8y855°0RS"D MEOHB0IH
(1) high wavelength and high frequency
¥ HEoX @qgééw 0800 ¥ iﬁ?és?fg):ééo EOR &0k
(2) high wavelength and low frequency
Q8 HSoN ngszéoo Q0B B @0?63@:650 AR &0
(3) low wavelength
B0 BN fo.;gééoo R &0ocO0
(4) All of the above
DO SH)

99. Identify the degenerated orbitals.
808 TRS® T0%8 Mo ebyerg)% HBodod
(1) 2px 2py 2pz (2) 2s, 3s, 4s
(3) 3p, Spy 3pZ (4) Both (1) and (3)
(1) 08w (3) Bocsoe

100. Elements having 5, 6, 7 valency electrons are
5, 6,7 éoa)éeS’s J0d) OO o DTesTe
(1) P, S, Cl (2) P, Cl, Na
(3) P,Cl S (4) P, S, Na

SPACE FOR ROUGH WORK /083508 36550

/3-A [24]



101. Electronic configurations of Mg+2 ion and Cl ion are
Mg"? a0 98000 Cl~ @die Jogs drrgosne

(1) 2,8and?2,8,8 (2) 2,8,2and?2,8,8
2, 8 %08aiw 2, 8, 8 2,8, 2 %08a» 2, 8, 8

(3) 2,8,8and?2,8 (4) 2,8,2and?2,8,7
2,8, 8 5080» 2, 8 2,8, 2 %08a» 2, 8, 7

102. Coordination number of Na® in NaCl crystal is
NaCl 5)e3506° Na" GBoog), $5:50350% Soas

(1) 1 (2) 6
(3) 2 (4) 8
103. Bonds present in Nitrogen molecule are
DSBS WEVHSD WS _ &)d.
(1) 3o (2) loand 2rn
1o 0803w 27
(3) 3m (4) 2mand 20
21 0805 20
104. 132, 232, 2p6, 332, 3p6 configuration is related to
152, 252, 2p°, 35%, 3p° DOES DTGIID % 3oBIB.
(1) p3 (2) CI’
(3) s (4) All of these
a0
105. The number of electrons gained by non-metal element is equal to its
28 ST DoTreshn 08D Q@Ls;éoo nvaogp?s oD 8 3500000,
(1) wvalency (2) group number
38)&){\) ™) éo&)zg
(3) bond length (4) All of these
2085 Qgém ea?()&oin
106. Corrosion of copper produces
oR o000 FoBIPE _ ByeoR.
(1) copper oxide (2) copper carbonate
556 e53 6 595 5°85y%e5
(3) copper sulphate (4) pure copper
5295 38365 R5NWD o°R

SPACE FOR ROUGH WORK /93508 e300
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107. 22-carat Gold contains
22 385y womsan _ HoBao %0 8OR éocor.
(1) 22 parts of Gold + 2 parts of Nickel
22 g oSN + 2 grreen 93¢
(2) 22 parts of Gold + 2 parts of Copper
22 gPree 22080 + 2 grerren o°R
(3) 22 parts of Gold + 22 parts of Silver
22 23 0omE0 + 22 gereen dod

(4) 22 parts of Gold + 2 parts of Chromium
22 gr7e 20mE + 2 e (§000H0

108. Formula of Rust is

B ABo0E); FeERe”
(1) Fe,O; x H,O (2) Fe,0, x H,O
(3) Fe(OH), (4) Fe(OH),
109. Chemical used to remove impurities from ore is called

TN H0OT0 OR0HIL T6 SRy 906378,
(1) gangue (2) mineral

™on ESATT N oY)
(3) flux (4) slag

($555°8 S*R000

110. By moving top to bottom in group, valency will
TPHS® R D008 (8085 Hy SPe8, Tl

(1) increase (2) decrease
VEHB0E BHBH

(3) No change (4) increase and decrease
DIPEE0 DEH Bas B0

111. Atomic number of the element of VA group, coming after nitrogen is
VA £ 3085 J|e5°aS 0758, & (IS 93 Dores S56557e0 D09
(1) 7 (2) 15
(3) 14 (4) 17

SPACE FOR ROUGH WORK /083508 36550
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112. Identify the element that belongs to 2nd group and 3rd period.

BOED (P S08050 3 D DBAHE £ DoBD H0°e%0 I8
(1) Na (2) Al
(3) Mg (4) Cl

113. Identify the correct statement.

28 €900 RE530065 ([IeN) X0 0BG

(1) All s block elements are metals

S gP5 resel) St
(2) All p block elements are metals
P 2 Soresced) Soten
(3) All s block elements are non-metals

S 2PE DICOSOR) S0

(4) All p block elements are non-metals

P e Doresceld) e Sten

114. VIA group elements are called

VIA /07 00°05°00 _ 9083°8.

(1) chalcogens (2) oxygen family
S 89) e58)230 000

(3) halogens (4) Both (1) and (2)
S ey (1) S08a5n (2) dockr

115. Identify the structure of propyne.
808 TRS® [P e DTYEIO B
(1) HC==CH (2) H,C—C==CH

(3) H,C=CH— CH, (4) H,C=CH,

SPACE FOR ROUGH WORK /93508 e300
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116.

117.

118.

119.

120.

R

C = O functional group indicates
R/
R
C = O 53005 55007570 DS 0
R/
(1) aldehyde (2) ester
esdr& AIS)
G o (M)
(3) alcohol (4) ketone
), S 8e5°S
Ethyl alcohol upon oxidation produces
23S 0,5 esdyEseo Dob 20 BB,
(1) ester (2) aldehyde
NS sdirs
(3) ether (4) alkane
Se586 eﬁébs
Ethene and ethyne differ in

BeBS 208050 AP 0D @ozeen

(1) number of carbons (2) number of bonds
SECNNCRVEE Y 2000 5o

(3) number of hydrogens (4) Both (2) and (3)
& S0 Soy (2) So8asn (3) Bockre

Which of the following are called paraffins?
1Bo8 T°0S° De3D FTDY) @0eTEd?

(1) Alkanes (2) Alkenes
es8) oeo e39), 080
(3) Alkynes (4) Alkyls
e383);, 00 8),00e0

Cough Syrup contains
&%) erREOS D S5 Ve[

(1) ethanol (2) ethanoic acid
3ES'S S s eso

(3) ethanal (4) ethyl acetate
TS 39S DVES

/3-A
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Note : Before answering the guestions, read carefully the instructions given on the OMR sheet,

Bhes mmreney @Eokoetd Socky OMR amwen 3508’ gHwas Srsvese SRom wEsed.

SECTION—I : MATHEMATICS

1. The LCM of the numbers 27 x3% x7 and 28 x 3% x 11 is

27 %38% seTuamar g™ % B F R T B, NI cnwsssssenss

(1) 2%3x3* 2) 27 %3t @) 27 x3%x7x11 (@) 2®x3%*x7x11

2. The number of rational numbers exist between any two distinct rational numbers is
Dot MKy wEGEICD Soagw Wi dof wsstian Jope Sowy

(1) 0 2 1 (3 2 " (4) infinite (wRoSHo)

3. The prime factorization of 163800 is

163800 Sl BFTCTO JFOW OBS cerererrsenrreens

(1) 22x33x5%°x7x13 @) 23 x32x52x7x13
B) 2%3x3%2x5%x7x13 (4) None (96 =)
1 1

. + =
logx xy logy, xy

(1) o 2 1 3 -1 4) 2

5. If log;p 3= 0-4771, then the value of log15+log2=
logip 3= 0-4771 esoxid log 15 +log2 Deod =

(1) 4771 ) 14771 3) 477 @) 04771
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6.1f A={1234 5 and B=14, 5 6 7), then A-B=
A={,234,5; B={%,56 Tjeoxw A- B=

(1) 4,8} @2 67 @) {1, 2,3 4 %3456 7

7. Among the following, a null set is (where N is the set of natural numbers)
B (300 THSE° wrsg S0 (gRE N &do Sivn Some 303)

(1) {x:x<5and xe N} 2) fx:x? =4, xe N}
{x:x< 50y x€ N}

B) {x:x2+1=0, xe N) (4) {x:x is even prime}
s x 190 BT Sowg)

8.If AcB, then A-B=
AC Beond A=~ Baod?

(1) B 2 ¢ (3) A 4 B-A

9. The length of a rectangular dining hall is twice of its breadth. If x represents the breadth of
the hall and its area is 5 sq. units, then the polynomial equation which represents the
situation is

85 DEEdTEY KO FEp o0 DrepD DdoP. KO ey X WAL PTOHN 5 BEOY IR VORI P
Dby Rrdoe HIeEGeRN

(1) sx2-2=0 (2) 2x2-5=0 3) x2-25=0 @) None (D8 mo)

10. The sum of the zeros of the polynomial p(x) = x% +7x+10 s
plx)=x% +7x+ 10 By, 2ToSd W JegEe

1) 7 2) -7 (3) 10 @) -10

11. If p(x) =2x? +3x-5, then p2)=
plx) =2x?% + 3x — 5 waxd p2) Dess

(1) 2 (@) 9 3 ©° (4) -5

SPACE FOR ROUGH WORK / 285503 Suraoiedl Jens
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12. Which of the following is not a linear equation?
B2 (30D T36° [0 $OEre SRo¥mEN DI DA

(1) S+4x=y+3 (2) x+2y=y-x (3) 3—x.=y2+4 4 x+y=0

13. The solution set {x, y} of the system of equations x-2y=0 and 3x+4y=20is
x -2y = 0%0cks 3x +4y =20 o I 508 {x, y} =

1 24 2) 2} B 42 4 273

14, The two lines 3x+2y—80=0 and 4x+3y-110=0 are

Boss Bpeo 3x +2y— 80 = 0 5000k0 4x + 3y~ 110 = Oeis ardoin $Eedpes

(1) coincident lines (2) parallel lines
o085 Sgeo SS5rvett Speo
(3) intersecting lines (4) None
potss Smen 'é:_'f)-‘.': o atl

15. The perimeter of a rectangular plot is 32 m. If the length ! is increased by 2 m and
the breadth b is decreased by 1 m, the area of the plot remains the same. Then the values
of | and b are respectively

a¥ By VBUPEUY Potw Wefed 32 . o MY TR 2 . vod, ey bW 1 N, sfow o
Ewﬁmée O Bty BE CLEPBHOT SOIN0. wowd & e PEY 1 Hdan Inay b’ e DL

(1) 6m, 10m (2) 10m, 6m (3) 10m, 10m 4 6m, 6m
6, 10 & 105, 6 105, 102 6, 65

16. The solution of the equations **Y oand ¥ ¥-6is
Xy Xy

Xty _, X=Y_ g4
xy xy

R Y T
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17. The toots of —-—1— ——1—1 are
x+4 x-7 30
L——1=£‘ﬁ‘-’§b RaAFormS
x+4 x-7 30
(1) -1, 2 2 1,2 3 1,-2 4 -1, 2

18. If A is the solution set of x2 - Sx+6 =0 and B is the solution set of x ~+/3x -6 = 2, then
AnB=

x% - Sx+ 6 =0 Dol 5 K A $0n X — J3x —6 =2 Bosxy, J S Beows ANB =

(1} ¢ (@) A @) B @ {2

19. If o and B are the roots of ax? t+bx+e¢=0, then ad +[33 =
ax2+bx+c=0can§b:wowa,[3m Bowd o +B3=

3abc- b3 3abe - b3 b? - 3abe B2 - 3abe
e (@) =5 @ ——= )
a c a

(1)

20. The equation whose roots are obtained by adding 1 to those of 2x2 +3x+5=0is

252 +3x + 5 = 0 $hostes Sarow 253 SRES 51y Sepste RPCwr Ho B $RovsrEn

(1) 2x2-x-4=0 (2) 2x®+x-4=0 (3) 2x°-x+4=0 (4} Nonme () mx)

21. The number of numbers between 100 and 1000 which are divisible by 7 is

100 %002 1000 o Soggg 7 3 ﬁk;&:ﬁ' PAotnd wels Sogy

(1 7 (2) 128 (3) 132 (4) None (28 o)

22. The least value of n for which 1+2+2% +.-- (n terms) is greater than 1000 is
1+2+2% 4+ (n 5w 2ooSan 1000 5@ 25,55 dod RFo™ N Gk, K3 Toss

1) 7 2) 8 @ ¢ @) 10

SPACE FOR ROUGH WORK / Qo3 Serowoundd fusm
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23. If the roots of a(b— a)x2 + b{c—-@x+cla—-b) =0 are equal, then a, b, ¢ are in

alb-o 2 +b(c—ax+cla-b) = 0 &y, Fores TIFG00NE @, b, €O e & dowrase.
(1) AP (2) GP (3) HP (4) None
wo¥ @& e @ TG @B 08 o

24. If (g, 2) lies in II quadrant, then (-q, -2} lies in the which quadrant?
(@ 2) Doss Dos Fosas® doil (—a, — 2) Doty acd I

(1) I @ 1 @3) 11 @) v
15 s I Vs

25. The quadrilateral formed by the points A{O,-1), B(2 1), C(0, 3) and D(-2 1) taken in the
same order is

A0, - 1), B2 1), C(0, 3), D(-2, 1) 5% Brpaur e Stotizy ¥

(1) rectangle (2) parallelogram
8% BBUEBL NAPCBY BEUpEH

(3) square (4) rhombus
beaLa/rOEL) e Ndsnme

26, If P(3, 4) and Q(7, 7) are two points and PR = 10, where P, Qand R are collinear, then R =
P(3 4), Q(7, 7) 5s8ci» PR=10. P, Q, R oo $85ciren wows R =

(1) (10, 10) 2) (11, 11) (3) (11, 10) 4) (11, -10)

27.1f (-2 1), (1, 0) and (4, 3) are three consecutive vertices of a parallelogram, then the fourth

vertex is
(=2 1), (1, 0), (4, 3) Swos Ireoir o SEPOBY WHotinEo ok, TS HIED worverrsesss
1 &Y 2 049 3 ©o 4 &2

28. The slope of the line passing through (2, 3) and (4, 7) is
2 3), @ 7) Detopmias 5w Husdy T
S

1) 2 & = 3) 4 @) 1

SPACE FOR ROUGH WORK / Q%03 Serorcteds REBEY
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29. A joker’s cap is in the form of a right-circular cone whose base radius is 7 cm and height
is 24 cm. The area of the sheet required to make 10 such caps is

B WETEL egu eTonnd” a %0 5D Q) o T 7 Do, Sdan Xy 24 Beds. gruned
10 S%uh Boirts SAHER el ood vy SaY QwE, PTioge

(1) 550 cm? (2) 5500 cm? (3) 55000 cm? (4) None

550 afy. 2 5500 webs. 2 55000 0.5.2 D8 =ese

30. A right-circular cylinder has base radius 14 cm and height 21 cm. The curved surface area is

¥ [F0 YOI RoIsies ol 4 TR 14 oD 3o8ain 83 21 Dol weass DRy o

b &

(1) 1848 cm 2) 616 cm? (3) 3080 cm? (4) 12936 cm?

1848 wo.he.? 616 e.in.2 3080 o2 12936 o052

31. The volume of the sphere of radius 21 cm is
21 abo. ASTh o {80 ool $00 SERTes

(1) 5544 cm?3 (2) 38808 cm?3 (3) 1155 cm® (4} 8983 cm?
5544 7053 38808 o.hu.2 1155 o.2s, 3 8083 05,3
12 ’
32, fcosA="_"_, then sinA=
13
cosA = 1—2 eoakd sind =
13
5 5 12 13

0 53 @) 5 B 3 @ .

sin 30°+tan45°—cosec 6(°

a8 cot45°+cos 60°—sec 30°
i
(1) o 2) 1 (3) -1 {4) o
34. If tan2A =cot{A - 18°), where 2A is an acute angle, then A=
tan2A = cot(A — 18°) oo 2A el wans A DS
(1) o6° (2) 18° (3) 36° 4) 54°

SPACE FOR ROUGH WORK / Q85323 SeFonoNndd HoR
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POLYCET OLD QUESTION PAPER

35. If x =acosect and y= bcot6, then b2x? —a2y2 =

x =a cosecB, y= bcoth wond b2x2 —a2y2 =

2 2
(1) a?+b2 2) a2b> @) 228, (@) None (55 )
G =h"
36. tan30°, tan45°, tan60° are in
tan 30°, tan45°, tan 60° s 300 TWS° BIG® %09
(1) AP (2) GP (3) HP (4) None
ol @& e Bé oK B 08 woo-
37. cos* 8-sin? 0=
(1) 1-2sin? @ (2) 2sin? 0 (3) sec6 (4) cosecB

38. A boy observes the top of an electric pole at an angle of elevation of 60°, when the observation
point is 8 m away from the foot of the pole. Then the height of the pole is

2 ety 28 D8 Howio ettty o Mool 8 Dot EPEeS” Wk Dol Wwed S Bogin T TR 60°
&35 e300 50O, woadd & Fodn JBy?
(1) 63 m (2) 8/3m (3 103 m (4) 163 m

6V3 & 8J/3 & 103 & 16V3 &

39. Rajender observes a person standing on the ground from a helicopter at an angle of
depression 45°. If the helicopter flies at a height of 50 m from the ground, then the distance
of the person from Rajender is

28 rDg66° &%) odonb g Moy u¥ BdD 45° MWy’ SOV, PP Bood WdEE 50 Doy
88° Aot o, TBeSE, e BB JoB ErteE” ETE?
(1) 252 m (2) 5042 m B) 752 m (4) None

252 % 5042 25 7542 % 58 soss

40. From a ship masthead 150 ft high, the angle of depression of a boat is observed to be 45°.
Its distance from the ship is

150 wobos oy & &5 T8 P gTw0 Wod ¥ BESH 45° o JaSled® wrh TH Wod NEN® Ko

EIONTRD snsnavwins
= 150

(1) 150 ft 2) 75 ft (3) 1503 ft @) ft

J3
150 estéorises 75 edsies 1503 wiores 1/530 extiorse
v
SPACE FOR ROUGH WORK / 363353§ BFcoBnES ?{30“'}»
2016-S1/1-A 7 [ P.T.O.



POLYCET OLD QUESTION PAPER

41. A ladder of 19 m is leaning to a wall making an angle of 60° with the ground. The distance
from the foot of the wall to the foot of the ladder is

19 Boey e o Syato 60° SFrtad® Aexs Jabie od SEho wod K T o Srvhne?
(1) 18 m 2) 19m 3) 9m 4) 95 m
18 19 2 9:5 R

42. The probability of getting a head when a coin is tossed once is

28 TR 2EPO S I ey 5 RoEss

1 1

1) 0 @ 5 ® 5 @ 1

43. Rahim takes out all the hearts from a deck of 52 cards. The probability of picking
a diamond is

Siplo 28 ¥ NS el ImBaTEy ARy fo Sk SoloTd ikl ¥ Cond Tonge JgEW

o
1 1 1 1
Bl s @ . @ o

44. The probability of an impossible event is
OPFy PoeId G0l Bogrd =
1 1

(1) 0 (@) 5 (3) 3 4 1

48. The arithmetic mean of 12, 15, 13, 20, 25 is
12, 15, 13, 20, 25 o #he
1y 17 ) 20 @) 18 (4) None (28 s)

46. If 5 is added to each and every item of a data, then the arithmetic mean is

¥ $ToEand’ d) el CRu 5P Saulrr By 55 SOoRn G, Hie DK SO0 Gt Bk
(1) 5 times to the first arithmetic mean

5T
(2) increased by 5 to the first arithmetic mean

5 D5y
(3) equal to the first arithmetic mean

TAFRas
(4) None

3D e

SPACE FOR ROUGH WORK / Q83323 Seroaolnds 2
2016-S1/1-A 8



POLYCET OLD QUESTION PAPER

47. The median of 24, 20, 32 18 28, 16, 25 is

24, 20, 32, 18, 28, 16, 25 o S0 weeeerrnnrain

(1) 18 (2) 16 - (3) 24
48. The median of the following distribution is

B+ 3D éa;:f bl RIS nsasiivivissannsios

Class interval 09 | 10-19 | 20-29 | 30-39

BHS o8t 1 B

Frequency 10 16 24 29
(1) 2375 (2) 2325 (3) 25125

49, Forthedata 9,8 7, 7.6 3, 7.2, 1 7, 9, the mode is
9877637217 9 sSTown dol, rruiin
(1y 9 2 7 (3) 3

50. The modal class of the following distribution is

G 328 I...E?. Aok, R BUNG

Family size 1-3 3-5 5-7 7-9
evow $S008

Frequency 7 8 2 1
(1) 1-3 (2) 3-5 (3) 5-7
AD _ 3
51. In AABC, DE||BC and 6T If AC=5:6 cm, then AE =

AD 3

ABC ©gomisd’, DE]|BC;5;505:0E:_, AC=5-6woxs AE = ........

B / > | C

(1) 2 cm (2) 2'1 cm (3) 22 cm
2 ws.bo. 2:1 a2 2:2 o2,

4) 32

(4) None (28 swe)

@) 2

(4) Nomne (26 zw)

(4) 2'5 cm
2-5 wo.2o.

SPACE FOR ROUGH WORK [/ S8Ras Teroootndd

2016-51/1-A 9
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POLYCET OLD QUESTION PAPER

52. In a trapezium ABCD, AB||DC. E and F are peints on non-parallel sides AD and BC
respectively such that EF||AB. Then 03 -

o5 BSoso oty (Ehwase) ABCD & AB||DC. E %:dd%e F Rotdpes Stowm EF)|AB woibhes,
MiroBts B ores AD, BC o S0, woasd AE .,

ED
A B
E g .
D(
FC ED ]
1) = 2] == 4] None (28 =%
{1) BF (2] iE (4] ( )

53. Given that A ABC~ A DEF and their areas are 64 cm? and 121 cm? respectively.
If EF=15-4 cm, then BC=

A ABC~ A DEF 50050 T%3 Pomgyeo BGsm 64 35669 o, Sobabe 121 Wy hodd., gos
EF =154 20.5, wonn BC=

(1) 211 em 2] 211 cm 3] 121 em (4 112 cm

2-11 0.2 211 Teo.iw, 121 e 112 2elo,

54, If BL and CM are the medians of a triangle ABC right angled at A, then the value of

4(BL? + CM?) =

vou' (@goeiin ABC 6° 35sn A 5 vonfmon Sods. BL molale CM oo 826° Saggie Spes womd
4(BL? + CM?) =

(1) 3BC? (2] SBC? 3) 7BC? (4] BC?

55. If ABD is a triangle right angled at A and AC .l BD, then AC? =
ABD o (@, 50 A 9 woetienn o sontin Bgeses ook AC L BD waws AC? =

(1) BC-BD (2) BD-CD (3) BC-DC (4) AD-AB

SPACE FOR ROUGH WORK / Ji08dd Scronsinds Sonn

2016-51/1-A 10
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POLYCET OLD QUESTION PAPER
56. The number of pairs of parallel tangents to a circle is
&E HBIOVW fo G 2B HO0ew Sops

(1) 2 ) 4 R < D S {4) infinitely many
(esesion)

57. The length of the tangent to a circle with centre O and radius = 6 cm from a point P outside
the circle such that OP = 10 cm is

6 Ro.lb FATTI0 Mo HTE St Jopna O ed 10 ;acfi):e: cs:-c:»»ﬁ‘ o P o airy Qs med
s At Hute Jay

(1) 6 cm (2) 8 cm (3) 4 cm (4) Scm
6 ol 8 wo.bo. 4 o.bo. 5 o.fo,

58, If PAand PBare the lengths of tangents drawn from an external pomt Ptoa cm:le, then

&5 HTI0 Roolly, wrig Dot P ol fioo }335-.0339 "‘5;5_)00 Stowme .PA Woldin PR oo @0d® rwnserenen

(1) PA=zPB (2) PA'> PB 3) PA<FPB (4) PA=PB

§9. The area of the sector, whose radius is 7 cm with angle 60° is

7 wobe. :n'gfhgtm, ?ogﬁa Eeaar 60%0a o ?ogﬁ) FEVED svvisaanarens
(1) 5266 cm? Q) 2566 ecm? (3) 6256 cm? (4) 6562 cm?
5266 Do.ba. 2 2566 To.D».2 62:56 0.5, 2 6562 wo.8s.2

60. The number of circles passing through three collinear points.in a plane is

BDUPooT 3 Dosie Mod® Adbnd T BOFy, v

(1) 1 2 0 - : @ 9 4) 12

SPACE ‘FOR ROUGH, K WORK /124308 Serosotnds gunn

2016-S1/1-A 13 ' . [ PTO.
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POLYCET OLD QUESTION PAPER

SECTION—II : PHYSICS
61. Which among the following is an sxample for condensation?

2od IS ModEiens AN

{1) Water converting into ice (2) Wet cloths getting dried
RRE> BIOTAT WSO Bluges JAm edlio

(3} Water converting into vapour (4) Formation of dew
STV RS ) BoxTme Wskic

62. 127°C +400 K + x = 1000 K. The value of x is
127 °C +400 K + x = 1000 K. x o0 x e

(1) 200 K 2) 273 K (3) 473 K | 4} 800 K

63. Which among the following materials has specific heat more than that of ice?
o0 36" 01> Ky s DaRfge TOAD SOV

(1) Water (2) Glass {3) Merlcuxy | {4) Copper
b7 . ™y essite of

64. Which among the following is used by the dentists to see the image?
DO, S 33 o3b Gob 6 A0 Twow?

{1) Convez mirror - (2) Concave mirror
Bl Stheo . TS e

(3} Plane mirror (4) Convex lens
wheo Lhew oSl 550

65. If uand v be the object and imiage distances for a spherical mirror, then the magnification is
umuwwﬁ‘mmms&a@, EODen SrUw BT voxd oD Bt

(1} ujev - (2) vju (3) —u/fv 4 -v/u

SPACE FOR ROUGH WORK / Q80id% Surooededs posw

2016-S1/1-A 12
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66,

67,

68.

69.

POLYCET OLD QUESTION PAPER

The distance between the pole and focal point of a concave mirror is 15 cm. The radius of
curvature is

¥ PP Seo Y, S Hedabs e By EPTs 15 Re.da. sond o0 HEoe Typge

{I) 1'5 cm (2} 15 em (3) 30 em 4} 45 cm
18 Boad. . 15 e.io. ‘ 30 we.do, 45 0.
Read the following two statements and pick the comrect answer :

ol Dot TWE NAD HOORH S3rEe Nowssled:

(a) Real image can be captured on screen.

e 300, - m&a

(b} Virtual im_age can he captured on screen.

{1} Both (a) and (b} are true {2) Both (a) and (b) are false
(@) & (b} Toltr JOSPSD (a) & (b} Doty Hid

(3) Only (a) is true (4} Only (b) is frue
{a) Do POEIN (b) SrEds oIS

The filament of an electric bulb is usually made of

D wey S0k, YoBoolm i Metiie
(1) copper {2) germanium (3) steel {4) tungsten
oA o oy, wohgs

1 joule/1 coulomb is

185 [ 1 weroh wiom

(1} 1 ampere 2] 1 watt {3) 1 weber (4} 1 volt
1 esehanb 1 ey 1 3E 1 Jo

SPACE FOR ROUGH WORK / 2%:30% $umonobed e

16-81/1-A 13 [ P.T.O.
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POLYCET OLD QUESTION PAPER

70.- The drift velocity of electrons in copper wire is about
ok &i° Dugive B Sio

(1) 0-07 mm/s (2) 07 mm/s (3) 7 mm/s (4) 70 mm/s
007 .. f%. 0-7 2o, [%. 7 20.f%. 70 2o.o.f%.

71. Three resistors each of value 3 § are connected in parallel combination. Their equivale
resistance is

25953 3 Qo Joop fo Har KR SErctE SoFRe WRh, 8 $bB 0o

(1) 2@ 2 1Q (31 0.33Q 4 1.5Q
O fews . 1&a . 0-33 2o 1-5 Loeo

72. At constant temperature, the ratio of potential difference to current is not constant for t
following :

Bod w38° 2o 4y Bg, FaehE B W M EINie ApY Lo BB DAY

(1} iron : (2} copper

T e o

{3! Light Emitting Diode (LED) (4) alumininm
B8 doedoR BarE (LED) R

73. A bulb of resistance 200 0 is connected to a 10 V battery. The power consumption is
200 Q 26%0 30D Nial ey 10V rod? XB0, ed DDEPRoessd N I e

1 2w 2) 20W 3) 05 W (4) 005 W
2 Ses 20 mSeo 05 & 0-05 =5

74. Alemon kept in a glass of water appears to be bigger than its actual size, This is due to

¥ e e MIE® &ols Mamels BEATHe BOARLY FoathBel. S

(1) reflection (2] refraction
SoRgRo Slgsse

(3) total internal reflection [4) dispersion
SOYTTPOBY STHYIO _ b

SPACE FOR ROUGH WORK / %503 Serossoiberssd Fosseo
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POLYCET OLD QUESTION PAPER

75. If the critical angle is 45°, then the refractive index of the material is
45° ol Serom B0S 2% Soge oy, HESS et
(1) 0s 2) 0707 @) 1 @) 1414

76. If i and r be the angles of incidence and refraction respectively, when the light ray traveis
from glass to air, then

i 3000 7 oo 6880 B8dio. HEGSS Feoo HHS vl Poditne Mmer Kool MHE Sartledip
(1) i=r (2) i>r 3) i<r (4) None
I 5%
T7. Parexial rays
Fordond Soemes

(1} are perpendicular to the principal axis
mvagﬂ:)é LOLSIT SOLPON

(2) are very close to the principal axis
EFTFIS T SO SotPosd

{3) make an angle of 45° to the principal axis
BFEed 45° Smo Siros

(4) pass through the principal axis
Bravge Itele Saireiion

78. In which one among the following cases, the convex lens does not give a real image?

Bod O Soisted® Hogrms Yoo e (SODoWRD NHSSE?

{1) When the object is placed between the focal point and optic centre
g TR Bobcms £HE Sogto Doz doDBHED

{2) When the object is placed beyond the centre of curvature
VIS0 BES Too Lo LoD

{3) When the object is placed between the centre of curvature and focal point
SEEHO SETdogio Srdoin TP BRI Ao

(4) When the object is placed on the centre of curvature
SPe BEoHogio BY SeDSp

SPACE FOR ROUGH WORK / S8 Sirosodwds Feio

p016-S1/1-A 15 " | P.T.O.
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POLYCET OLD QUESTION PAPER

79. Irrespective of the position of the object on the principal axis, a concave lens gives an ime

of nature

SRIHO PBT Koo QA0Y, FEETHSP D P IS GoIF, e BDow HeFEEN

{1} reai, inverted (2} real, erected
Bodetonr, du Nig Doxpe, N

(3) virtual, inverted . (4) virtual, erected
Bodotioom, Do Qg Jooyr, Dl

80. If a convex lens has its object and image distances equal {say x}, the focal length is equal to
2 Boogrss Nestio 583 Sabotn FBon Srmes SuEss (x écm&), N TgEebo

1 x 2) x/2 8) 2/x (4) ©

81. Which part of the human eye helps the eye lens to change its focal length?
ol Gloot, D PIRI0s Hodd H¥ RSO ST RERE SEoiEtsecn?

(1) Retina (2] Pupil
(3) Ciliary muscle (4) Cornea
POard gotits GO

82. For any position of an object in front of the human -eye, the image distance is fixed a
mmmmb%:ggpbgm%:gmmmm@amm

(1} 1cm {2) 15 cm {3) 25 cm (4} 025 cm’
1 Do, 15 Zo.lo. 2:5 7ol 0:25 oo,

83. To correct one’s hypermetropia defect, the type of lens used is
Bgzph, B Soreis TS B

(1} biconvex (2) biconcave
Bgaeyresty By

(3} concavo-convex (4) plancconcave
HerEs Koo BSobe-Herss

SPACE FOR ROUGH WORK / Dawid8 Feraseteds Posa
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POLYCET OLD QUESTION PAPER

84. Read thc following two statements and pick the correct answer :

oD Tothr Ty HOD HEAWS HFFTRe Jotsod:

(a) Red colour light has low refractive index.
oo Fod dlol, HELSE foro B¥yd

(b) Red colour light undergoes low deviation.
SBPBey 570D Do), JDede BEyD

(1} Both (a) and (b) are true (2) Both (a) and (b) are false
() & (b) Dotr BSWTD (@) & (b) Bo&k> BEyS

(3) Only (a) is true (4} Only (b) is true
(@) SFER BRI (b) S $ODHG

85. Scattering of light involves the process of

FoS BIEHHHLNK PowePodS BED

(1) bending of light at the interface of two media
Botl cIFSTEs JoBcin Soc B $09Mo Belito

(2) splitting of light into different colours
Ted Do Bolbeam EFnsEe

(3) convergence of light rays at the focus
wod StrToo 39 5 SodEve THto

(4) re-emission of absorbed light

Freowis 5080 88A Fob wrto &cpte Saito

86. According to Faraday’s law, the induced EMF produced in a closed loop is equal to the

JEE datsioe (B, ¥ Hedhbes® Dt $85 dadTney metn 398 SEre?

(1} magnetic flux (2) change of magnetic flux
eahdct LHTRo M08 whimres® Sty

(3) rate of change of magnetic flux (4) cross-sectional area of the loop
wAIed wRIred” Bty G Shisory oo, SogsBi P

SPACE FOR ROUGH WORK /. 08108 Suroaoinds Hosw

116-S1/1-A 1% [ P.T.O.
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POLYCET OLD QUESTION PAPER

87. If Bis the magnetic flux density and A is the area of the plane, then the mapn tie o |
given by

B wciodred oo Fofsd Selain A buo G, PTusin wudd wabhdned whmuio
(1) AB (2) B/A (3 A/B () A%

88. A conductor is moving with a speed of 10 m/s perpendicular to the ditcction of mapnet!
field of induction 0-5 T. If the induced EMF is 5 V, then the length of the conducto in

0'5 T (003 Ko ecodod FER3 vowem 10 Do./>. S&E8° o5 Tirlo Miseoboiiysutiy Do (00 My," H
00D €3 TEFS0 Y
(1) 025 m (2) 001 m 3) 4m 4 1m

0-25 %o. 0-01 2. 4 . 1 .

89. A metal ting is inserted through the soft iron cylinder which is wounded with copper wirt
When DC is supplied between the ends of the coil, then

o

DiSotstio BROHBMES

2080 cand’ SoIPGIds o HPISEY AR O S ST, TR eF Sy Dofity winl), DEw

(1) the metal ring is levitated on the coil and stays there
&5 Bols 23 SO wiA doeod

(2) the metal ring is levitated and falls down immediately
&3 Sl 3 3D Toeid BoiBd 3ANB00d

(3) the metal ring rotates round the cylinder at the same position
& Bord &b Foob® Mo DouP StHmed

(4) None

D 5P

90. A charge g is moving with a velocity v in magnetic field of induction B. If the magnetic for
acting on charge q is equal to quB, then

B (505 o 0ahdned 3pes’, g SEamis, v MMoE Moadind. g B S0k wdhdot woe quB wund
(1) g is moving parallel to B
g moSH B % Sarosdor &
(2) g is moving perpendicular to B
g TO%S0 B 5 sonei™ 650
(3) g is moving at an angle of 45° to B
q maso B3 45° $%mcs® eiyd
(4) g is stationary
q oo E90

SPACE FOR ROUGH WORK / D%5%03 Serossotadd oo
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POLYCET OLD QUESTION PAPER

SECTION—III CHEMISTRY
91. The chemical formula of marble is

St row Bor Srtind P Gool, YR oo

(1) CaCO, (2) CalOH), 3] CaO (4) CaHCO;),

92. NaCl + AgNO; — AgCl ! +NaNO; is an example for

NaCl+ AgNO; — AgCl ! +NaNO; e D05 B8 &Tres?

(1) chemical combination (2) chemical decomposition
BROLN Ped@rm Graind a@rnkas

(3) displacement reaction (4) double displacement reaction
BPouss gosan OO Loty SBPI

93. Coating the iron metal surface with a thin layer of zinc to protect the rusting of iron is called

Fam0 BoNyBe0G TN HWPeD b e Yob HEOD Vo beoPiv?

(1) greasing (2) galvanizing
(o ﬁ’u_@ﬁﬁm

(3) tnning (4) electroplating
SR Jogthueh

94. xNa + yH,0 — 2NaOH +H,. In this balanced equation, the x, y values respectively are

x Na + yH0 — 2NaOH + H, wids Soog $2oE0easnd® X, Yy Dosses B0

(1) 1,1 2 2,1 (3 1,2 “4) 2,2

95. Which of the following solutions converts red litraus paper to blue?

T1 308 Erstmsed’ D0 Jp St ivtins DOTH BRt?

(1) Hal (@) HNOg (3) NaOH (4) None
DA o

SPACE FOR ROUGH WORK / DBy$d8 Scrcosobends Puise
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POLYCET OLD QUESTION PAPER
96. Which of the following salt solutions has pH greater than seven?
&1 (3B et [Eeaaes’ 90 pH oo Do €08 253 33 Bot00?

(1) CHZCOOH (2) NH4CI (3) NaCl (4) CHZCOONa

97. Match the following

&4 (320 T30 mBsted

(a) Caustic soda (i) NaHCO43
o35 For

(b) Baking soda (i) CaSOy-2H,0
#3ch P

) Gypsum (iii) CaSO4:3HL0
LT

(d) Plaster of Paris (iv) NaOH

236 &b 20

1 @ (b) (c) (@
(i) (i) @) (i)

2) (a) (b) (c) d)
(i) (iv) (i) (i)

@ () (b) © @
(iv) (i i) ()

4 (@ (b) (c) (d)
(iv) @ (id) (i)
98. HCl+H,0 - X +Cl™. The X may be
HCI +H,0 = X +C17 o $0Esesast X 08 wow &oiHinmo?
(1) HsO* (2) OH™ (3) HOCl (4) Hy0*

99. The maximum number of electrons accommodated in a subshell with azimuthal quar
number [ is

S8 e Sops [ T o E5Fons® RN eltfie JOFIRe SoRy
(1) 21+1 2) 4+2 @) Ii+Y 4) 41-1

‘SPACE FOR ROUGH WORK /D803 Suroasotetsd gese
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POLYCET OLD QUESTION PAPER

100. The four quantum numbers for valence electron of sodium atom are
PED0 WORPEIY oY, Doy SCFTHO T Joggw DU
(1) n=L1=0,m=0, s=1/2 ) n=2,I1=0,m=0, s=1/2

(3) n=3,1=0m=0,s=1/2 4) n=31=1, m=0,s=1/2

101. Degenerate orbitals have
Bw3 BTG’ [ oBain n Josen D JiHm doeron?

(1) same ! value and same n value
o3 1 Qoo %00 23 n Dewsd

(2) different [ value and same n value
Ttodns 1 Deod 80k o i Dewd

(3) same [ value and different n value
28 | Sood Sodoke Suidte n Swow

(4) same (n+1) value
o3 (n+ 1) Deod

102. Which pair of elements fits into same slot in Newlands’ table of elements?

Argrely Burore 3356° O mow Burerors o Sw Bor oF KES° wlegweon?

(1) F, Q (2) Co, Ni 3) Mg, Ca @) G, Si

103. As per the modern periodic law, the properties of the elements are periodic functions of their

SEOIE LT SALTIBN IS, Sarere ST 8D ciul, wnld Ehara?

(1) atomic weights (2) mass numbers
SURFew b Lﬁi;ﬁsoﬂ :50;35

(3) atomic numbers (4) wvalences
SO Sogy Dedw

104. Elements of which group are called halogens?
O I maremeny B Rtes e boon?

(1) VA 2) VIA {(3) VIA 4) IVA

SPACE FOR ROUGH WORK / %008 Terosootiendss oo

1016-8S1/1-A 21 . v [ PT.O.
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POLYCET OLD QUESTION PAPER
105. Which of the following elements has larger atomic size?
Ho 300 6 B8 el STEFew ey Goeld?

(1) Na (2) Mg (3) Ca 4y K

106. The correct order of electronegativity in the following elements is

%+ (308 BoreTC BRI mordSsymes o Da?

(1) F>Cl>0 (2) F>0>Cl 3) O>F>Cl 4) CI>F>0

107. The ionic bond forms easily between which groups of elements?

D Dot (P DT Koy oY wolie SEEW Sthtobeed?

(1) IA and VIIA (2) IIA and VA (3) IA and VA (4) IIA and VIA

108. Which of the following is a covalent compound?

e (§od TRiE' DO $Heredol Kdawsion?

(1) NaCl (2) NH, (3) MgCl, (4) LiF

109. The bond angle in BF; molecule is
BF, e’ wossionn

(1) 120° (2) 180° (3) 109°28° 4) 104°

110. The = bond is not found in

Ft 308 T8 BE° 1 wonn dctto?
(1) CgHg4 (2) Oy (3) Ny (4) Hy0

SPACE FOR ROUGH WORK / 2825303 SeFootnds e

2016-81/1-A 22
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111. The type of hybridization in CH4; molecule is
CH,; wenoips® 20f Sosdgmsn 569

(1) sp (2) sp? @) sp (4) sp3d

112. The ore Fe304 is called

Fe 04 8050 30 buodiin?

(1) magnetite (2) magnesite (3) haematite (4} pyrolusite
SHBS S T3S B

113. 2ZnS +305 —22Zn0+280,. This reaction is an example for

2ZnS + 30, = 2Zn0 +280, e g D2 aTErtics ©REosO?

(1) smelting (2) calcination (3) reduction (4) roasting
Proystews Houoatese 00

114, Which of the following processes is not suitable for refining of metals?

S+ 300 Bidoes® DO SFeino %G Sttt WESs #03 TE?

(1} Poling (2) Distillation
Foof Rrastt

(3) Electrolytic refining (4) Froth floatation
sy Ty 0 $55 (BB

115. Which of the following is a saturated hydrocarbon?
Bs 300 36" D Lol WIETOR?

(1) CgoH, (2) CpH, (3) CzHg (4) CoHg

SPACE FOR ROUGH WORK / %5508 Stromotndd Hese

‘016-S1/1-A 23 1 | PT.O.
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116. CH3—NH—CHj3 is known as
CH3—NH—CHjg 9 83 Bcotof's Bigde?

(1} primary amine {2) tertiary amine
(oo 38 58aid JawS

(3) secondary amine {4) quaternary ammonium salt
BBod Jmos TgEd wRmBaie Thetn

117. The IUPAC name of the compound CH3—CH=CH=CH, is
CH3;—CH=CH=CH, 7% $a3,g5%:3% [UPAC Toiw

(1} but-3-ene-1-yne {2} buta-1,2-diene
BreS-3-8+5-1-285 wrer-1,2-Goors

{3) buta-2,3-diene (4) buta diene
aFer-2,3 -2 LI BoUPD

118. Which of the following substituted products is not formed when methane reacts with
chlorine in sunlight?

WES AP, wooged® FoST vy 0wkt 8 500 T3E' D EIESS wagw Dinuen?

(1} Chloroform {2) Carbon tetrachloride
$TXE, 5.5 Sgrss

(3) Methylene chloride (4) Ethyl chloride
%0005 o8 536 508

119. The process of conversion of starch and sugar into ethano!l by using enzymes is called as

SOPSUR GRAIFARE Bed Wil IO STEH0EN PE oG BT $HSR NHooumE?

(1} fermentation {2) esterification
o35 B8 RIS

{3) carbonization {4) pyrolysis
5'5%%&3«5-:* :‘E 53135

120. The general formula of ester is

B N, o e
(1] R—O-R (2) R—CO—R (3) R—COOR (4) R—CHO

* % o®

SPACE FOR ROUGH WORK | Q8:303 StFocootemds Soia

2016-81/1-A 24 AA1BA(P)—37500%4
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POLYCET OLD QUESTION PAPER 2017/

IR LA

POLYCET-2017

Hall Ticket
Number

Time : 2 Hours

Q.B.SLNo. 254293 @

Signature of
the Candidate

Total Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

oD rmom Eoine® Swedy OMR e SEoed® Fawdd APONUT SRYT ooted

SECTION—I :

1.3+ 5 isa

(1} positive rational number

S wxotial o

{3} positive irrational number

5% ¥oehon Sops

2.fa+b=5 ab=6, then a® +b° =

at+b=5, ah=56 vand a’ +b° =

M 5 (2)

3. 2log3-3log2 =

(1) log0 (2)

4, ngz ]Dg25 5=

(1) 0 (2)
5. If a* ’L — k™, then — -
X

] 11
Mmoot — -

x y

(i} © (2)

o b

—

MATHEMATICS
(2} negative rational number
ey Ui Sops
(4) negative irrational number
woors ¥ucdon :.’:a:g
{3y 35 4 125
g
@ tog(3) 4) log(72)
@ -1 @ 2
. 2
@ m @ =
i

SPACE FOR ROUGH WORK /[ i3 Feramennd :ga?.’a;a

2017-81/1-A
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POLYCET OLD QUESTION PAPER

6.11A={,L234 56, B={4567 8, C={4, 5 6, then AnB=
A={,23 4% 5 6} B=#, 567 8, C:{4,5,6[e>o.:a:3Ar\B:

(1) A (2) B @3 C (4) None (58 =)

7. I A and B are subsets of a universal set |, then A nBC =
A, B oo o (Di) $Rod @, assdiseond, A B® =

1) A-B (2) AUB (3) ¢ 4) u

8. If n{4) =15, n{B) = 10, n{An B} =5, then n(AUB) =
n{A} = 15, n(B) = 10, n(AnB) = 5, ecd n(AU B) =

1) 5 2} 15 (3) 20 (4) 25

9. If o and B are the zeros of the polynomial p{x) = 3x2 - x—4, then off =
plx) = 3x? — x ~ 4 &% wuRd Gaol), B o, B oo, off =

1 4 4
{1) (2 3 (3) 3 (4) 3

|~

10. If pix}= s5x’ - 6x% +7x ~ 6, then the degree of p(x) is

plx= 5x7 —6x7 + 7x — 6, woxsd p(x) Qo STEPeN0

(1 ¢ () 1 3) 5 4 7

11. A factor of x3 —3x2 +x+1is

%3 =3x? 4 x + 1 oot 2Y TUCTORID

(1) x+1 2) 2x-1 31 2x+1 4 x-1
12, i 10 + 2 =4 and LI = -2, then
X+y x-Yy xX+y x-Yy
10 L 2 _ 4 sotemm B SEPUR, S
X+Yy X-y x+y x-y
(1} x=3, y=2 2) x=3 y=-2 {3 x=-3, y=2 4 x=-3 U= _4

—
SPACE FOR ROUGH WORK / Qw3 Jeroxclndd Jow»

2017-81/1-A 2
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13. The larger of two supplementary angles excceds the smaller by 18°. The angles are
Botiy Netd Frres’ IO LoD Soil 18° 3B e STerw :

(1) 80°, 100° (2) 81, 99° (3) 82°, 98° (4) 83°, 97°
2 3 4 9
1. If —+-.=2and — - — =-1, then
NEINET Vx f
2 4
+—~2w00:1x = -] cowd
NEIN Jx J@
(1} x=2 y=3 ) x=4,y=9 3) x=2,y=9 {4) x=4,y=23

15. The value of k for which the pair of equations 3x+4y+2 = 0 and 9x + 12y + k = O represent
coingident lines is

3x+4y+2 =00 9x + 12y + k = 0 3Soxteme w2 Dlei/Sede Spoto 3005, k Seon
(1) 2 (2) 3 3) 6 4 12

16. If 2% + 3¥ =17, 272 _3¥*1 _ 5 then
2% 43Y =17, 2% 2 391 - 5 wondd

1) x=3 y=2 (2} x=3 y=4 3) x=2 y=3 4) x=4,y=3

17. If the sum of the squares of the roots of x? + px-3=0is 10, then p=
x2 + px =3 = 0 @k, arore BUre o 10 wond p =

(1) +2 @) +3 (3) 5 4] £6

18. If one root of x2 - 8x +13 = 0 is 4 ++/3, then the other root is
~8x+13 =0 dlok 2X Sarelion 4 +4/3 vowd Berd Barese

(1) 2+43 2) 2-43 3} -4+3 4) 4-J3
19. If « and B are the roots of a guadratic equation x? — px+qg=0, then %+E =

o

o %8080 B es x? ~ px + g = 0 23 S SN Sarorond %+E=
o

2 2 2 2 .

-2 +2 - +
1y £ 4 2 £ <4 @ £ 4 () £ 29

q q q

SPACE FOR ROUGH WORK / 285508 Suwranoimd el
2017-8S1/1-A 3 [ P.T.O.
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20. The roots of the quadratic equation 252 22 x+1=0 are
2x2 -~ 27 x + 1= 0 5 dhastesbn Gl Sarew

1 1 1 1
1) V2, — (2) > 5 {3) i

% 4 V2, V2

o=

21. If the product of five numbers in GP is 1024, then the middle number is
10nEeE’s 5 Sope vyt 1024 wond TSR ol Bom

(1) 8 @) 4 3) 2 (4) None (98 w&0)

22. If the second term of a GP is 2 and the sum of infinite terms is 8, then the first terny is
MorEAST Dok Bt 2 Mdcin M) woB HFv JaobRes 8 wand Fd o, o B8

1) 8 (2} © 3) 4 (4) 3

23.lf a, b and e are in AP and also in GP, then
a, b 5obcin ¢ eo wesEcs Dob, meEdd o Totiysis..

(1) a=bzc 2) arb=c 3) azbzc @) a=b=c

24. The end points of a line are (2, 3), {4, 5. Then its slope is
2 3), (@ 5) ev BB Bob HoBorpuoil, & T G0E, T

{1) 4 (2) 3 (3) 2 (4} 1

25. The value of k for which the points (7, -2), (3 1}, (3 k} are collinear is
(7, -2), (5 1, (3 k) oo $Eowreand k Jaod

y 4 2 3 (3) 2 (4) None (24 mw)

26. The points A{7, 3}, B(6 1), C(& 2} and D{9, 4] taken in that order are the vertices of a
A7, 3), BI6 1), C(8 2) S0 D(9, 4) ¢d Bsses’ %q;wﬁ‘ HUNSER

(1) square (2) rhombus (3] parallelogram {4) trapezium
pultleliat) S0 wistgwe SRroBY woslnme SRowsey HBcBoye

—

il

SPACE FOR ROUGH WORK / Dtgdd3 fircssotndd Joses

2017-S1/1-A _ 4
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27. The points ol triscclion of the line segment joining (2, -2, (-7, 4) are
(2 {7 4) vl b Sgrpedic OFEtes Dododze

(M (.o (42 2 102 & L0F4-20 @ (10,#2

28. The points which divide the line segment joining A(-2, 2}and B2, 8) into four equal parts are
Al 2 2), B2, 8) oo 300 Seppotitasiy Mol NhogPesT Do Dot

v (2 esl) @ (1-e-ao2)

@ (11} os, [1. 1—23-] @ (27 0-5 (1))

29, If a cylinder and cone have bases of equal radii and are equal heights, then the ratio of their
volumes is

Y SPHH Sl SoliPe LrTErTe BErHe Bddin THe Jfoms BEThe. od T Jossdhrere IS

(1y 1:3 2 2:3 3 3:1 4 2:2

30. If the curved surface area of a cone is 4070 cm? and its diameter is 70 cr, then its slant
height is

£ Yol ok, $ESe ITee 4070 1.0l BoBok TR Tgke 70 Lo, woad T Tuarue OF
(1} 27 em (2) 37 em (3) 47 em 4) 57 cm
27 wo.ak. 37 e, 47 Ze.do. 57 o,

31. Under the usual notations, the total surface area of a cuboid is

Fon soived’ o A5 Whh LoFryte pEumED

(1) b+bh+Hh 2) w (3) 2(b+bh+h) (4) None (926 o)
32, If secH + tanB = 3, then cosf =

sech + tan® = 3 escosd cosb =

3 3 2 2
1y = 2y = 3) = 4y =
(1) 2 (2) s 3 {4)

SPACE FOR ROUGH WORK / Jigiud Sercocebeds gobes
2017-81/1-A S [ P.T.O.
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33.1n AABC, if BC =3, CA=4, AB=35, then cos<£BAC=
AABC & BC=3, CA=4, AB=5 wcxd cos £BAC =

. 3 3 4 5
Iy = 2 = 3} = 4y =2
(1) = (2) 2 (3) z (%) 3
34. sin® A+cos® A+ 3sin? Acos? A =
(1 1 2 -1 (3) 0 (4) None (28 =)
35. sin” 307, sin“? 45° and sin? 60° are in
sin” 307, sin? 45° wiaiw sin® 60° w & g,
{1) AP {2) GP (3) HP (4) AGP
36. If sinb-cos@ = l, then 8 =
2
sinB.cosfl = l wons B =
2
i o° (2) 30° (3} 45° i+ 60°
37. If tanf = é. then the value of }LDSB =
4 1+cosB
tanh = 3 o 1-cos® Tesy =
4 1+cosd
1 1
1) © 2y = 3 4 4) =
{1) (2) 5 {3) {4 3
C . A+ B
38. If A, B and C are interior angles of a triangle ABC, then tan =
A, B, C = AABC & vonstherw, woud tan(AJrB) =
. {C (o) ch C
1] sin|= 2} rcos| = 3) tan|-= 4) cotj—
s 2] @ cos(Z) @ (3] @ corf )

39. If a 6 m height pole casts a shadow 2/3 m long on the ground, then the sun’s angle of
clevation is

6 2. 28 He oo o, D& 8P 2D 243 Loam dob. wonid Bplad EuY), &Sm0

(1) 60° 2) 45° 3 30° @) 90°

SPACE FOR ROUGH WORK / 80323 fiFosscdodd $ow

2017-81/1-A 6
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40, An iron spherical ball of volume 232848 cm® has been melted and converted intc a cone with
vertical angle of 120°. Then the height of the cone is

232848 cm® % BoEPeee Ny BTy siosecdd 0o, 120° Bflaem Mo ¥olbpm Sronk. « $o%iD
o
(1) 4243 cm 2) 42 cm 3 21 cm (4} None

423 2ol 42 el 21 e, D& e

41. From a point 30 m from the foot of a tower, the angle of elevation of the top is 30°. Then the
height of the tower is

R0 o Wod 30 m BRSes’ Ke Doy Buod fSyY Wdo & Fro 30°. woxh Migtio N

{1} 10 m (2) 103 m (3) 15m 4) 19 m
10 S, 1043 2o, 15 L. 19 2a.

42. Under the usual notations in probability, P(E)+ P(E) =
Beprin 6 e soiced PE)+ P(E) =

(H 0 (2) -;— 3y 1 {4) None (28 m&o)

43. Two dice are thrown at the same time. What is the probability that the sum of the two
numbers appearing on the top of the dice is 8?7

Tows RZer wEPD HFPoWndi. WPIFOD V0T Toks Hopw AP0 8 TIHeD fiv Dogi® Jod?

31 ] 8

B (2) 36 (3) 36

4 1

44, A box contains 5 red marbles, 8 white marbles and 4 green marbles. One marble is taken out
of the box at random. The probability that the marble taken out will be white is
o5 2P 5 oY, B Tooky Widw 4 BH0 Sod Mo Freond. 3R wod dabeds oF K Bwy Sob
el Mo SogPlids '

S 8 4 8

1) — 2) — 3) — 4) =

n @ - ® - “ 3

45. The mean of ¢+, a+3, a+4 and ¢+ 8 is
a+1, a+ 3, o+4 580 a+ 8 e miee
1] a+7 2) a+4 (3) a-3 (4) None (D& )
SPACE FOR ROUGH WORK /[ aa_.;;::;:ué Feroaoieds ga:}ﬁ:o ’
2017-81/1-A 7 [ P.T.O.
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46. The mean of n observatior»S X1> X2, " Xn repeated fi, fg, ', fa times respectively is

Xy, Xog " Xn ek yi $ORTHD f1-f2: = fn -5‘5;2 ol Sunsst Wﬁ@. & 585esse e

" faSixi .
Ei 1% ) 22?1 . (3) %_ (4) None (06 )
Er ].fl -=1fl 21'=1fl'

&47. The sum of lower limit of median class and upper limit of modal class is

Sotgghs BRSO G, BISH O Fo0CHbs WEREE BERS G, TED IPCn Baogas

Class Interval 20-30 | 30-40 | 40-50

SHND odlaia

Frequency
Db

{1} 60 @) 40 (3) 90

5060 60-70

I

(4) 50

48. A data has 13 observations arranged in descending order. Which observation represents the
median of the data?
soremang'™ 13 SOYemeT? Wt ol whpnsd TS NP vewin Doy mGRS Swsm
Aovaisaet?

(1} 17th @ o @ 7th (4) None (94 s)

49, Cumulative frequency js used to calculate

B dah Tast B 331,05995" Ho0b %wbﬁﬂm TEE D
{1) median (2) mode (3) mean @) None

WG e S NE s

50. Under the usual notations the formula for calculating mode for grouped frequency
distribution is
Snirs Scarod sy TR IFERS Soolfy, o SRS Ao

{_h-fo }xh (2) 1+(_f1;fh_] h

w bfrfmfz F-fo-Tz)
fi—fo ] @) 1+(_&] "

ot [Zﬁ fo- 2fi-Fo-J2)

g

SpaCE FOR ROUGH WORK / 3303 Jimowctuds geie

2017-S1/1-A 8
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5%, In the given figure, LM || AB, AL=x-3, AC=2x, BM = x-2and BC=2x+ 3. Then the value
of xis

oo swwed® LM || AB, AL = x -3, AC=2x, BM = x -2 %8d» BC=2x + 3,009 x Dewd

B
M
C A
L
(7 i2) 8
31 9 {4) Cannot be determined
SR s
. . . . AQ _CO
B52. The diagonals of a quadrilateral ABCD intersect each other at a point Q such that B0 = 0
Then the quadrilateral ABCD is
ABCD st Gootl, 5ge0 10 5 Ste sodatiotoons %g = % o o5 Sy ABCD o8
(1} trapezium {2) square (3) rectangle (4) parallelogram
Moo HEiyEs wihos o Bgneatgse BEPBL Wigotanwo

53. In the given figure, if AB || CD|| EF, given that AB=7-5 cm, DC=y cm, EF=4-5 em,
BC = x cm, then the value of x is

o0 deed® AB || CD{| EF $0ai» AB=7-5cm, DC=ycm, EF =4-5 cm, BC= x cm woxs x

el
A
F
75 cm a o
o)
45 cm
yeom
B E
D
1y 4 20 5 3 6 (4) None (D& i)
SPACE FOR ROUGH WORK / 0&33:5;§ Tromeneds .‘\:“:o‘.b.u
2017-S1/1-A g [ P.T.O.
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54, The diagonals of a trapezium ABCD with AB || DC, intersect each other at the point O, If
AB=2CD, then the ratio of areas of triangles AOB and COD is

ABCD =5 Siwwon UOolgme wobdin AB|| DC gy D@tpe? Smeo JoGbo 0 w8 podotniacy
AB=2CD uoxd AOB S:8cty COD (842 dwvero Nigd

D C

Ny

(1) 4:1 2 1:4 3) 3:4 4 4:3

55. In an equilateral triangle ABC, D is a point on side BCsuch that BD = %BC. Then 9AD? =

ABC &8 Haoriro ¢keies. BD = %BC udsa'sugﬁ‘ BC gpeo D ok Doty wowd 9AD? =

(1) SAB? 2) 7AB? (3) 11AB% (4) ABZ

56. A tangent PQ at a point P of circle of radius 5 cm meets a line through the centre O at the
point @ such that OQ = 12 cm, then length of PQ is
5 To.a. Do 1S TR P oid Doty 5 PO puRe. gtewe (O mied Q wo 30D O ity Q
B Seoiped Wdein 00 = 12cm wonid PQ >&9

{1} 12 em 2} .13 cm (3) 85 cm (4) 119 cm
12 To.s0. 13 0.5, 85 wo.b. N1 he.do.

57. If TP and TQ are two tangents to a circle with centre O go that ZP0OQ = 110°, then £PTQ is
equal fo

‘O pgtorer e pared TP wsddian TO e Dot Xudpes wias LPOQ = 110° vod LPTQ =

(1) 60° (2) 70° (3) 80° 4) 9o°

SPACE FOR ROUGH WORK / DWudd8 Serossotedss $onwo

2017-81/1-A 10
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58, What is the area of the shaded region in the figure? In which two circles with centres Aand B
touch each other at the point C, if AC=8 ¢cm and AB= 3 cm, is

Bod Beod® A, B Iogesm e D (7 Dol B BUHUo B HRotoowrow. AC=8 cm, AB=3 cm
wond Rbod Kgosads E&¥e DPefn JoB?

(1) 247 cm? (2) 391 em? 3) 1lmem? 4) Sncm?

247 wabe.? 307 we.do.? 1in 2o.2s.2 5m wo.hs. 2

59, If all the sides of a parallelogram touch a circle, then the parallelogram is
SRS Votigeo B, 6l HeT X P SRBP Yol & BIroSs BERHe a5

i1} a square (2) a rhombus (3] a rectangle (4) Nomne
Sl ¥ MSobotyme e BEugatiso 0& s

60. PQ is chord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q intersect at a
peint T. Then the length of TP is

5 oo, e fo o Yo Gu ePQ S, My 8 oo, P, Q Doogw BE 9T Adbwdd
Sdpes T Doty i sodototod TP ook, S

10 25 20 ' 16

1) = 2y — cm 3) = 4y =

M 12 em e % @ 2 em @ 2 om
10 -0 5, 25 - B, 20 5., 16 o b,
3 3 3 3

SPACE FOR ROUGH WORK /[ J%sad Burosnonnds geos

2017-S1/1-A | 11 [ P.T.O.
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SECTION--II : PHYSICS

61. Which among the following substances has the highest specific heat?
308 TE® e HEdse ORD SRR

(1) Kerosene oil (2) Mercury
1) PnTE

{3) Walter (47 Copper
et) 3E

62. The value of a temperature of -25 °C in Kelvin =scale is
30 oo’ 25 ° C &3e Deow
(1) 248 K (2) 25 K 3y 273 K (4] 298 K

63. Evaporation of liquid takes place at the
SRl griytite tooky Huna

{1) bottom (2) middle
5o wikle B e wogd’
(3) surface (4) edges only
oo andBes Do (e GOTMIBNG TIER

64, The angle of incidence of a light ray on a plane surface is 30°. The angle of reflection is
X SGaboeh Todltm 3338 me 30° eowd SoNESina
1y =30 2} <30 3) >3 (4) =90 slways
(P issr)
65. The nature of the image forned by a concave mirtor when the object is placed between mirror
and focus is

DDGEN HEFT St Wby PH D000 S0 WG GolSD Sy Bolow Huro

(1} real, inverted (2) real, erected
Dz, BeFodosom _ Bz, DL

(3) wirtual, inverted (4} wirtual, erected
iy, Bodelowor Q0GR TenLITE

66, The radius of curvature of a concave mirror is 50 cm. Its focal length is
W3 PP Sipee G, DT Trge 50 2o, wond TU TEReBuin
(1} 5 cm (2} 25 cm (3) 50 em {4) 100 cm
5 om0, 25 oo, 50 wo.lo. 100 =a.lo.

SPACE FOR ROUGH WORK [/ 253508 Jerowoibndd st
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67. Watclnnaker ives _ to repair.

N i P £, £
o Ikt htdorony Ohta Satoes® ERAMIERLRE

{1) tnnvex mirror (2) concave mirror
LIl SO0 BRI S0
(3} concave lens {4) convex lens
LT Neko B0 Bvo
68. The pgruph between potential difference {X-axis) and current (Y-axis) for an iron spoke at

cons{ant lemperature gives a
w G %o o8 gesdl od FRpand o (X-wpeh) Solaie uad wanke (Yeter) S its @
e
{1) straight line parallel to X-axis
Xesgiod Shrolien Koy
{2) straight line parallel to Y-axis
Vo8 Baretton Susdn
{3) straight line passing through the origin
Bereliziog el S 2oy
(4) curved line
o

69. Resistance of a material depends on its

28 e oy, DEod Je BUD wEREBon?

(1) temperature {2} length
afirs =)

[3) cross-sectional area (4) Al of the above
WG P ey

70

-

If a charge g is moving against an electric force &, through a distance d between the
terminals of a battery, then the EMF is

g Doy F, 250 w003 %08%0m owd e Yo d SUe 580%, i Sunel pedw

Fed 4) Feq

Fe 3)

1) F.d Q) &
(1) q 2) ad . q

SPACE FOR ROUGH WORK / D508 Sruwctinds gutie

2017-81/1-A 13 [ P.T.O.
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71. Two resistors of values x and x /2 are connected in paraliel combination. Their effective
resistance is

X Balain X /2 dusHes SORS Dok NEes BEronl Sogte Suth. eipts 998 H8%o
3 3x 2

@ - @ 5 (4) %

{1}

Wik

72. An electric bulb is marked 40 W and 120 V. It means that in one second it converts
¥ D2ob wopp 40 Wiedao 120 V o @ 400, wire of WEd® el Srinnd
(1) 120 J of electric energy intc heat or light
120 J deab¥dd &g Tor sedm
(2) 40 J of electric energy into heat or light
40 J Sl ége B Todm
{3) 160 J of electric energy into heat or light
160 J 25,540 &g Tor Todm
{4) 3 J of electric energy into heat ar light
3 J RN &g So medm

73. The quantity which has SI unit as coulomb is
rerefiy Sl Earoer 50A0 POX 09
(1} electric current (2Y electric capacitance
26 TRo Neiogh BPLS,
(3) electric charge (4) electric potential
2-.’.’;355 eidde 55355 bﬁgdbg

74. The refractive index of a material is 2, then the critical angle is
BY SO Gl HEETD HrEin 2 sand o 3e0E'ne

{1) sin ') (2) sin_l[%] 3) sin"!(2) (%) sin*l{%]

‘75. The total internal reflection in diamond makes it shine, because the critical angle of diamond
is

RHORITOHS IPVYDO Wy Vo BER00. I BRoS' SodiE e

(1) wvery low {2) very high
e BEaH D D

{3) exactly 45° {4} None
SO 45° 2D =y

SPACE FOR ROUGH WORK ; D303 Serowoiinds BN
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76. When a light ray travels from rarer medium to denser, it
&l Tad Aome DOTCATHES Wed Jroid wirnTod oircdelupiti: eb

(1) bends away from the normal
wone Wad Sriom Sordied

(2} bends towards the normal
ome DT Dofbdood

{3) goes along a straight line
Soeyr Brged” Bariited

(4} moves in a parabolic path
BoHEAh Kges” Halreies

77. Pick the correct answer from the following two statements :
208 Boks TERed OGS BaTEYEe Jousslod :
(a) Focal length of a lens depends on the surrounding medium.
Yeoo Gol, TEREBLRIr DON0 UM P OBGEIBR

(b) Focal length of a lens changes with the object distance.
Kwalic Gl TErEBUan WEreD pd WRtBed

{1} Both (a) and (b) are true {2) Both {a) and (b) are false
(@), {b) Toum IO (a}, {b) Doks BEyd

(3) Only (g) is true {4] Only (b) is true
(a) wopde Deidm {b) BrEds Swss

78. The size of the image formed by a convex lens is same as that of the object when the object is
placed

SHHD D Too B LoUIHE ol DOPTY Swic By SEETTEIL SErNe woxd PBolen HORIeTY) TR0b?
{1} at the centre of curvature
BlEor Sogie DY
(2) between the centre of curvature and focus
SES 3ol hE Bl
(3) beyond the centre of curvature
SEor Sorld eibe

(4) between focus and optic centre
TP Sebain &8 Joipnd el

SPACE FOR ROUGH WORK ;/ D5:s08 Supoasetnds Feidas
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79. The lens which is thin at the middle on both sides and thicker at the edges is
ot B BICHOT, S0¢5,6° estioress dols Swse

{1} bi-convex (2] concavo-convex
Dy-Seorrl WP -SoegTd

(3) plano-concave (4) bi-concave
HReSu- el G- 3™

80. I 40 cm cach is the ohject and image distance respectively for a convex lens, then the focal

length is

CX Moo Nuls G%, B, BONen Aroes 1SR 40 Dol wond o TEneblio

(1) 80 cm (2) 40 cm (3) 20 cm {4) 25 cm
80 el 40 o.0. 20 ue.do. 25 we.Do.

81. The function of the ‘rods’ of the retina is to

DA Goty Women’ Doy B3

{1) adjust focal length of the eye-lens
Hodk Stalo Mk, TETEGTD SUNS Bake

{2) enable pupil to expand or contract to receive light
o3 55, et St Lo

(3) identify the intensity of light
e SESEy et

(4) identify the colour of light
g Uolone elonio

82. The maximum and minimum focal lengths of the eye-lens respectivcly are

¥od Bwic G, NOH wa0oisr S0R TEPRBTe0 WE

(1) 2cm, 1 cm 2) 25 cm, 1-5 cm

2 2e.bo., 1 Dol 2-5 »e.20., 1-5 wo.do.
(3} 2'5 em, 2-27 em (4) 25 cm, 2:27 cm

25 o.ta., 227 o, 25 Te.be., 227 To.lo.

83. A doctor advised to use 4 D lens. The focal length of the lens is
25 THB 4-D el S0 Lol g, © NS TRed00
(1) 25 c¢m (2) 400 c¢m (3) 4 cm (4) 40 cm .
25 0.0 400 %o.00. 4 0.0 40 .8,

SPACE FOR ROUGH WORK / Duidd3 Seronolndd Hein
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84. With an increase in angle of incidence of light ray on a prism, the angle of deviation
2 oSy Toddte dng, S8 Pre BEA 8, o duew o

{1] remains constant
Do Gowdcd

{(2) first increases and then decreases
waoebo BUA w Bibdeod

{3) first decreases and then increases
Dacts B, Wl DTSon

{4) first increases and then remaing constant
Baoela RO, wR PO GoeseDd

85. The scientific work of C. V. Raman is on
C. V. omal soofind
(1} dispersion of light
Tad DEee
(2] total internal reflection of light
Tod BoRITeRY SoRtho
(3) defection of vision
Sy

(4} scattering of light

Tod $CEsn0

86. Which among the following is responsible for an induced current in the coil?
Byt (h0B dESE TUme waosd

(1} Presence of galvanometer in the coil
Sty ey ety 38R sctie

(2) Presence of magnetic flux in the coil
6.‘1:»;36‘ SURI0E VBTre Gotte

(3} Change ol magnetic flux through the coil
Ssags’® eadmen wimuretty Sty

(4} Using coil of large area of cross-section
Sy Sofidns BT TN SNtoeits &XArRoton

SPACE FOR ROUGH WORK / Quyiad Sroscobiuds gule
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B7. A particle of charge g and mass m is moving with a speed v perpendicuiar to the magnetic
field of induction B The radius of the circular path moving by the particle is
MR, g MWeTie BSOS oF ¥mo B Run HDAS wdbi ol oW cen G Mswlohl. © ;e
Boinclens MHTPY APGe Gk, R

mul3 rug mB iy

(2) (3 — (4)

{1) .
q B vy Bg

88. A coil has 200 turns. If an increase in magnetic flux through one turn of coil is 0-001 Wb in
0-1 sec, then the maximum induced EMF in the coil is
X Siiteis 200 Tooy E5D. ®S Doty om 011 PEWm o echIyed chTired’ Bickds 0-001 woxd

-

B (900 SCondTmol woin

(1) 02V 2) 2V (3) 20V (4) 20000 V

89. A metal ring is inserted through the soft iron cylinder which is wounded with copper wire.
When AC is supplied between the ends of the coil, then

ol ke BACLEND of Sl Ol R 308 Sy Sorul wNBwh. e Dy JiSedy Nseebd
LS Pistod ¥Ld
(1} the metal ring is levitated on the coil

distiog Dowd ENmiglert 5% Jud® SLuiriatuod

(2) the metal ring is levitated and falls down immediately
Shrplornd 579 Mot B, Dowid oty 253800

(3) the metal ring rotates round the cylinder without levitation
Erploin Tomem Nt WITTY Hoes” Sbiieed

(4) None
ERRE- N

00. ‘tesla’ is the SI unit for

8 O3 S BErmza?

(1} magnetic flux {2) magnetic flux density
im0l uido ot Gl ol

{3} magnetic pole strength (4} induced EMF
oMot st 206 Stndomer wetn

SPACE FOR ROUGH WORK / 285503 Tepoaotedd F&oa2
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SECTION—III : CHEMISTRY

91. Match the following :
s 3D T adited

{b} NaCl{s] + AgNO3(aq} - AgCl(S] + NaNO;HaQ)
[C] CaCO3(S) —F Caots] + COZ(g)

0 (& () (c) (c)
(31) (iv) {i) {1
(2)  (a) {b) (c} {d)
{iv) (iit) (i) (i)
B (a} {b) (c} {d)
(11) (iv) fif) ()
(4] f(a) (b} () {d)

(iii) (i) {iv] {if)

92. Stainless steel is an alloy of
oSES 56 @o, Somme Shbes
(1}
3)

Fe+ Cr+ Ni+ C

Fe + Mn + C + Cu

(2}

(4}

(1) Decompaosition reaction
Barcing DA

(1)) Combination reaction
Gdrdish BedizNo

{iif) Displacement reaction

GRS SgicEe

Double displacement reaction

Gorching Hoedl SAFNa

()

Fe + Cu + Ni + Zn
Fe + C+ Pb + Mn

93. Which enzyme in apples, pears and banana fruits can change its colour with oxygen on cut

surface of fruits?

hf weicy eodtols Shn BhoTn e’ Sci B

SrEND
(1) Zymase
g0k

{3) Polyphencl oxidase

SofRe el DOl T EaCouae Gy, doiuie

[2) Polyphenol
PONTE

(4) Maltase
SPEE

SPACE FOR ROUGH WORK /
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POLYCET OLD QUESTION PAPER

94. Fe,05 + Al = Al5;G3 + 2Fe. In this reaction, which statement is correct?
Fe,03 + Al & Al 303 + 2Fe wmo 90;8° 00 508 $urgmns:?

(1) Fe,O, is oxidized. (2} Al is reduced.

Fe 505 esdystirin 30858 Al Fan¥teian D800
(3) Al is oxidized. (4} Fe is reduced.

Al esdysteion Dolnd Fe ¥oia¥testn Todid

95. The number of moles of HCI can react with one mole of sodium carbonate is

o 278 Rctodn TERSES wuotiie HCL Sy, 376 Soa;

1

(1) 1 2) 3 (3) 2 (4) 5
96. The base used in scda-acid fire extinguishers is

> 50 eNEIRE chemred’ S3ArheS g 5y

(1) Na,COy (2) NaHCO, {3) NaOH (4) NayO
97, The pH of milk of magnesia is

06y, wp WADAT [Edetor Casky, pH Saods

{1y 7-8 2y 6-7 (3) 10-11 (4) 4-5
98. Which of the following salt solutions is basic in nature?

G 3ol TG D el (CRHENNE IO Sgiio dowiod?

(1) NaCl (2) NH,Cl (3) Na,CO4 {4) KCl

99. Bohr's model explains the line spectra of

B2 Tpr Shserd, 0% SO Wearr 2e850iea?

(1) H” ion (2) H atom
HY waie H soarasy

{3) He atom (4) Lit ion
He subioresy LiT edir

SPACE FOR ROUGH WORK / &8ga03 Teromeunds Bty
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100. Which electromagnetic waves are sensitive to our eyes?
D Sesoghs ecbimolt BicTree Do ¥ouid ¥budon?

{1} X-rays (2} Ultraviclet rays
X-35ereas wobesine dveras
(3) Visible rays (4} Microwaves
ST S Sera 25 e

101. The number of possible orbitals in a sub-shell with the angular momentum guantum
number () is

Seliotn> RN Totiie Sopg (1) e é;’:-@:o»é‘ Sotite ednrbe Somg

() 1+1 (2} 2+1 (3) 2@1+1) 4 Oton-1

102. The atomic weight of a bivalent element is 9. The equivalent weight of the same element is

Job) Bomar Mo HaroNsw cla¥ SUSTR PR 0 ocdd @ Saroltn Go¥, BTEY UL 0B

&ownohi?

(1) 18 ‘ (2) 135 (3} 45 4 3

103. 4 elements are called
4 f Seromens wned bosPto?

(1) lanthanides {2) actinides
cognbien widbes

(3} noble elements (4) transitonal elements
2l BaroTEes BN SareTed

104. The valency of aluminium in Al,O5 with respect to oxygen is
Aly0; 6 wied SU8T saR@aiahe Gusl), Do

1y 2 2y 3 3) 1 4 15

105. Which of the following ions is larger in size?
B 2ol 3G O el efl P souwod?

(1) Na~ @) Mgt @ a’r (4) H'

SPACE FOR ROUGH WORK / D85%08% Sipomebeds P
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106. The correct ionization energy order in the following sets of elements is
B+ (o0 TOE® pDTANS £ BaPoTols LabONe P P

(1) C>0>N 2) N>O>C (3) O>N=C 4 N>C>0

107. The formula of the compound formed by A3" and B?" is
A3+ 500009 B2 wamse 35 Dol Shuponn @y, Mo

(1) AgBq 2] AqB; (3) AB (1) AyB

108. The ratio of coordination number of Na? and CI” in face-centred cubic lattice crystal of
NaCl is

NaCl soopdopst syl movins’ Nat w0din C17 s il Shaoh Sope I3

(1) 6:6 2) 6:1 B3) 1:6 [4) 3:4

109. The numbers of bond pairs of electrons and one pair of electrons in O, molecule
respectively are

Oy vm@é{ &od At pel SoFioe sowes Bx0dD Lobl JuFis oo Sopy SHNT

1y 2,2 2y 2,1 (3) 4,2 (4) 2,4

110. Which of the following molecules has highest bond dissociation energy?
Se (300 TS D eeniDHI wolIRAN W3 Dy

(1) F—F @ c—a (3) Br—Br (4) 1—I

111. The numbers of hybrid orbitals and atomic orbitals invelved in BF5 respectively are
BF3 6 &% 3o wlprd Sopy So0cuix $onmms wlprbe Sop; BHsm
1) 2,2 @) 4,4 @ 3,1 (4) 3,3

112. Which of the following metals has lowest reactivity?
T (300 s’ 02 Bonlol O BRST dotiol?

(1) Na @ Al (3) Au 4) Cu

SPACE FOR ROUGH WORK / Q@58 BaraveTads PO
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114.

115.

116.

{1) gangue
eoh

(3) mineral
oeaa

Blast furnace is mainly suitable for
TR FONL BN BopEaT SSAPATEL?

(1) smelting
SREDSE

{3} calcination

PosyitEsH

2-methylpropane is also called as
2-2:38 (ot Db'E DEhwm D Heodlti?

{1) iso-propane
Eo B o)

(3) n-propane
n-@e

POLYCET OLD QUESTION PAPER

113. The fusible product formed when the impurity present in ore reacts with flux is called as
FREIRE Solvres ERTOS 1Y Rl Dhds (55 SUENIN0 Wisoero?

(2}

(4)

(2)

(4)

(2)

(4}

slag
Shmsiwe

alloy
Dofsostivan

roasting
g

oxidation
edy et

n-butane
n-ergdSse

iso-butane
- rPEdiss

The IUPAC name of HO—CH;—CH,—CH,—COOH is

HO—CH,—CH,—CH,—COOH &%, [UPAC s

(1) 1l-hydroxy-4-butanoic acid
1—'&3‘;{;%3—4—11:.?5&5‘0»5 et

(2) 4-carboxyl-1-butancl
4-303 5-1-arwSs

(3) 3-hydroxy-1-propancic acid
3-pEdy-1-5Fant eibse

{4) 4-hydroxy-1-butanoic acid
4-3pEdy- 1 -argeTont esivisas

SPACE FOR ROUGH WORK /[ D&:i03 Beroesndis Seo
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117. CH;—CH,—OH reacts with alkaline KMnO, and heats to form first the compound A, which
further oxidizes to form the compound B. The name of the compound B is
CH3—CH,—OH giaoos® KMnOy 565508 ‘A’ eiso Sdo@san 2ol Dsdsd. 30 oo edsomnnm 3od
250 (B NHEISD. eosd B’ ooy, W

(1) ethanol (2) ethanal
358 sgb

(3) formaldehyde (4) acetic acid
Fo il 38 essoion

118. But-2-yne reacts with H; in Ni catalyst to form but-2-ene. This reaction is an ezample for
2reS5-2-28 Ni &gys suogoes’ Hy& o 20 argS-2-5:8 Doudsd, ¢ g 803 aoviom epsocd?

(1) substitution reaction (2) addition reaction
STFSO 150 Soked 1y

(3) elimination reaction {4) rearrangement reaction
DEBR W 8 esborTaseds BUy

119. The hardest material among the allotropes of carbon is
SR EPted’ eBRY TOE K80

(1) diamond (2) graphite
gl (o

(3) coke (4) coal
§% Sy

120, The electronic configuration of carbon in excited state is

&bims 256" TS BPosin Gu, doES dwgssw

(1) 1.522522px1Qp_ulfzpzr,I 2) 1522512px12py12pz1

3) 1s22s22pxl2py 4) 1s22s22px?

* k%

SPACE FOR ROUGH WORK / 28:323 Buroasonnd R
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POLYCET OLD QUESTION PAPER
POLYCET OLD QUESTION PAPER 2018

DT AN R 280778 @
POLYCRT-2018

Hall Ticket _—e— . = of
Number =" didate
Hme : 2 Bom— —— — T T rEamm I

Mtk - Beforc answering the questions, resd carsfully the instraction s given ot the OME shect
e sy Ereraedls Soets OME mifws 30asd" giundd Soidtielfs emtm Somad,

SECTION—I : MATHEMATICS
1. I fix is e polynomnial god a 15 any teal aumber, thehd x - o divides
Fix} oMl pihais, o MEan o dooy woad 1 - a oA )
11 S (2 flx) fla (3 flx)-a (4] Nome (24 rast

gz -4 = 3, then |ooxs) x =
x'l
i =1 2] 173 (3 =2 (4 ++5

2. 1F one rool of the equablon xi—P.a:-rﬂ—Di. twice the other, then p =
£2 - pit 8= 0 Dok, 1 Sameite Beonond Sgeln wewd, o=
(1 2 |2y @ 8 &

4. If x =2 ig ore ofation of kel -2x -3 =0, then the value of k -
3= 2 el L8 P00 ke «2x- 3 0, voxd kIood -
1 1 1 1
- 2 - it = 4] w=
- 2 5 I DR
E-Ft‘y=1=aa-:-:rmmanmn:u|‘1h=-.-quam:uayi—ny+3=Uund.yﬂ+y+b=u.:h=n=b=

u_u:-layrS-Dmy?-hy+bnﬂm5g-lmwﬁmiémunm::b—

7
113 3 2 B (3t 3 4 -3
SPACE FOR ROUGH WORK ; Sfyaend haoroscouds o
2015-5171-D 1 | P.T.O.
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E.Hmrummnfx’—ax—umtquai, the third root is
27 - 3x - 2 oo, Boms Barors Toreros, e arES Haroiue

If'|| 2 @ 1 (3 21 [4) T —

T 1f 2v+ 3y=1and (S8t} ¥+ ¥ = 2 then jeoss) x =
X X

| &
B
&

(1} -2, (2} 2.3 3 2 -- 4] -2,-=

B. E!‘:—]=:’— =f;-wh=re:|,x+b5y+q =0and aqi+bsy+ ¢y = 0 are two linear equations, then
2 ]

the eguations are

:—;=%=% solaar® ayx+ by+o =0 Bbdiv ayx + boy+ oy =0 &30 o Diire Slusterus
2

vand o nhossre

1} consistent and have a unique solution
Sefioros 39 g 9B dowron

(2] consistent and have infinite solutiona
Solores Boldln oot It 9§ dewron

13) consistent and have finite solutions
Aanmo: Bebain 2000 Does 5B Gowmas

(4]  ineconsistent

by

0. 12 +3¥F =17 and (Sbans) 3[2F) =2(3Y) = 6, then (wcas)

(1} x=2 y=3 2) x==2, y=23 3 x=-2, y=—-3 ¥ x=3 y=2

SPACE FOR ROUGH WORE [ el emoostieds ]
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10. A fraction in the form % becomes equal to %’ if 2 iz added to both numerater and

denominator. If 1 is subtracted from both numerator and denominator, fraction becomes g
Then 8.
b
%wmﬁomamm:meagswm.uaa. Tonaus Todwol 1 ONEG
3
© Ope = eRpeD. et % -
3 7 10

m = 2 < (3)

4 N
3 B 3 {4} None (D& =)

11. In an arithmetic progression the first term is 3 and the last term is 27, The fifth-term
from the first and fifth term from the last are the same, then the common difference is

3 wcsdd’n Boosd 350 3, epd Soo 27. Jnsd o, TN0 Mwod fe 55 o Narieond o #6 cux,
s Pese (Soeste)
(1) 2 (2) -2 3 3 (4) -3
12. Under usual notations in an AP if 2a = d, then the mtio of the sum to first 11 terms and
the sum to first 5 terms =
5 AP €' 20 = d eaass Dozt 11 3ove Tt B Jusd 5§ Sove Jogtee Ipd =
112 102 (12)2
o 2 — 3 P 4) N ™
m () ()(J @ (% (4) None (3 me)
13. If the first term of a GP 18 256 and the common mdois(--;-) the tenth term ls

mWWmQS&.NM(-%JWeM 100 388

-1 @ -3 @ -3 ()

1

8

14. In a GP, the fourth term is 24 and the ninth term is 768, the first term is
¥ OnPdE T 5SS 24 Soldin FIngss M 768 wont o D 3Ew

2 2 3 3) 4 4 6
15, If the centroid of the triangle two of whose vertices are (2 1) and (1, 2) is (0, 0), then the third
vertex is
&5 [Sgors Sl Doty Yoo (2 1) Sedctias {1, 2), T dewso (0 0f soass Sones e
(p Ly 2 L-9 8 2, -2 @ =3,-3
SPACE FOR ROUGH WORK / Dugdd3 durcactieods godia
2018-S1/1-D 3 | PT.O.
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16. If the slope of the line joining the points (3, - 6), (-6, 3} is equal to the slope of the line joining
(3, x} and lxz. =~ 3), then x =

(3, =6), (-6, 3) Dotisperss Wb Kby mev (3, x), (x2, - 3) Dotsyes WWh MWy ooty MTEICRS,
Xw
(1) -2o0r 3 (2) 3or2 (3) 2 only (4) 3 only
2% 3 3é¢>2 2 sovpdy 3 sopdy
17. The arra of the quadrilateral formed by (-a, - b), (a, - b), (@, b) and (-a, D) is
(-a, - b), (@ = b}, (a, b) 20 (—a, b) Donsped® DH2 Sty Do
(1) ab (2) 2ab (3) 3ab (4) 4ab

18. A(1, 2, B(1,4), Ci3, 2) are the vertices of a triangle. The slope of the line joining the
mid-points of BA and BC is

A[L 2), B(l, 4), C(3, 2) ¢oe bores. sowd BA $:8cin BC foglotingd 06 & D
(1) 3¢ (2| 60°
(3) 45° (4) parallel to x-axis
9 x-uad Krobe
19. ABCD is a trapezium with AB||DC and AD, BC are non-parallel. E and F are points on AD
and BC respectively so that EF|JAB. If %‘% -2, then %-?

ABCD sweor stssyuos’ AB||DC, AD, BOx s5mosores s7p. AD, BC v 25 EF||AB sdlsues™ E,
F oo Beits Dotiopen. %:2&»3%-?

(1 2 2 (3 3 {4) None (94 me)

20. In AABC, AD is perpendicular to BC. If BD : DC » 3: 2, then area of AABC: area of AADC =
AABC &' BC8 AD wowo. BD : DC = 3: 2 wond AABC povop 1 ADC ©¢om 3 w00 =
(1} 2:3 2 1:2 (3) 5:2 4) 3:2

21. The nngies of elevation of two buildings on either side of a point of observation between them
are 45° and 30°, If the heights of them are 20 m and 253 m respectively, then the distance
between the two buildings is '

Dot TR AepStTes & I TegE® o o Donup Mol 45° Wlcin 30" v FeSugow. u SR
2696 20 Do 2e8cis 25 V3 Boar B Sn€' eutell o eRNe gy B30

(1) 45 m 2) 35 m (3) 55 m 4) 95 m

SPACE FOR ROUGH WORK / 8323 Jorowodeds oiw
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22. A ABC is isosceles with right angle at vertex B If AC=10 em, then AB=
B e 55 corS'nod' A ABC o3 oderiro @¢ius. AC= 10 cm eond AB =

{1} S em (2} 10 cm (3) 5Vv2 cm (4) None (28 )

23. For a man of height 6 ft, the angle of elevation of the top of a tree is 45°. If the distance
between the man and the tree is 20 ft, find the height of the tree.

69@903%5:,3@*,&&9%&9&@»45‘.m,b@!mmmw@,aq
a6y Jen?

1) 45t (2) 32 & (3) 141t (4) 26 ft

24. The areas of two similar triangles are 100 sq cm and 64 sq cm. I the altitude of smaller
triangle is 4 cm, then sititude of the bigger one is

Bolis BN (Dgoere PoSn 100 B0, 64 Sbo . T Jpod My 4 Dot vand 1Y Beewmo
9

(1 16 ecm {2) Scm 13) 10 em (4) B cm

25. In the given figure, AB, CD, PQ are all perpendicular to BQand AB= S, PQ =4, then CD =
Sood® Bk Do AB, CD, PQ o BQ 3 vewres. AB=5, PQ =4 voxd CD =

A
P
(o

S 4

B D Q
9 20
2 5 =2
(1 1 2) 9 (3) 20 4 5

SPACE FOR ROUGH WORK / Dugsnd Jorcooodeds Jein

2018-81/1-D 5 [ P.T.O.
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26.1f AD=2, AC=x-1, BE=6, BC=x+2 and (38aw) AB||DE, then (wcad) x =
A

B
1y 25 20 3 (3) 35 4) 4

27. If O is any point inside a rectangle ABCD, then
ABCD &g soxtEed’ O D35 oottt Detisy et
(1) OA+OC=0B+0D (2) OA-OC=0RBR.OD

3) 0A? +0C? =« OB? + OD? (4) 0A? +0D? =0B? + 02

28, Arca of the triangle whose sides are Scm, 12cm, 13 cem is
5 2.0, 12 W04, 13 Toab. gueruam 1 e SN
(1) 25cm? (2) 30cm? (3) 325 cm? (4) 78cm?

29. A square of side 3 cm is circumscribed by a circle. Then the area of the circle is
3 To.lo. gome KES o S¥ot(le n¥ ool IOIHIANS. & S8HY P
(1) 9nem? (2) 4-5%cm? (3) 6ncm? 4) 9cm?

30. There are two concentric circles of radii 5 cm and 3 em respectively, If a chord of larger circle
is a tangent to the smaller circle, find its length,

Ted Jeofiad How Tyges ST 5 vels mbdiv 3 olo. werod' 1y ool A wy my Iy
TS pde vond o0 dap

(1} 4 cm (2] 6 em (3) 8 cem (4) None (28 »&o)

31. The area of a sector of angle 60° of a circle of diameter 42 cm is
42 oo, o BN RERE™ 60° S'ro 3% Tt P
{1} 200cm? (2) 231cm? (3) 197cm? (4) 462 cm?

SPACE FOR ROUGH WORK / o855%3 dorauvotods jouo

2018-81/1-D 6
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32. If a circle touches inside all the four sides of quadrilateral ABCD, then the following is true !
LY SBUEE'D Tl (ot OVHBD LY e wobar fabedd, ¥ Sob T35 D0 S8
{1) AB+BC=AC+AD 2) AC=BD

|3) AB+CD = BC+ DA (4) Al (%)

33. If a sphere, a cylinder and a cone are of same radius and height, then their curved surface
areas are in the ratio

o8 Suy, Tydores g Fve, 3o Wdn ToRg Je Moy g («f wund)
(1) 4:4:5 (2) 4:45:4 3) ¥5:4:4 {(4) None (28 ms)

34. Three metallic spheres of radii 3 cm, 4 cm and 5 cm are melted to form a single sphere.
Then the radius of the resulting sphere is

3 Wolu, 4 Bols, 5 ol dores MEN Sarcs Wk 64y Fowis WD oF Fver Fodew. ©
Bags i mydgse
(1) 12 em (2) 6 cm 3) 7cm 4 9cm

35. A hemispherical bowl of internal diameter 36 cm contains a liquid. How many cylindrical
bottles of radius 3 em and height 6 cm are required to empty the bowl?

36 To.ko. woby Mgt MR oF eUifomo DSt ENe Yoo o MBS SNo o¥ SaowXs 3 Teuls.
s, 6 Te.bo. 26y MBS Spdmey S 2T R

(1) 1000 (2) 1078 [3) 1152 (4) None (38 w)

36. The value of 1an24° tan42® tan48” tan 66° =
tan24° tan42® tan48°® tan 66° clug, Jesd -

|
1) V3 2) — (3 0 4 1
(1) (2) 7 ) )
. 7 cosect ~coth
7. 0=— YW} ————————————— =
ey 25’ - { ' cosech + cot®
24 7 ; 1
= 2) — 3) 49 4)
(1) - (2) 23 (3} (4) 49
38. The value of sin25° cos65%+cos25° 8inG5° is
8in25° cos 65°+cos25° 8in65° g, Jwid
(1) sin4C® (2) cosa(r 3) 1 4 0
SPACE FOR ROUGH WORK / D028 Suoonetods jesw
2018-81/1-D 7 [ PT.O.
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39. If cosecd - coth = p, then [(eaxsd) cosecd +coth -

(1) 1+p ) 1-p 3) 4 p

o=

40. Hcos(A+B)=§l and (i) sin(A - B) = ;;%' 0<B<A<9, then (wad) A -, 5=
(1) 60°, 45° (2) S52-5*, 7-5° (3] 307, 45°* () ob°, 15*

41. A ball is drawn from a bag containing 3 red, 4 blue and 3 green balls. What is the probability
that a ball that is drawn at random is not blue?

3@.4%M3WMS&MQMW.UMW?WM
Sogsd .

(1) 4] None (& )

win
nlw

) 3)

v |-

42. If a dice is thrown, what is the probability that the number appeared is a muitiple of 37
us-:magoabo:pm;ao‘amm-ommw
1 2 1

(1) 6 2} 3 (3) 2 ) 3

43, If 20 defective bulbs are mixed with X number of good bulbs. If the probability of drawing a

defective bulb is ‘-:-, then the number of good bulbs in the box, X =

MzoWXmQWMWMqume
W%manngommaoo,

(1) 60 (2 8o /m/loo (4) 20

44. From the following table, determine the median of the data
s B0 303 ol SOEY WG Jevsio KT ed :

Weight 30 32 34 35 40
XY
Number of Students 4 6 7 12 2
oyge Sewy

(1) 34 2) 35 @) 12 A4 31

SPACE FOR ROUGH WORK / Ju350) derassoleds et

2018-81/1.D o
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45, The mean of first n natural numbers is
Tosd n S S Mew

1 a @) nel 3) 1;—1 (4

N

46, For the data 2, 4, 6, 7, 4, 2, 8, 11, 4, 8, 12, 4 : Mean - Mode =
qubq‘a‘oZ 4,6,7,4,2, 8,11, 4, 8, 12, 4&m¢,ma»-m»-
y 4 2 2 @) 25 4) 8

47, Find the Mode of the following data :
1 B0 SO TELOEIG MRSl ¢

Family Size 2-4 4-6 6-8 8-10
oo SON0Te

Number of Families 5 7 3 2
1:.\mou'o Seq

(1) 466 2 7 3) 5 {4) 45

48. The Median of the data 8, 14, 16, 21, x, v, 28,30, 33,38 is25and if y~x =2, then x = and

yﬂ

8, 14, 16, 21, x, y, 28, 30, 33, ssdmmzsw;;-x-ﬂowfsx:m
y= .

(1) 23,25 (2) 24, 26 (3) 18, 20 (4) 25, 27

49. From which of the following curves we can find the median of a data?
SOty BRIoT ELTRGRE O $00 dlses’ 20 esange?

{1} Bar graphs (2) Histogram
o Swo 2000
(3) Frequency polygon (4} Ogive curves
1 Dy waogod EAS S@se

50. The sum of the observation of a data is 576 and its arithmeatic mean is 18, The number of
observations of the data is

L% Sopety 38%eso Do 576 Blain ON wosmpEEy 18, u SEreEesh Sohuo Souy
(1) 24 (2) 32 (2) 48 (4) 36

SPACE FOR ROUGH WORK / J8ys02 dorcaoieds Jodis

2018-81/1-D 9 | PT.O.
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51. If x is any rational number in the form «5 where g is in the form 2™ 5" where m, n are

non-negative integers, then x will have a decimal expansion which is
xoﬁb%MﬁWM.unﬁOZ'”S" wd Djom &oB. m, n W LGS W

Y'gerw, vend x D, S o

{1} terminating (2) non-terminating
wotSdiyd sotEn PO

{3) mnon-terminating, recurring (4} None (28 :a)
oBiy M), PGS

52. p is any prime number and it divides a?. Then p also divides
p 15 S5 Sog, D00 p, 42D GAYOS. GONS P ...l END IR0D.

1} a+l 2} a-1 (3) a (4) None (28 =)

53. 3loea 243

{1y 27 {2) 81 (3) 243 4 9

54. If 2log, 4 +2log;o 3 - 21og;g 12 = log) X, then (vexd) x =

{1} 10 (2 4 3 2 4 1

§5. If cube of. 5 can be written in the form 9m or 9m+ 1 or 9m + 8, then m (m is a positive
integers) =

5 Sk, 3, Om B 9m + 130 9m + B trsol’ graitd m = (m 3 G5 Yrposaw)

{1 o 2) 12 3) 13 4) 15

SPACE FOR ROUGH WORK / Suysnd fevosotinds juns

2018-S1/1-D 10
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§6. From the diagram estimate sum of elements in (AuB)NC,
St R ORE (A U BN C 6% Swremre e Boithod.

A

(SN

C
{1y 18 (2) 12 3) 9 (4 3

§7. How many subsets the set P = (O 1, 2, 3] will have?
P={0 | 2 3)ed 30008 o &3otoo Sogy

(1) 4 2) 16 3) 8 4 32

88, If n(A - B) =5 and [S85w) n(AN B) = 2, then (¥a:8) n(A) =

(1 3 2 4 3 6 @ 7

59. The degree of the polynomial (Vx + )2 +(Vx -1)? is
WE+1)2 + [Wx - 1)2 6 poesd Gy, 3905

(1) 0 (2) 1
3 2 '4) Not a polynomial
Lsrenach P

60. The common zero of the polynomjalaf(xbx’-x-bmd g(x)-x”-s;noia
flxym x2 = x— 6300 g(x) = X2 - 5x + 6 © GRS WL

1y -2 ) 3 (3 2 {4) None (8 =)

SPACE FOR ROUGH WORK / S8l Suronobeols dedw

2018-81/1-D 11 | P.T.0.
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SECTION—II : PHYSICS

61. The reverse process of evaporation is

i tnoN D% gidct

(1} melting {2) {freezing
ehesse SongEve

(3] condensation {4) oxidation

62. A house has one bulb of 100 W used for 10 hours a day, The cost of electric energy used by
the bulb in 30 days @ 3 per kWh is

100 W 255 0 Mo 23 wogyso 18 godé® Sherd 10 Mo S3DoAMG. w¥ kWhE @ €3 e, © sopd 30
Bleres A3AMYG, 2000 woass 20b W S
(1} "g0 (2) *100 (3) *30 [4) ®10

63. Four wires each of resistance 8 Q are arranged in the form of a square. The resistance
between the ends of any diagonal is

L5 B 0 Zeus 55D 4 Seto LY SEoRmted’ emati. DI B0t spo oy A

(1) 329 (2) 16Q 3) g8Q (4) 0125 Q
64. 2 volt * 3 coulomb ~

2 Sy x 3 ored =

(1) 64J (2) 6Q (3) 6A 4 6W

65. Which among the following materials has resistivity of 10x 10'° o-m at 20°C?
20" C 35 10x 10" 0-m 233 26%m 30K Sovme
(1] Air (2) Lead (3) Copper {4) Glass
™ hse wss e

66. Read the following two statements and pick the correcl answer :
Bod Yok TeEyeo SO OGS MErmSe Jows'ed ;
(a) Human skin offers more electric resistance than the organs inside the boady.

2oy 38006 encmmeTy DupEe Suys daxd Mo argposes.
(b) Huma_n ‘body offers a common clectric resistance of 10000 Q always.

S ¥8te Mgseam 10000 Q o 25,8 6%, Smpsed,

(1) Both (a) and (b) are true (2) Both [a) and (b) are false
(a) o8 (b) Do Derd (@) Hedctieo {b) Bots Bid
(3] Only {a) is true (4) Only (b) is true
(a) sogls Jusw (b) Svpds vem

SPACE FOR ROUGH WORK / Do} duomolnds goss

2018-81/1.D 12
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The resistance of a wire of length 100 cm and area of cross-section | mm? is 1 Q. The specific
resistance is

100 cm e, 1mm? Sagrs proe 508 w8 & 28%e 1 Q wand 2v3 MR
1) 108%Qm 2 10°am (3) 19m “4) 10°°am

68. Which among the following does not involve the principle of total internal reflection?

70.

71.

208 TR HoYrpots SoMSEREN] eeREas
{1) Working of an optical fiber
wheb pob slatte
(2) Shining of diamonds
e Savo
(3} Appecarance of mirage on distant road
oy Bagp Jecires Shodae
(4) Working of a solar cooker
Fol wi b 50 Sanse

A rectangular tank of depth 6 m is full of water of refractive index % When viewed from the

top, the bottom of the tank is seen at a depth of
ﬁme‘mnoégmmweg.%a@mwmmmmammw

LoV PR 2iboms &5
(1) 45 m 2] 25 m {3) 13 m (4) 3m

The speed of light in a medium is same as that in vacuum, The refractive index of the
medium is

¥ e’ wed A W' wod Sl mione. o clie B¢ eat

(t © 2) 1 (3) 133 (4) 3

If u and v are the object and image distances respectively due to a convex lens, then which
among the following statements is false?
U Bo0Cs ¥ 60 B8 WMo Yol Det By Hoddin Bdfce ST SEET cond 308 D e 830
(1) As u increases, v also increases
u DS, v Dorsed
(2) As u increases, v decreases
u DG, v BBl
(3] As u increases, v remains constant
u DI, v SRS
(4) None of the above

LESE )

SPACE FOR ROUGH WORK / 283508 farcsseBods getis
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72. Read the following two statements and pick the right answer :
B0 Bot e Fod BOAH MIW Ress'ed
{a) A concavo-convex lens has two curved surfaces,
DITU-LorTS SuTad Tol SEbow o,
(b) A bi-concave lens has two curved surfaces.

S-Sl Dot DTV SO,

(1) Only (a) is true (2) Only (b) is true
(a) 2@ Jemw (b) SrERe Sesas

(3) Both (a) and (b) are true (4) Both (a] and (b) arc false
(@) el [b) Dot Nerd (@) Sedci (b) Dok Bind

73. A convex lens forms an image at infinity when the object is placed
S0 D Ao B AoTIPLS, 1Y WoPTE Kumn ededEnes' BOlord Dkinied?
{1) at focal point
L5y
{2) at centre of curvature
Sgodete 39
(3) between focus and centre of curvature
Y St BEodogieo By
(4] beyond centre of curvature

oo w0

74. The magnetic field lines near a long straight wire are of
o), S O G Mo woidot wo e
(1) straight lines parallel to the wire
Sty sureson acd My
(2) straight lines perpendicular to the wire
., i conam aod wdpes
(3) concentric circles centred on the wire
O Bosarm Do e dpes
(4) radial lines originating from the wire
26 5008 agRod Saand seige

SPACE FOR ROUGH WORK / SRpisol Sumcsootnds e
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75. Which one among the following pair of ‘physical quantity - unit’ is wrong?
308 'POUNT - Firme' mowes® DO Bi?
{1) Induced current — Ampere
(o0 DHd - wolanb
{2) Magnetic flux — Weber
ecbnod ufie - Jab
{3) Magnetic flux density — Weber/mem’
oM o8 efTee Dot - dub/b?
{4) Induced EMF — Tesla
(500 SesoyTs wesis - D

76. Regarding AC generator, which among the following statements is wrong?
AC B8aE0 Sowoded 308 I DS BRw?
(1} It has two slip rings
08 Dol 55 Salbay dowron

(2) As the coil rotates, the magnetic flux remains constant
Oiftop SUDBILIPE, GOl olvo YoM dowed

{3) It can be converted inbo' DC generator

00 DC B:selin Srgpugn
(4) None of the above
0 Ty
_77. The device used to convert mechanical energy into electrical energy is
crod WD Doob Wi Sy s
{1) ammeter (2) gelvanometer
ot moyEfloces
(3) motor (4) generator

A 253u8
78. The magnetic flux through each turn of the coil increases by 0:01 Wb in 0:1 5. The maximum
induced EMF in a coil of 100 turns is
L Sty @O0 tugwedr 0118 ¥ B0 sl Dibse 001 Wh woxd 100 S 505 Sisgé’
eyt 1 (555 Seymes pess
(1) 10V 2) 1V (3 01V 4) o001V

SPACE FOR ROUGH WORK / 283303 Sumavodeds jesw
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79. The magnetic force acting on 8 straight wire of length [ carrying & current [ kept
perpendicular to the magnetic field of induction B is

B (bors 5000 ecimob fpot coner dotn Snlrag L Sofmw ond fvomr ERireds S8aS | eaxd, ok
2l wctaln ot seda
B

o 4y =
(1] 0 2) i (3) BiL W =

B0. To correct one's myopda, the selected lens should form an image at

iy o, Do T Naio Demitel Bolen IMEe

{l] mnear point

s Dol SE
{2] far point
(3} both near and far points
B, Sobci NIRRT Doduge Bg
(4] HNome of the above
e Ty
81. Pick the false statement from the following :
B0 6" e e 207
{1} Eve lens forms a real fmage
Boud Bt R 0oy Nistzel
i2) Ilmege 15 formed on retina
2d7h Sdlows SEmstool

(3] Cornea contains rods and cones
MOEnE® Selruy Toldix Fosuns Aowow
(4) Distance between lens and retina is about 25 cm
Bosd el Dodai Dler Hoiutrto 245 bouls
B2. Arrange the following colour of light in decreasing order of their wavelength :
et mad Saltetiy Dwd BUeIEO o Wt w55ihe Biuet” wistipd :
' Blue (Ses), Red jouag), Violet (S

{1] Red = Blue = Violet (2) Red > Violet > Blue
S > Aeo > S Kogp = der > Beio

(3] Violet » Blue > Red [4) Vialet > Red > Blue
der > hwo > 08D Sazr > I > Dee

SPACE FOR ROUGH WORK | 85808 Soroweteds o

2018-8171-D 1&
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83. The example of dispersion is
0 JiSmek Souron

(1} red colour of sun during sunset
APTrEcive SEacot’ MRty Joym Ehente
{2) rainbow
SOLLENy

(3) blue colour of the sky
wTRO Qo Lo Sl

(4| droplets on plants
o M Dodipw

84. When we enter a cinema hall, we cannot see properly for a short time, This is because of
Sso o HdbebE'DE 305 T Yol 1o ¥benz. SR mee

(1} cye-lens becomes opague
300 ¥u¥o eIIG B BrUEo

(2) pupil does not open
0 Rowsscs

[3) ciliary muscles do not react
2O Bolres Hoboul Mitio

[4) adjustment of size of pupil takes sometime
SRS S0AM0 Stpaesid §B Slce Yoo

85. The negative sign in magnification indicates that the image is
eSEe DrsSE Dot ¥OA doll o BoDesin

{1) erected (2) inverted (3) real (4) virtual
) BeydoXoe <] =ey

SPACE FOR ROUGH WORK / S65503 Seramcteds joi
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86. An object 4 cm in size is placed at a distance of 20 cm in front of & concave mirror of radius
of curvature 30 cm. The position of the image is at

4 em WErew Mo L8 By 30 cm S¥o, Tyge WD LI POTU Sme Saei 20 om e’ sl
Poloe IR

(1) -25 cm (2) -60cm (3] -20 cm (4) -37-5em

87. The angle of incidence of a light ray on & plane mirror is 45", The angle between the incident
ray and reflected ray is

L¥ 35000 Oomop Toditne GhoN, S0RETHe 45, L J6N J0rPRd D0 IoGS Rerdd Wi Seo

(1) 22-5* (2) 45° [3) 90 (4) 135°

88. The specific heat of water ia 1 cal/gm-°C, Its value in J/kg-K is
e 23350 1 cal/gm-*C. ¥+ Joss J/kgK &

(1) 273 (2) 1000 (3) 2100 [4) 4180

89. An object Fis at 100 K and another object Q is at 25 *C are kept in contact, The flow of heat
is from

100 K a3 SDAS P e 335y Sobainn 25°C &30 3043 Q it 2l 958" aod, ag powrsss 3
Bagy Goow

(1) PtoQ (2) Qto P
Pl Q% Qe Px
(3) No flow of heat (4) None of the above

a5 BT Sl LERE )

90. Which among the following has lower specific heat?

woy s a0
{1} Mercury (2) Iron (3) Ice (4) Water
o FroBa Sood _o

SPACE FOR ROUGH WORK / %323 dorosoteds o
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SECTION—II : CHEMISTRY

91, The pH of blood is in between
ot oo, pH Sesd O Dol Soo Sof,; aadumay

(1} 78 @) 67 {3) 45 4 13-14

92, Match the following :
e (Bof Sl eEiStioon:
g. Caustic soda [} HaHCO,
i Mo
b. Baking soda () CaSO, 2H,0
e ¥
e Gypsum {Hi) CaSO, -%Hiﬂ
=80
d. Plaster of paris {iv) NaOH

2mab wh 0B

1) a b e d
{1 [i1) {iid) fiv]

2] a h C d
R T

3 a b c d

fivi i) {idd) (i)
4 &' b e d
i} (i) {ii] (i)

93, NaCl+Hy0+C0y +NH3 — X +NaHCO,. The X may be
NaCl + HyO +COg +NHy — X +NaHCO, 5 et X D sogiha expgt

(1] NHgHCO4 (2) NH,OH [3) NH,4CI (4] MH,)aC0;

SPACE FOR ROUGH WORK [/ Jugadl furoweSels fedwo
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94, The maximum number of orbitals accommodated in a sub-shell with the angular
mementum quantum number [ is

Shebas i TenSs Sogy 1 fio &spons’ detiie wiprbo fow;

(1) 1+ (2) 4l+2 (3) 2u+1 (4) -1

95. As per Mocller chart, the correct ascending order of energy in the following atomic orbitals is
m&mwammmge‘wmm(mm)

(1) 3p<3d<ds<ép (2) 3p<d4s<3d<4p

13) 3d<3p<é4s<4ip (4) 3p<3d<dp<ds

06. The wavelength of visible light is in between
Gyitos To0 Mus, Buel BY e D Dute Jogy dess?

{1) 100 nm-300 nm [2) 400 nm-700 nm

{3) 700 nm-900 nm (4) 800 nm-1000 nm

97. Which of the following elements constitute a Doberciner's triad?
1 od Baroros® D2 ool PElasty Brlels?

(1) Li Na, K (2) Na, K, Al 3y C.OF (4) He, H, C

98. The formula of compound formed between the element X of 11A group and another clement
Y of VIIA group is

xdlmMmWY&WMMWub@mmtm

(1) Xy {2) XYs 3) XY (4) XV,

99, Which group elements have the outer clectronic configuration as ns?np®?
:w&waqu;ogmw‘&»nsznpam«woa?

(1) VA {2) VA (3) 1A [4) TIA

SPACE FOR ROUGH WORK /| 83303 Sorooouedn Fotios
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100. Which of the following element has largest atomic size?
T1 2o ororod’ A3 w¥ SRren e dciacd?

(1] Be 2) Mg (3) Ca (4) Ba

101. The correct order of ionization energy in the following element is
T4 (302 Soromel pOHBNS ednitin Bo ERay
(1) F>C>0 2) F>0>C {3) O>F>C 4 C>F>0

102. The ionic bond is formed easily between which ions?
Sood ediFie 1% waIrRE nogo J0I DHisied?
(1} Larger size cation and smaller size anion
U Der 55D TOATD S0G IS pee G GO

(2) Larger size cation and larger size anion
0¥ Per & POah Solciin oY Ter &% CRALS

(3) Smaller size cation and smaller size anion
BayD e &%) Pecind o BEE e A% SUEdS

(4) Smaller size cation and larger size anion

BAyS e &Y WA 0N JS e 47 GRS
103. The number of lone pair of electrons in CH; molecule is

CH, uaa@é‘do&mﬁmb«gm:sopa
(1) zero (2) 1 3) 2 {4) 4

104. The bond angle in H,0 molecule is
» (H,0) weapé' ol wogs'mian
(1) 107°48’ (2) 180° (3) 109°28’ (4) 104°31

106. The molecule that contains only sigma bonds in the following is
B o8 wewpd® D8 Ny wogmaes® sopds 59 dowsed?
{1] CoHy4 (2) O, (3) N, (4) NHj

SPACE FOR ROUGH WORK / D6osnd Saromoteds Fonw
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106. The type of hybridization in C;H, molecule is
CoH, weapd® eof seslusy

(1) sp | 2) sp? (3} sp® {4) spid

107. The low reactivity metal in the following is
1 800 TS 20 DD Dongdon W e
(1) Au (2) Mg (3) 2n (4) Cu

108. CaCO3 — Ca0 +CO,. This reaction is an example for
CaCOz — Ca0+CO,y wito u5; A3 doertes?

{1) smelting (2) calcination
ek Grptes

(3} reduction (4) roasting
HcoBensos oFEE

109. Ag;S is dissolved in KCN solution to get
Ag,S % KCN imioesans’ sdoum O Sovgaioe Dyisio?

(1] AgCN (2) AgI(CNl, (3) AgySCN (4) KNC
110. Which of the following is an unsaturated hydrocarbon?
T+ (200 6 D0 wiets IpEGS?

(1] CH, (2) CaHy (3) CgHg (4) CaHg

111. Successive compounds in a homologous series possess a difference of

ot Fe36* Boc v oo Mgy ol Puaw

{1] |—CH) unit (2) (—CHy) unit
[—CH) hrs (~—CHgp) coamins

(3) (~CHjz) unit (4] [—CgH;) unit
—CHj) s [—CoHjy) S

SPACE FOR ROUGH WORK / D853d Sarossoleds Jesw
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112. The IUPAC name of the compound CH,=CH—C==CH is
CHy=CH--CmCH w 33zidn dux, IUPAC s

(1) but-3-ene-l-yne (2) but-1,2-ene-3,4-yne
53545 108 wrgl-1, 2-845-3,4 a8

{3) but-4-yne-1-ene (4) but-3.4-ene-1,2-yne
wAdS-4-an-1-64 -3, 4-645-1,2 o8

113. Ethanol on heating with acidified KMnO, to form ethanal and acetic acid. This reaction is an
example of

37E ehonys KMnO,6* 50 eob aedfda muoams Mol emsiasy Dupton. ¥ 9o 334 dooon?

(1) addition reaction (2) substitution reaction
Sosets 20, BS99

(3) reduction reaction (4) oxidation reaction
Hses T0; whyie vy

114. 5-8% solution of acetic acid in water is called as
BOE* 5-8% bl e eems i oRd Noowrts?

(1) vinegar (2) formalin
s J%
{3) gaeohol (4) cough syrup
e o et
115. The general formula of ketones is
!u"gg Qoo MR P
(1) R—O—R (2) R—CO—R {3) R—COOR (4) R—CHO

116. The chemical formula of bleaching powder is

Lok b doy, ednaiss e
(1) CaOCl, (2) CalOHy, {3) CaO (4) CaHCO3);

SPACE FOR ROUGH WORK / O%sid duwawotnds juiw
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117. NaCl + AgNOj — AgCld +NaNOy is an example for
NaCl + AgNO3 ~» AgClL + NaNO, e 35; 803 aoenon?

(1) chemical combination (2) chemical decomposition
Bnisss Hodrvias Tt DA

{3) displacement reaction (4) double displacement reaction
SN ipo¥e TR Oy SaAPTI

118. The spoilage of food can be prevented by adding preservatives like
wtso MESKes domreoll TRI N YeRHoN?

(1) vitamin C only (2) vitamin E only
2205 C sopds el E aovpds

{3) vitamin C and vitamin E (4) vitamin D only
SeoS C Sobain sl E esd D srpds

119, CgHp0g — xCoHgOH+ yCO,. In this balanced equation the x, y values respectively are
CeH1304 = xCaHgOH+ yCO, ws Bogy SRSl x, Y Dosoy Seodm

1y 1,1 (2). 2,1 B3) 1,2 (4 2,2

120. Which of the following solutions converts blue litmus paper to red?
B Job E' D ptestios DO Sl Defte g Bruyto?

(1) HO (2) KOH (3) NaOH (4] NayCO;

L

SPACE FOR ROUGH WORK | Dt Sumuodolds gosa
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POLYCET OLD QUESTION PAPER 2019

LA L
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Cas
Ul

Time : 2 Hours

Total Marks : 120
Before answering the questions, read carefully the instructions given on the OMR Sheet

34,00 s FaLD Inod OMR e SSiné* a8cnds Ardsod ey S6308.

Note :

SECTION—I : MATHEMATICS

1. The perimeter of the quadrilateral ABCD formed by A(-3, 1), B(0, 5), C(4, 8), D(1, 4) taken in
that order is

A(=3,1), B(O, 5), C(4, 8), D(1, 4) e 383 $ores* Dyt Sibstiyein ABCD qwg) Hepsos

(1) 1672 (2) 25 (3) 20 (4) 10

Which of the following combinations of sides and/or angles cannot form a right-angled

triangle?

& 308 a3g0d3 86 meines’ ) o Snined’ 520 vov §'n BFeinD D660 Sodw

(1) 17,8, 15 2) 1,J2,45° (3) 42°,48°5 {4) None

In a trapezium ABCD AB | | CD, the diagonals AC and BD intersect at ‘P, If AB: CD = 2 1,
then area of ACPD: areaof AAPB =

ABCD \85%2cH56" AB | | CD 38t AC, BD Sgpev. ‘P’ 3¢ w080 FRB3. AB: CD = 21 1 sand
ACPD . AAPB 9% d3ore 338

(1) 1:4 (2 2:1 (3 1:2 4 4:1

SPACE FORROUGH WORK / JuyH Iuranodnds 384
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Q is a point on the line BD dividing the segment internally. AB, PQ and CD are drawn
perpendicular to BD. If AB= a, PQ = band CD = ¢, then

BD 0 Sen:p 8 podin Mo QY87 vossium oD DathPH AB, PQ2Baty CDen BD g wonor AdsS 546
Bpew AB = a, PQ = b 28aiv CD = coans

1 l+l—.l_ 2 l*.l:l
(1) a* b ¢ (2) a ¢ b
g X L g gk 2
) a b & (4) b ic d

An equilateral triangle ABC is such that the side BC is parallel to X-axis. Then the slopes of
its sides AB, BC, CA respectively are

AABC 32er3u8hnsnd’ ghein BC X-o55n3H Sdrossiom ©$8. sans AB, BC, CA daivs Sug,
Trenen [

(1) 3,0,-43 2 V3,43,43 3) 1,0, -1 4) J3,0,V3

The diagonals of a quadrilateral ABCD intersect at a point O such that AO. DO = 30. CO
Then the quadrilateral is definitely a

ABCD 3idymiin o) s8iven AO . DO = BO. CO. edb; dgore O 38 podoHSod & Seodyein sHI e
%

(1) rhombus (2) parallelogram (3) trapezium (4)

rectangle
orond Fross Ssxdyeo B32abo

0 S8xg0

A man is standing between two lamp posts on a horizontal line dividing the distance between
them in the ratio 1 : 2. The height of man is 2 m. It is noticed that shadow of the man wits

respect to first lamp post just touches the foot of second lamp post. If the distance between
the posts is 30 m, find the height of the first post.

2 Dot I8 Ko 18 DDA Bod 83 Fonive e s S 1:2 93)86" dgod g deada

03,6 & HHANGE IS B3 Fouin Gian ; IrAIH 88043 83 30031 W B HEOA, & dod Asjosive
3566760 30 Do) s WEA 83 Foudn J8

(1) 6m 20 5m (3) 4m (%) 3m

A tangent is drawn from an external point P to a circle of 8 cm radius. If the length of the
tangent is 15 cm then the distance between the centre of the circle and point P ia

8 2020, Tgrgdn flo 3ymrdl P 08 ey Doty 208 3)6; Spen Aabodad. 3yq, o 2ad 15 dolb sl ey
§ o850 D0d P e drsan

(1) 23cm (2) 20cm (3) 17cm (4)" Cannot be determined

SPACE FOR ROUGH WORK /9836 Seranodads pdaiy
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9. ABis a chord of circle subtending an angle 90° at the center O of the circle. If the radius of
the circle is 6 cm, the area of the minor segment is

28 33306 AB =g Toisiin 38 Jato §60 90°. & 3y 7RG 6 0.2, o ey 31§ wod Iy

(1l Lgicm: (2) 144 cm? (3) ggécm’ (4) 7 cm®

10. Two concentric circles of radii 12 cm and 5 cm are drawn. A chord of bigger circle becomes
a tangent of the smaller circle. Then the length of this chord is

12 0., H8ain 5 Ho.2. TrgAginen SHAS Jocb Ds Foi ygainen Sop. DS g 5)Fan wg) o8 & Bodd
JER 50 sand w e 2EYH
(1) 26cm (2) 17em (3 13cm (4) 7cm

11. A square of side 7 cm encloses a circle touching all its four sides. Then the area enclosed

between the square and the circle is

7 0.0 e Ho .8 SEBEID Ghos, Trenr (HEroi sosdIum SrHEr 18 33 Som, sas eBodo e
2y 383% 3o

(1) 21cm’ (2) 15cm? {3y (7-=n)em? (4) 10.-5cm?

12. The diameter of a sphere is equal to the height of the cone of equal volume. If rand R are the
radii of cone and sphere respectively, then r’= | _ b
L FER H8ckn FopHe I IBXrrEnen SArSE. S’Gagm‘m FopPh IRIOIBFIAL. r, R e HOIT™ JopP
ek Fove TrgngInoand, r = 252 0
(1) 28 A2f -};—2 (3) 4R 4) R w, o s

13. A solid sphere of diameter 18 cm is melted and is recast into small identical cones of height
6 cm and radius of 6 cm. The number of cones formed is

18 0.2, rgsiie Rlevse6 woBd S6fod 6 0.2, 28 28w 6 0.2, TG Mo JopPeor 1OY D3
Jopotopy
(1) 24 (2) 32 (3 12 (4) 18

log of dimensions 6 cm, 8 cm, 10 cm, a right circular cone and cylinder of
Pm't 2 m:i:;etgr 6 cm and equal height 7 cm are formed. The quantity of wood lost in

14,

this process is

6%0.20., 8 d0.20., 10 Do, Sosen fio 08 B ab; (o 08 6 200, THEL DB 28 7 V0., ™ Ao .8 50
HodTd. & Faby Do DIJ0Arnoe - &

Sjerseg Joansd B Apreon 3306° 33003 Taby 1

(1) 226cc (2) 250 cc (3) 17Scc (4) 300 cc (an

=

SPACE FOR ROUGH WORK / 98 Simanosnd s 8y
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18 sin30°sec 60° + cos 30°cosec60° _
' sec45°cot45°cosec45’

(1) 2 2) 1

(3) V3 4) J6

BC is a tower, B is its base. A is a point on a horizontal line passing through B, the angle of
elevation of C from A is 60°. From another point D on AB, the angle of elevation is found to be
30°, then BD =

16.

B 2v&swr foondn BC. B foae 26 e.8 36089 i A 0 DothP 00 Calng éaf §'nan 60°. AB 3w
Rt 8 2.8 Doty D 5008 C g 8 <§* ek 30° o BD =

1 1
(1) 2AB (2) =AB (3) 3AB (4) 3AB
17. I A, B and C are angles in a triangle then
tan(A+B}tan9+tan(B+c)tané+tan CHA bn D =
2 2 2 2 2 2
ABC&&SLWM:)?NQ@&tan(A;B)tan%Han(B+CJtanﬁ+tan(C;AJtang=
(1) O (2) 1 3) 2 4 3
18. The value of (1+cos x)(1 +cot” x)(1 - cos x) =
(1) -1 2 1 (3) cosx 4) sinx
19 1+sin@ {l-sine X,
* V1-sin® V1+sin6
(1) 2seco

(2) secB+tan®
(3) cos8-cotd 4) 2tan®

20. The length, breadth and height of a room are 10 m
angle of elevation of a top corner of roo ;

10J2 m and 10 m respectively. The
is

m from any point on a diagonal of the base of the room

an

$K8 D,
LEKB 2ndD, Dehey BB G SWIM 10 D, 104/3 ., 10 D, saws es KAS'D D> Do D 50 Jnden Hod
DS KSD gL QY Ml « §'niy

(1) 45° (2) &0° (3) 30* (4) None

SPACE FOR ROUGH WORK /9% Srasosods @83

poLyg;E;'r-2019I 2-C
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21. If cos* 0-sin'p -

cos'0-sin*0 - ; ©ansd () -

(1) 30° (2) 60° (3) 45° {4) None

22. A solution of 2¢cos”* x~3cosx +1=0 is
2c0s’ x-3cosx+1=0 A, s

(1) 45° (2) 60° (3) 30° (4) None

23. If a dice is thrown twice, then the number of sample events is

L8 3 IEH Jodd Y] &'8osne '.)6.)6: IggSrSsve Sog)s
J}f 6 (2) 12 (3) 24 (4) 36

24, A circular area is marked on a rectangular patch as a target for a certain game. A plaver is
declared winner if a ball thrown lands in the circular area. Then what is the winning
probability for a participant given that the dimensions of rectangle are 2 m and 3 m while
the radius of circle is 05 m?

350D KHIoSod. BIS" BgEuEsin Seven 2 . 28ain 3 &ugmm§gvsegm 0.5 . 8g3ebo@sed
sL3006" 3155w AabedIs, el sbrrd poBd & 55156 Jood' JaDADAS 630D Il BB, mavd &

BTAR Nogrds s

(62

@i

11 11 L
) & 2 73 B 179 @

25, From a well-shuffled pack of cards, the probability of drawing a red-coloured ace is

,Mm”aaa»wsgwuwmmﬁmadnwmo @

1 s e
% @ = ) 76 (4) W

L

(1)
b

13
SPACE FOR ROUGH WORK / 286 Stravoseds 8
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26.

28.

29.

POLYCET OLD QUESTION PAPER

ants to buy a blue pen. He picks up a
i d 22 black pens. A student wants (o £ n. H
ge?\ozfm::\ﬁ:h;oc\ﬂ; it to be blgck. Holding the pen in his hand, he picks up another

one at random without looking inside the box. What is the probability that the second pen is
blue one?

%8 bgé‘ 42 Heo BorH $Batn 22 S Borb DIRED 0. uf Dol

Do Borb Dy EIBLITE. o alrd)
3)%om &8 DA B o8 S o wavd. oI B5;3 2 & D8 &'02 ArdHoae HBan ed DD alrd)
8ysorm B & D, Aeo Sord HILLD Sogss

21

1
W 3 (2) 3 35 (4)

wiN
(e JRJ))

Which of the following does not represent probability of an event?
ALY 'az‘»so&éz'dé‘ D8 Dowrg B Ardosd.

(1) o 2) 1 (3) 10001 (4) 099999

In a frequency table of interval size h, with usual notations, the relation between the actual
mean ¥, assumed mean a and the mean of deviations, d is

Argrom ArDES" S84 SEmo¥in S50 vosEI) h HBaD) 08 HEHID X ; &erods Bty @ B SoE
Demren d © By Sogossn

(2) T=d+ah
d (4) None

LAY

The set defined by A={neN/(l+ n?) <50}, where Nis the set of natural numbers, then the
mean value of elements of A is :

mMoMNMA 0HIWBY A=(nelN/(l+n?)<50) ™ A DoIIAIB. mand A &°0 urese
So¥ B IID W Wkab iy
1 (2 6 3) 4 (4) 35

An organization wants to find out the most popular TV serial and con

measure of central tendency is preferred for the data? ducts a survey. Which 3¢

¥ 03 T.V. 06" 35 hBar86" o @viomgs 270805 HBaEDH JoIBoBHH T e3anson Tois Dens

(1) Mean 42 Mode (3) Median

(4) None
©08 eI LIVIIID Do LS
SPACE FORROUGH WORK /3% Saranosnds 3841 ¥
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31. For the data_ £,2/9,11, 3, 4.9, 7,13, ¥ which of the following is true?
D ET;oFIL D0l & 1208 st 38 sy
(1) Median < Mean < Mods

DZAEo < eosmdsa)o< SIOYESY
(3) Mean = Median < Mode

(2) Mode < Mean « Median
ICES) < uoS-‘b'.%.‘»o < a;c,,rso

(47" Mode = Median < Mean

114 3)65590 = mdsﬂéo < PIVUESL TIOsSn = 5)651160< 085 ;‘065.‘1)0
32. Following is data from a child-care center find the mode of data
o8 3635 g wossn
Age Group 0-2 2-4 4-6 6-8 8-10_]
Number of children sf |74 3 44 ]2 2 7 . ;
(1) 2 @ 7 I 267 (4) 35 =

33. UIog,256¢log381-log,x=0,thenx=  rteking >
log, 256 + log, 81 - log, x =0, 0003 x =
(1) 1 (2) 0 (3) 64 (4) 512 =
%. The HCF and LCM of 48, 72 and 60 are
48, 72, 60 & K. 2Batn 3%/ e 3OHT
(1) 24, 144 (2) 12, 720 {3) 720, 12 (4) 12, 144 o 2
B. A composite number can be written as a product of prime numbers in

©8 Socing Soay (BaS SEErese egon™ II) IFivesm orabiomy.

a
.
|}

(1) a unique way (2) atleast two ways
. -
e e Dgom Sbaobod)am ,“* k ‘,, P
3) any number of ways {(4) None il <25
Vs g '
.):haq'mn-e.r |
o il oty B
%. 2 =(0:2)* =100, then implies ;-y = 1 .
l—l =
2'=(0-2) =100 oas T~
‘ ;
) ¢ ° ) (2) % @B 3 4) log,, 2
= W :
. SPACE FORROUGH WORK / 30 8tranosnds saus
"’L\rm e 7
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37. If -75=9a+b where 0 <h<9, a, bare unique integers, then b =

-75=9a+h, 0< b<9, a, b wb.?:s;)rgs'wuo»ah =

(1) 3 (2) 4 B S (4) 6
38. (A-B)u(B-A)= ik
/m/AuB 2 AnB B ¢ (4) (AuB)-AnB

39. If Ais the set formed by the letters of the word POSSESSIVENESS’ then n (A)=

POSSESSIVENESS' &% soff 565506"0 egssnes® 26,45 5258 Asavs n (4) =

(1) 7 (2) 6 (3 8 4) 5

n{A)=8, n(B)=9, n(AnB)=6 where A and B are two sets, then n(AuB)=

n(A)=8, n(B)=9, n(AnB)=6 wows n(Au B) =

(1) 17 2 12 @ 11 iy 7
41. How many subsets the set P = {q, e, i, 0, u} will have?
" ') ‘v . . y
P ={a, e, 1, 0, u} o308 A% Ingin &3 31de 3 s N 3
(1 4 (2) 16 @) 8 e

42. If -1, -2 are two zeros of a polynomial 2x* + ax” + bx -2, then (@, b) =

2x* +ax” + bx - 2 ©IvI8 A Bod> Lrayen -1, -2 ewesand (a, b) =

(1 1,2 (2) (5. 1) B 38,2 4) (2,-1)

N

43. The roots of 2x-—=3 are
]

~

2x-3=3 s, Soveren
x

1
1 lv —<rh—y = & —‘-
(1) 5 2 2,1 32, 3 (4) None

SPACE FOR ROUGH WORK /aq:»!m»aoa;m
1’? -9 =3 :}\\.
1

g 7,
At -9-F = 3
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45. How many sides wil be

POLYCET OLD QUESTION PAPER
a- \Ef" 'J‘__y 2\{2'_ \j-_x \.II{_-'E 3\‘[5 ;mphes x= J=

ﬁx-l-*ﬁy =2\.E: ﬁx—ﬁy: 3.3 #:hngﬁm-aﬁ-ﬁaw X= y=a

(1 1,2 (2) V6, -1 3 2,1 4 V2,3

there in a polygon having 54 diagonals?

54 Sghven fo o povghed's fhesive Soy;

(1) 27 (2) 108 (3) 54 (4) 12
46. A ball is thrown from the top of a building of height 25 m with an initial velocity of 15 m/sec.
If the height of the ball h from ground at any point of time ¢ is given by h =25+10t-31%. The
time taken by the ball to reach the ground is
25 Dobsth) Iéf3 e ghis3as0 Moo w08 15 b /365 Br505* Bos 2B8mes, - 208 GuY) seln BBty de g,
Nowofin h = 25 410¢ — 347 r'r"a:’suc!:&a maumase,mavmsmmnmm
(1) 15 sec (2) 10 sec (3) 5 sec (4) 5/3 sec
. If the solutions of ax+by =2 and bx+y =5 are 4, 6 then q =
-~
AN + g'j =
Qx + by = 2 2oBafn bx + Yy =5 odgden 4, 6 wanda = by + I8 = 5
S 7 >3 -k
(1) 711 2 g @ = (L
. Which, of the following is a quadratic equation?
G-L!oaw;sgaa;sdm 58,
M —ax® - xe1=(x-2 (2) x'=2x=(-x)3-x)
N
B (e-2)ix41) = (x-1)ix+3) O “Hhema

SPACE FOR ROUGH WORK / 3¢ $erasosnls S8y
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49. flx)=5x" -9x' —3x7 +11x- 18 is divided by (x -2 then the remainder 18
fix)=5x' gyt -3x° +1lxv =18 Ay R u-ﬂoarmbim“

(1) © 2 -7 3 7 (4 1

50. If the difference of reciprocals of ages of a boy three years ago and five vears from now 1s

then the present age of the boy in years is
S erend QS I 3 JodFyore {20 8dtn a3 Dod SReIHTe S Sabivo dlng, d6" re kg #5:
% o0 8 treod Sebdy
(1) 8 (2) 6 (3) 4 4 9
$1. Sum of the squares of two consecutive even positive integers is 340. The numbers are
MWWM:)&;OMM34O Sans & JoPz e
(1) 10,12 @ 12,16 (3) 14, 16 ! 12. 14
§2. The pair of equations 2x +3y =5 and 6x+ky = 12 has no solution if X =

2x+3y=51:8dn6x~ky=12wm&&:dok-

-

a3 @ 6 =<y Of° 4 12 :
g Na T~ Wowe= ‘ )
§3. The roots of a quadratic equation are irrational, Then 2 398 X
e %) S B
dagﬁhﬂmwmmmm i R
(1) discriminant > 0 (2) discriminant <0 . 7, oo i
. \E ww m<°
o=+
\ -
1::;/ (3) discriminant is a perfect square (4) discriminant is not a perfect square
i 234d vy o DA SO SFow
XY SPACE FOR ROUGH WORK /98390 faravoSada @Sy
\‘(F.L) 7
L ” & o u\l\“’ FAE . o L
1&‘: O 4‘_' \ 13 G4 £ \ i l ") =
/. \ " |’;V\“ (\' N\lﬂ A k’(". . 3
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54.

55.

§6.

§7.

POLYCET OLD QUESTION PAPER

In the series 112, 109, 106, 103, ...,, which term is the first negative term?
112, 109, 106, 103 ...... awbama»aamm;asm»emma

{1} 40th (2) 38th (3) 36th (4) 32nd

In an AP the 5th term is 24 and 12th term is 94, then the sum of first 20 terms is
w0l #36° 53 385 24 H8afn 123 3650 94 ©ans & eof #86° 2nded 20 Sove Ingin
(1) 174 (2) 200 (3) 1350 (4) 1580

If the first term of a GP is 486 and the common ratio is (1/3), the tenth term is

oo 4 3008 3630 486 BBartn 13 DB 1/3 w3 10 3560 —

(1) 2/243 (2) 1/243 (3) 2/83 4 1/729 ypr. L

-,

\ O C <
If the points A (S, 3), B(8, 5), Clx, y) and D(7, 2) are consecutive vertices of a parallelogram
then (x, y) =

A(5, 3), B(8, 5), C(x, y) 8at» D(7, 2) mwwwdbamtgmemﬂ(x, Yy =

(1) (4,0) (2) (4,49 3) (10, 4) 4 4.3) A
/‘;5- " Y .l .
58. The points Afa, 2), B(3, 1), C{-1, 3) do not form a triangle if a = J.’._\ nd ’-:f"‘
v Y -
a g 9 denss3H A, 2), B(3, 1), C(-1, 3) e Bebe dned D639 - AR
(1) 2 (2) 3 B) -2 (4 1 - S
130 :
§9. The midpoint of line segment joining (x, -y) and (-7, 5) is (4, 6). Then x =, y = a. v
[x, - y) BBamw (-7, 5) DotHed SenyBp podin 18 Do (4, 6) sanIx =, y = s ’—,:
() (-3/2,11/2) 2 (15,-7) (3 (111 @ us7n 5 0
Hhhth %Y
60. The area of the triangle formed by (-1, 2), (2, -1) and (0, 0} is e I
(=1, 2), (2, - 1) 8aw» (0, 0] 08° Dy B Doy i e
i o 2 3 @3 1 (4) 3/2 L=
s
SPACE FOR ROUGH WORK / 98 #uravodnds 384
| I - ¢
ad-nd = te ‘
. "J -] | ":
Yl
POLYCET.2019/2-C u Y [P.T.O.
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61.

62.

63.

65.

66.
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SECTION—II : PHYSICS

The refractive index of glass with respect to air is 2. The critical angle at their interface i
™0 Sdor e 38533 Hngo 2. wand 308 §'mo

(1) 30° (2) 45° (3) 60° (4) 90

Which among the following materials has higher refractive index?

Bod &3 7836° 20,3 58 H53 0080 SORSE.

(/H' Diamond (2) Kerosene (3) Canada balsam (4) Air
awod 'A% 3360 oo ™D

On which of the following factors does the focal length of lens depend?
BoB 836" shx T ;0860 B eS8
(1) Size of the object

{2) Power of the light source
3% 385,00

5708 esE g 0
(3) Wavelength of the light (4) Surrounding medium
5'086605% 80 3838 airsgo

A convex lens forms a virtual image when the object is placed between focus and optic
centre. The size of the image as compared to the object is

SH T DabDothP H8akn & Foio g 40DIHE Logrs s Sko Wi (SBDowrD, DoybAos. B
D6ych (38 Dow 3BT IR I83rw08 28I

(1) same size (2) smaller (3) larger (4) None of these
ed 38300 25,8 268 8o
A lens having two spherical surfaces, curved inwards, is called

Bod F'ovss Seren 6°3D DHD JoA &3, Skko

(1) concavo-convex (2) plano-convex

JrsE-Hogrsd ADdu-NHogrss
(3) biconvex (4) biconcave

5 B5erss
When an object is placed at distance of Scm from a human eve,
distance of ’

the image is formed a
“;@w”&awmsmmwwm.%&mmm

(1) 2-25cm (2) 2:-5cm
2.25 »o.. 2.5 Do.dy,
(3) 1cm (4) Cannot form o clear vision
e RS B0Dowo bey e
SPACE FOR ROUGH WORK /3u% 4, EeeTs i
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67.

68,

69.
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Pick the correct angwer from the following two atatements
e PoB B ane Do 306D Barpeio Jod Sl

() Myopia in also colled near sightednenn,
IR ENE" 0 Herrdh B0 3o Sy Srdret)
(b)  Hypermetropin i also ealled far sightedness,

Q2)AE" 0 Ko o 3B 3y 0n sl

(1) Only (a) is true (2) Only (b) is true
(01) @ Devitny {h) Srwd Do

(3) Both (a) and (b) are true (1) HBoth (a) and (b) are false
() 8s(1y) Doy Derved (1) 8u(b) Bodr 83y,

Il i, and i, arve the angle of incidence and angle of emergence respectively, then at the angle
of mmimum devintion

i) DBty {, SO IBIE R0 BB LI 5o sand 1930303 §'ao 3§

) 4 =i (2) i =2i 3) 2i =i, (@) i =L

The sun does not appear red during noon hours. Because
Dgrgany 366 Ardpdd JP SIEM. Jodim
(1) all colours reach our eye without much scattering
o:hs'oado&wmoaodxma'mwu'w
(2) all colours get scattered on reaching the eye
ol b Boren 368500 D08 foild Jdhoran
(3) red colour only gets scattered
JsyFors 570B 3B 38300 Jod s
(4) red colour only does not scutler
o&mooms-ooano& 308500 Doddy

The sum of two resistors is 6 Q and their equivalent resistance when connected in parallel

i8 1.5 £2. The product of the two resistances is

A6 0 mwwq-omm»mwwao&&ymmmweo 1 50 eavd

© Bod A6'gre ogdy

M an 2 90 (9) 750 1) 4350

SPACE FOR ROUGH WORK / 98© firanodnds pé
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71.

72.

73.

74.

75.
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‘A) -l
20

Grd .
28renoh

(1) 30 @) av (3) A

(4) 2w
The relation between the potential difference and current is established by the scientis
SORanS vty 5a0as Doy B I Doy i Somarriy 63 o0s 0

(1) Ampere (2)
ca0nabhl

Oernted
ol Hé
-

(3) Kirchhoff (4) Ohm

Pick the correct answer from the following two statements :
6 B0l Bodhy 4, e 304 BBGHS SErGro Joby 35,804
(a)

Kirchhofl's junction law is based on conservation of charge
BomyD m04S DahHibo esdame ik o 083307500
(b)

Kirchhofl’s loop law is based on conservation of energy,

Romy &0 Dabhino 3 Disy#5c0i ©3530:3)00

(1) Only {a) is true (2)
(a) Sov@d) Dedn

Only (b} is true

(b) Sovesd> Dty
(3) Both (a) and (b) are true

(4) Both (a) and (b) are false
(a) & (b) Body Derd

(2) & (b) Bodr 83,8

The resistance of a wire of length 1 m and cross-sectional aren | mm® is 1 O, The specific
resistance is

1 2, 2 rBas 120." 345,86 D0 L0 e B D8 0 | L5, & B4 930650

(1) 1Q2-m (2) 10°Q-m (3) 107" Q-m 4 010.m

A charge of 6 C is flowing through a peint in a circuit for 2
circuit in

minutes, The current in the
6 C 96,840 e soabod 1 Dotsd £08 205 Dodn 2 Ddved® 3 3308,

& 3oabod® 33%od Dds S
(1) 3A (2) BA (3) 0054 4 12A ey

SPACE FOR ROUGH WORK /0636 terasosuas on
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Which of the following pair of devices measure the same physical quantity?

BoB8 836" .8 FB508D S35 8 ASATNIA) wots Avaren

(1) Ammeter, voltmeter (2) Ammeter, galvanometer
oy, 5'E Do oAy 00, TocT d

(3) Galvanometer, voltmeter (4] Ammeter, battery
ﬂ‘(’)sa' :bw. 5‘§ h)‘.)d) em&bd). U'L‘-)e

Generally, right-hand rule is used when the velocity and magnetic field are
ArgrdonT, HA 38 Jabrd, Iy HO eabines L3 LIS ) 836" s3I D T hws.

(1) independent of each other (2) at 45° to each other
L5a" D RoSTES SEESEISD 36380 45° §'mo 3B,

(3) parallel to each other (4) perpendicular to each other
LSS SR Sarodton a5, 36360 vowor™ d%H I,

Lenz law gives

8o Dabbo BN 3HaHERS

(1) magnitude of induced EMF (2) direction of the induced current
1988 D STye8 weo Aoy IBArEY (588 DS B

(3) strength of the magnetic field (4) magnetic force acting on moving charge
cabAmps 48 verdy S0endS) 390D 3DVatn saldnes verdy

A force exerted on a3 m long conductor having a current of 2 A in 0'4 T magnetic inducton
with an angle of 30° is
3 8. 23 M&,,.mwtmmaau esodabl. 830 0.4 O (H80 fo ecbdnod §8 834" 307 Sax

Aon3Hch SDSatn pol»

(1) 12N (2) 12N (3) 72N (4) 24N
80. Which among the following does not involve the principle of electromagnetic inducton?
208 88" DeiogBsaRmpd (HOED oprE3ad
(1) Electric motor (2) Electric generator
D bares 24y a3
(3) Electric geyser (4) Induction stove
ety 68 soagsgs
o e

SPACE FOR ROUGH WORK / S0 faranoseds pdey
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81. A temperature of 273 °C in Kelvin scale is

B0¢d Aol -273°C wdens

(1) 273K (2) 273K (3) 0K (4) 273K

82. Which among the following statements on temperature is false?

ARVE0 BowoRod & Bod 6" Daveesn 83y, 7
(1) 1t determines the direction of heat flow

=0 63 Sordr 3% 300'8:3_208

(2) It is a measure of thermal equilibrium
R0 ARIDE PO BOaH IR0

(3) 1t is a measure of hotness or coldness
a&hq)déo o~ \'59‘6:60 Q;cmfo 3DaHIatoh

s
()-) Heat flows from a body at low temperature to a body at high temperature
én&o L38 ooy GRS Mo ISP Hod uesaagusa o SHH L:S:i.’.r.‘(goa

83. Condensation is a change of phase (rom
FoBstnod’ adkrd 26 3rdy

(1) liquid to solid (2) liquid to gas

(83008 3o B30 Mod Tratouy
(3) solid to liquid (4) gas to liquid
B30 Hod (G0 Trainy Hod dde
84. If T, and T, are the temperatures of the hotter and colder water samples respectively and
the final temperature of their mixture, then A Tis
T, 2Baio T, Scosm 34 iain Jod Ve datytsen H8cakn Temgamqwm
) T>TeT @ T>T,>7
@) B>T>7, @ a1y
SPACE FOR ROUGH WOR
K Iaqu'vunowpm»
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. A clock shows ;
85 3hows 3 hr 5 min. When seen through a plane mirror, the time appears to be

w8 f&airdo 3 Kon 5 Dy a:-:»:g.s.,a. OO0 &8 Hhde 66 0 fhos ar:»wym Do SHhon Biros
(1) 8 hr 55 min (2) 3 hr 5 min

3) 9 hr 35 mi 4 1 2
8 Kon 55 A 3 fon S M W g v G 2020

9 Aon 35 A 6 fon 10 2

86. ;Tr:‘l;gr:?gmﬁcalion of an object of height 1 m using a spherical mirror is 1-5, The size of the

1.5 3850 SOAS 1.8 3880 56ye) ado @50 1 . 08 LDAS 3:HI SrhIH Doy (380w I8ires.
(1) 067 m (2) 1m 43) 1'5m (4) 25m
87. The type of mirrors used by Archimedes in burning ships is of

LoD SHOBLRLD 38@:&5 >8% S8 e

(1) convex (2) concave (3) plane (4) None of these

Doas*8 sy ADde 0P
88. Which among the following is not a physical quantity? NP -

808 > 36° F85c 3 N8 D8 7 '

(1) Object distance (2) Image distance = 1S
S G BED (S$8Dow Srdsn

(3) Radius of curvature (4) Centre of curvature
Siger TR Sgerodan

89. When we sit at a camp fire, objects beyond the fire are seen swaying. The principle involved

in it is
mmmmaw,emuuw%wmww.wwm
n

Do 3 .
, (2) reflection
(1) ::fractxon e
(3) total internal reflection (4) scattering
363500
:so:avoédwzgw |
= of the glass glab and ‘b’is the vertical shift of an object through :t, then
N. L. 'ckness n

:'Ief:agi:re‘ei:c‘l::x of the glass slab 1s

memmbmﬂewﬁikgm

a,,d»a-nwa
X4 Sootsdn d
rer 82 o “ a-b
e < e b
(1’ a ~ (2, a- b
qa+
S FORROUGH WORK/ S8y lrouoscfastias
a
o- b
i [P.T.O.
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SECTION—III : CHEMISTRY

91, .-\ccording to Linus Pauling, the clectronegativity values are based on

035 »Dof i3580 QOIS B Dy ond,; s Deven aprdon 88,0369,

(1) ionization energy (2) electron aflinity

#chNESn L .)uts;.S b

(3] Both (1) and (2) (4) bond energy

(1) 28ato (2) wogg 48

92. The orbital with highest penetration power is

o) oBerdd T3 Oasah 3% 10 QDI Sokwod 7

(1 s 2 p (3) d @ s

93. Mendeleeffs periodic table is based on
DocdHeILIIBE_ wprdom scirs Sabedos,

(1) atomic weight (2) atomic size

e (8308 S 383 vmo
(3) atomic number (4) atomic volume

Sodre Soay I 2338300
94. Total number of elements in Newland's periodic table ig

Argorgol 6343 3356" 6ol Murose Soay

(1) 64 (2) 48 A8] 56 ) 65
95. Element ‘A’ forms tnipositive ion and clemeny ‘g’ forms dincgative ion.
formula of the compound formed with A and B wy)

The chemical
| be

POLYCET-2019/2-C 18

90



POLYCET OLD QUESTION PAPER

96. ‘Sigma bond’is formed by

ATy 8060 DS &G S8m0

(1) end-end overls
a
p (2) head-on overlap

2303 820
d0 &80

(3] Both (1 2
(1) and (2) (4) lateral overlap

(1) 28w (2) NG ¢ 98)rd B0

97. The shape of molecule with 4 bond pairs and zero lone pair is
4 wo
S JoFS moben $8atn D7) LolB oS woben EDAS wenY dlws) 45 o

(1} tetrahedron (2) linear (3) pyramidal (4) tngonal planar
S8y Dabo 8Davo S8 (85* ot 300

98. The bond angle in H,0 molecule is
H,0 eyé' wog oo

(1) 180° (2) 120° (3) 107* 48 41 104* 3¢

99. Match the following :

&8 35308,

(a) Haematite 2SS fi) HgS

(b) Cinnabar 338 ) Fe,0,

fc) Hornsilver 6 %esb | (i) Fe,0,
fiv) AgCl

fd) Magnetite S8
() a-iii, b-iv, c-i, d-Hi A A
(3) i, beiv, c-i, d-if e e

v
SPACE FOR ROUGH WORK / 200 fomavodeds ey
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100. Which of the following metals is least reactive?
=8;0) 3o 08 o oo

(1) Mg (2) Au (3) K (4) Fe

101. Heating of carbonate ore in absence of air is called

™0 80z 557305 33 3aed 219 St 7

(1) calcination (2) roasting (3) smelting (4) refining
o oo 6850 (Soso DY<sm0

102. Electronic configuration of C in its exited state is

agagadca»sbaoqswsao

(1) 1s*2s'2pi2plap? (2) 1s*2s*2pi2pl2p?

(3) 1s*2s72pi2p}2p? 4] 1s°2s'2p! 2p! 2!
» i’} E 3

103. The first synthesized organic compound in laboratory is
EArrEros’ At Scird Sabuds €63 58y 630

(1) methane (2) wurea {3) acetic acid (4) ammonia
245 alarBatr e388ui0 edry Dot
Ci Cl

104. The IUPAC name of CHy;—CH—CH—CH,

cl ¢Cl
CH,— CH— CH— CH, @9%UPAC a0
y g
/u; 2-chloro but-3-chloride (2) but-2,3-dichloride
2-5%6" nry5-3-5738 v oS
' i "
(3) 2, 3-dichlorobutane (4) 3-chloro but-2-chloride
2.3-25%" ar 05
-n nr‘ 3.9!:6‘”66 '2'3:26
SPACE FOR ROUGH WORK /380 8ranoz0a =
DAY
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105.

106.

107.

108.

109.

POLYCET OLD QUESTION PAPER

For extraction of highly reactive metal compounds from their ores, some impurities are
added during the electrolysis process. The role of impurity is

085 307 08 e &' 3y dvre b Vol 64, JoylrodiI, L 68 940, 5 93t @ 2abd* £ Bl
SenHErd. Jottod Hdre

(1) to give color to the ore (2] to increase the melting paint of are
T &P Sorbd advaw oD s, BHEss A, bodioron

(3] to increase weight of are {4) to decrease the melting point of ore
P dng) pihHd doboran s Awg $DSS D) Sidan.

The organic compound with R—COO—R' functional group is prepared from
R—COO—R' @hab $3arro £DAS €63 53y oito 3 mrgor 26 7

(1) RCOOH and R'OH (2) R'COQH and ROH

(3] RCHO and R'OH (4) R'CHO and ROH

The value of x in the following chemical reaction is
DI A ndS SR 356" x Dend Jod 7
C,H, + x0, —— yCO, +zH,0
(1) 4 (2) 3 (3 6 {4 5

Lead nitrate on reaction with potassium iodide gives yellow precipitate. The yellow color is

due to
BE MO 2rerdobo gcaﬁ?_ﬁ' 35, 2834 S:od Sofl eido Moy, A2 s dmo

PH(NO, ), v 2KI—» Pbl, + KNO,
(1) PbNO,); (2) K {3) Pol, (4] KNO,

One mole of H, gas contains how many molecules?

cdard H, Traindd’ dod ommIo oy
(1) 6-023x10%
(3) 6.023x10™

(2} 2x6-023x107
(4) 6.023«10%

SPACE FOR ROUGH WORK / SayD furanodnds Iy

21 . [P.T.O.
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: : e to formation of
110. The tarnishing of silver spoon in presence of moisture 18 du

Jol Jord B0é* GODIB,6 oD D6y S 8 50r0

AgCl
(1) AgO, (2) Ag,S (3) AgNO, (4) Ag

: i 1 2
111. Which of the following is an example for neutralization reaction:

Bo8 36 SLBSE0 368 dovrdn

(1) Base + Salt—— Acid + Water

0 + 0300 —— wdo + N

(2) Acid +Salt — Base + Water
8®0 + OIR0 ——; grdo + A

(3) Acid + Base —» Salt + Water
©Do + o —— vdno + D

(4) Base+Water —— Acid + Salt

60 + Vb —— Do+ e3mo

112. The colour of methy! orange indicator in HCl is
HCI &* 286 6o 36805 dorb

(1) pink (2) colourless (3) yellow (4) blue
food ot doddd 503 vk
113. The chemical name of plaster of Paris is
238 &) 280 Ay SAaHI TH0
(1) calcium sulphate monohydrate 2) ¢ alcium i
Sulphate
rga»aa.,éars::@s %‘5
(3) calcium sulphate dihydrate (4) calcium
SPabo 38,8 & A Sulphate hemihydrate
R0 3368 32 1mtes
SPACE FOR ROUGH WORK /% =
"M
B8y

POLYCET-2019/2-C
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i} . atcathod !
. & 10de (2) O, at anode
SEx i s
TS H. Dang uS'8350, >aind
o 2
3] O, atcathode (4) Cl, at cathode
SE LN -
SIS0, Ty t.:~5‘¢5;5g$Cl,J FaleVith)

11S. Which of the following is an example of acid?

farid wimdlsones

(1] Dy HCI {2) Aqueous HCI
23 HC! s (@S HCI

(3] NaOH (4) NH,OH

116. The Quantum mecHanical mode! of atom was proposed by

S s*soac ross vg.sma SE2E0dI3 >
(1) Rutherford (2) Bohr {3) Schrodinger (4) Max Planck
ars535 % @b 303 3nof

117. The correct order of energies for the electromagnetic spectrum is

265, 8 mctinod 353006 Waro 820

(i) UVrays>I[Rrays> Radio waves > X-rays
8308 Mo > Sovon Marw > 32dr sdome > X-2ore

{2) Radio waves > UV rays > X-rays > IR rays
222> sdome > 883068 Ware > X-2arw > Sedo Mare

(3) X-rays > UV rays > IR rays > Radio waves
X-Uere > 08208'rs Mare > 3060 Marw > 88dr sdoraw

‘Rmy,>x.my.>mdiowam>uvmu

4
4 y duM,x-l&r&n 2248 sdomre > 88d0d" 8 arw

SPACE FOR ROUGH WORK / D86 SaranoSeds méen
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POLYCET OLD QUESTION PAPER
POLYCET OLD QUESTION PAPER 2020

[T NP -

POLYCET-2020

Hall Ticket | Signature of
No. _ The Candidate
Time : 2 Hrs. Full Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

S5 BT TAEes o OMR emren JEswd’ F3ds ArSsem g SCScd.

SECTION—I : MATHEMATICS

The length of tangent from a point 15 cm away from the centre of a circle of radius

1.
9 cm is
9 222k TgRrgo fio HEEoo Hod 15 0.0, ErGes” Ko Dotd od & HTIE AALMEAS HE3e el
(1), 12 cm (2) 9 cm (3) 10 cm 4y 15 cm
12 20.20. 9 20.2. 10 oo 15 el

If two circles touch internally, then the number of their common tangents is

2.
Boti: HyEre eodion ) yBoSomecsd el axiyd EBe Sop;
(m, 2 2 3 @) o + 1
3. If the radius of a sphere is tripled, then its volume will become
2.8 Ao oty gy 306y SN o) $o88057E08° S
(1) 27 times (2) 9 times (3) 3 times (4) double
27 Bey 9 ey 1oy SA S

4. A patient in a hospital is given soup daily in a cylindrical bowl of diameter 7 cm. If the bowl
is filled with soup to a height of 4 cm, then how many litres of soup the hospital manage-

ment has to prepare daily to serve 100 patients?
e SROHDE'D Trook (0 Bl 7 Mok, 30 Ko BEES FEC 4 3oL, Jay 35 KD RgeEdwed. owod &
03B Hepod P08’ G Dgorr 100 08 800k 7330, 05 2 deog wrb sained Saird?

(1) 15 2) 182 (3) 154 4) 156
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8. The total surface area of a cone with slant height 21 m and diameter of its base 24 m ig

2ETw N 21 W e B T 24 S o L8 Boquy ol ROYTR de Jrogio

(1) 252z sq. m (2) 504x sq. m
252n . . 504n 5. .

(3} 396n sq. m (4) 1080n sq. m
396n >. . 1080n . .

6. cos(90°-0)sin(90°-0) =

tan® tan®

W e @ Tranle @ 1 & S

7. The value of cosl®°cos2°...... cos180° is

cosl®cos2°...... c0s180° oy, Deoss

1 1 2 o @3) -1 (4) None of these
3 5P
8. The value of :::gg: is
tan65°
cot25°
(1 o 2) 1 @) -1 4 3
° 2tan 30° _
* 1-tan?30°
(1), sin 60° (2) cos 60° (3) tan 60° (4) cot 60°
10. If.tan(A-B)-v% and .inA-UIE, then the value of B is
1 1
tan(A-B)= A= e
(A-B) B o0 sin Ema
(1) 45° @) 15 . (3) 30° @) 60°
—
k_ ~ ., S8PACE FOR ROUGH WORK / Diggand v
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11.

12‘

13.

14,

POLYCET OLD QUESTION PAPER

If x=asec0 and y - btan0 | then the value of h2yx2 n2y2 is
x=asec dawe iy btano O b2x2 - a2y2 e
(i!‘ ab (2) g2 - p2 (B) @2?4p2 (3 q?p?
sin® _
1+cos6
1+cos@ 1-cos6 1l-cosB 1-sin®
(1) sinf @ cos0 {;] sinf ) cosf

A kite is flying at a height of 60 m above the ground. The string attached to the kite
is temporarily tied to a point on the ground. The inclination of the string with the ground
is 60°. Assuming that there is no slack in the string, the length of the string is

AR Wod 60 o. I8 B0 8 THBEO LrNE e SSrostor 60% Fero Dabowod & mEzesa:
SRTIB8 SSAPRODS TS0 FEY (G0 Stoeorr S5 BFAODNEI03)

(1) 403 m 2) 6043 m (3) 12043 m 4) 3043 m
4043 2. 6043 . 12043 . 3043 .

1
What is the angle of elevation of the Sun, if the length of the shadow of a tower is 7; times

the height of the tower?
1
&8 &35 Ay DE e oD dd 73 3% @008 & sianos’ st s S'eso

(1) 30° (2) 45° (3) 60° (4) None of these
‘ S 5

The angle of elevation of the top of a tower standing on a horizontal plane from II.P?i"'n:
is a. After walking a distance d towards the foot of the tower, the angle of elevation is fou
to be B. Then the height of the tower is gt

m?_a_noe.soodam'A'm;smévmqwmb%w%s‘ma. gmmmsww'd

: ua&gmmbq}aaagss‘nmﬁmxsumsoq

d

——— tan o — tanf)
cota - cotfP () dl

(2) dcota-cotp) (3)

98
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17.

18.

19.
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T\x-o friends are bom in the vear 2000. The probability that they have the same birthday
s

A T 2000 e & ey T0Pd Y3 S o8 B w5508 Soursgd

8 e @ ¥ y 35 L
365 365 (3) 366 {+) 366

In a simultaneous toss of two coins, the probability of getting at least one head is

SO TG 250 DASSNODG: 5o 2.8 T 333 oo Pogr3gss

@ 1

Hlw
B | —

W @ @)

Py

If a die is thrown once, then the probability of getting a prime number is
28 IS5 25500 DO S Sopgiso odsio Soprisss

1
@ = (3)

3 (4)

wln
N —

o YO

(1)

If Eand E are the events of occurrence and non-occurrence of a random experiment
respectively and P(E)=005, then P(E)=

£8 RS EAros’ E 5000 E oo 8 15065 sl 50000 eOnFEEIE Sonodeds joeses oduio
P(E)= 005 &3 P(E) =

(1) =005 (2) 05 (3) 09 (4} 095

In a graphical representation of a frequency distribution, if the distance between
mode and mean is k times the distance between median and mean, then the value

of k is
o8 2rischy Derassiia Ak, P O G308’ ErutAiin S0 SoSGEEIINe BxHrto, SHEAUL oD e
Sogsasioon S SroDl Kk By saasgond k deos

(1 2 2 3
3 1 (4) Cannot be determined
Bt Y

SPACE FOR ROUGH WORK / Diigsdd e

99



21.

22.
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The mean ot 100 observations is 49. By an error 60, 70, 80 are registered as 40, 20, 30
respectivel The correct mean is

TOO Codtaes v 49 2oy 60, 70, 800% extioanm S 40, 20, 5005 535 S -, "k PG
e ' )
(1) 48 (2) 52 (3) 54 (4) 50

A car manufacturing company announced that most of the people are showing interest to

purchase red colour cars, The measure of centra] tendency they selected for this observa-
tion is

25 5°C Sairb 5o 35 @nk, 568uss’ DS 008 HOY Bold S8R0 Tiverdd RPIETBTED IodoDod. e D a

20%036" o, Todan LDeos

(1) median (2) mean (3) mode {4) None of these
Ba 5 W) 205 Jogiosn (Hhew) EITOES0 N TP

If the median of 10 observations 20, 22, 27, 28, 32, x+2, 39, 40, 41, 50 arranged in the
ascending order is 34, then the value of x is

©8n £5506 e00ys 10 ©oT05 20, 22, 27, 28, 32, x+2, 39, 40, 41, 50 o SoGiido 34 eond x deos
(1) 32 (2) 34 (3) 35 4) 36

If mean of first n natural numbers is 15, then the value of n is

ool n e Sopgo Wit 15 sowd n e
(1 15 (2) 30 3) 14 @ 29

The difference between the maximum and minimum observationa in the data is
¥ Sero¥ol’D KOy, 00> K Devsso Bektia

(1) class interval (3) frequency
B850 wots Tapyo
(3) cumulative frequency : (4) range

Sodis Bisudiso . Lyt
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POLYCET OLD QUESTION PAPER

26. Which of the following is an irrational number?

U ol el DO rardun 3opy

M o2 (2) 23 3) 1212121 ... ... . =

27. If @, b, c are real numbers, then which one of the following shows associative proper: 7 - -

addition? '

@, b, ¢ o0 TS 30358 & ob TDE' DB oteito Yy KU G ln EPlISL?

(1) a+b=b+a (2) a+(b+c)={a+b)+c
(3) alb+c)=ab+ac (4) None of the above
235 =9

28. Which of the following rational numbers has terminating decimal expansion?

& Jod estriab Sopses’ D8 woBsudly oY Jigtn?

37 21 17 o 5
325 @ 2352 B 72 W 2.3

(1)

29. If p, g are co-prime numbers, then HCF (p,q)=

P, o0 Dot 13- oy, K34 (P, q) =

(1) p 2) ¢q 3) rq EIHR!

30. The smallest number which leaves remainders 8 and 12 when divided by 28 and 3’
respectively is Y

28 390ct0o 32 Sopyol griosm S 8 200 12 Fras 33 KI5 Rowy

() 224 @) 244 (3) 204 4) 214
"Bl SPACE FOR ROUGH WORK / Dugsob Jian
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31.

32.

33.

34.

POLYCET OLD QUESTION PAPER

Which one of the following statements is true?
0 300 PROTOS DO 93507
(1) Logarithm of 1 to any non-zero base is 0
D Wdg00 eeraRIT 1 @t Nosgarse 0’
(2) Logarithm of any non-zero number to the same base is 1
Y $73500 eprolET ol dowg ooy, SoSPITH0 8B Sopy el 1 wpdood
(3) Logarithms of a number with different bases have different values
Lt Sopy Ao, HoBEETTres 0580 Bgrore I dowrown
(#) All of the above
Poeerst)

If the characteristic of logarithm of a number is n, then the number of digits in the
number is

2.5 SoSEATHo GBook), erEFiEo N eons & Nopss” Hol ediew

(1) n (2) n-1 (3) n+l 4y n?

If A={1,2 3, 45)and B={4,5,6,7), then A-B=

A={1,2, 3,4,5) 200> B={4,5,6,7}, 9008 A-B-=

(1) {2, 3} (@) (4, 5} @ {1, 2,3} @) {6, 7}

If .
A = {x:x is an even number less than 10} and

B={x:x is a prime number less than 10}
then n(AnB) is
A= {x:x &30 10 5o SRS 30vop; } SBcho
B={x: x &30 10 508 $535 S0 Sowg )
&8 n (AN B)

m o 2) 1 ' (3) 2 (4) None of these
. o

SPACE FOR ROUIH WORNR - DifgsDa Spsiioo
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35.

37.

39.

POLYCET OLD QUESTION PAPER

If AnB=4¢. then which of the following is correct?

ANB=¢ vand o $od 36 DO segon

(1) A and B are disjoint sets (2) Az¢ and B=19¢
A 20aiv B oo Doy 0dsen A#d wduin B=4¢
(3) A=¢ and B=¢ {(4) All of these
A=¢ 200 Bz¢ a0

- Which of the following is a factor of the polynomial x3 +x2 -17x+15?

¢ 300 T 08 x3 +x2 - 17x+ 15 el 2l el sSerotin?

(1) x+3 (2 x-3 B 2x+3 @4 2x-3

If a, B are the zeros of the quadratic polynomial x2 + x +1, then L.l is
o d
) 1.1
@ Beo x4 +1 0% 35 aosal wroged atp 2

1 1 2 -1 3) o (4) None of these

ERRIES)

. If a polynomial of degree 7 is divided by a polynomial of degree 4, then the degree of the

quotient is
S03rE0 7 S 0.5 £SO S05P00 4 505 WY w5usdS erhodis DY) ETAON ook, SOBPEIS
(1) less than 3 20 3 (3) more than 3 4 O

3 sof) B 3 Sod Jx

The number of solutions of the pair of linear equations x+2y=8 and 2x+4y =16 are

X+2y =8 30a 2x +4y = 16 3has shustrre wo ook, FPe Moy

(1) o @ 1 (3 2 (4) infinitely many
' 600 edso

SPACE FOR ROUGH WORK / 908 Rpiid
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40. Five vears ago. Ramu was thrice as old as Somu and ten years later, Ramu will he twice
as old as Somu. Then the present ages of Ramu and Somu respectively are

Sur s loeowe Hdais Maw Adanie 3 Qe 20w 10 o v 8T8 ot SN M e 2 e XS,
Tier TR TR0 D00 HARGA DR
(11 35,20 (2) 20, 35 (3) 20,50 ti; 50, 20

41. The pair of linear equations 2x+y-5=0 and 3x- 2y-4=0 intersect at the point
2x-y-5=0 200 3x -2y - 4 = 03w ST & oY, Pocs Doty

() (1,2 (2) (2, 1) 3 (1.3 4 (1, -1

42. For what value of k, does the quadratic equation 9x2 +3kx +4 = 0, have equal roots?

o032 2ent 9x? 4 3k +4 = 0 &3 3 SEErdS S35 ST Hoeran?
1y =2 (2) 3 (3) +4 (4 +9

43. A takes 6 days less than the time taken by B to finish a piece of work. If both A and B
together can finish it in 4 days, then the time taken by B to finish the work is

25 300 270 aioe A © B 508 6 Feren o5 ioaho 3600, A, B oo 350 $9h © 390 4 Seod’ 39
Scxricd, Bed 500 370 3o Ssoaho

il) 12 days (2) 14 days (3) 16 days (4} 18 davs
12 Serec 14 S'eren 16 E'eren 18 Saax

44. If the product of two consecutive integers is 5306, then the quadratic representation of this
condition is
ot 2ot g oo 0o 306 & 380 Dot X SEse0

(1) x2+x-306=0 20 x¥+x+306=0

B) x?-x+306=0 4 x*-x-306=0

95. If x=1 is a common root of ax?+ax+2=0 and x3 +x+b=0, then the value of ab is
x=1036 ax? +ax+2=0 00 x? + x+b=0 o a3y& Saredd ab doxd

A (1). 1 (2) 2 (3 3 4 4

r SPACE FOR ROUGHMWORK / it v
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POLYCET OLD QUESTION PAPER

The mssing term (?) of the Anthmetic Progression (AP) 3, 7, 33, 48,

30 At 28, L ed eas@iE () adbanT acdihd a0
& (2) 16 (3) 20 4) 22
.1+ 3+5+.-ton terms ;
;B — =9, then the value of n is
2-5+:8+.-to8terms
1-3452 13
e ] nATeN® o n
2+5-8+-- 8200350 50208 1 e
(20 2 40 3) 10 @) 30

If the 6th term of a Geometric Progression (GP) is 243 and the 1st term is 32, then what
will be the 5th term of the GP?
13 eRAST Jockd Sodakn 63 Sores ST 32 5000w 243 wond & @E6W 53 HeS

(11" 162 (2) 81 (3) 108 (4)y 72

The arithmetic mean and geometric mean between two numbers are 75 and 21 respec-
tively, then the numbers are

ot Hopgo o B08 Ho¢Hos SoBakn KHETES $o¢EoN0n0 SERN 75 $0ao 21 sand & Sopgen

(1) 63,87 @ 73,77 3) 17,133 @) 3,147

If the points (x, 9}, (0, 1) and (-6,-7) are collinear, then the value of x is
(x, 9), (0, 1) 3085 (-6, 7) Dothoden SPardd x dewss

(1) 4 2 5 3) 6 4 7

The area of a triangle with vertices (a, b+c), (b, c+a) and (c, a+b) is
(@ b+c), (b, c+a) 350dw (e, a+b) dgen 5BS Geow Irogsn

1 1
(1) Eabc (2) 5{ab+bc+oa]
(3) —;-(n:x2 +b? +c’] 4 O
S8PACE FOR ROUGH WORK / D508 st
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POLYCET OLD QUESTION PAPER

82. The slope of a line perpendicular to 13y

Tysv1-0 is
13x- 7+ 1= 0 ey conax o dp roe
13 13 7 7

N = ) -—= o : s

( - - (3) 3 () 3
83. The mid-point of the line Jjoining the points (4, 5) and (-2, -1) is

(4. 5) 30w (-2, -1) Dot S 3 doy, 2oty

(1) (1.3) @2 3,1) B (1,2 4) (2,1
54. The ratio in which the X-axis divides the line segment joining the points (4, 6) and

(3. 8) is

(4, 6) bk (3, -8) Doruposs B 39 oy X- efo Deetod 58

(1 1:2 (2) 2:3 3) 3:4 4) 4:5

S5. The point on the X-axis which is equidistant from the points (2, -5) and -2, 9) is

x-agsiacm(z,-S)mom(-z, glaodmmodmamoé‘moam

(1) &7, 0) 2 (,-7) ) (7,0 @ (0,7

86. In the given figure,

if PX=5cm, XR=3cm, QR=7.2cm and XY||PQ, then the length
of RY is

300 S0’ PX =5cm, XR =3 cm, QR =7.2cm 300 XY ||PQ sond RY &g

P > Q
X Y
R
- (1) 27 cm (2) 3cm
2:7 dotv. 3 do.v.
29 cm (4) Cannot be determined
29 dob. Dosoosescs

SPACE FOR ROUGH WORK / D08 it
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POLYCET OLD QUESTION PAPER

If the ratio of the corresponding sides of two similar triangles is 2 : 3, then the ratio of the,

corresponding altitudes is
Toms BT GReaT LAD fuere Jpd 2 1 3 cund T LI diydioo D8
(n 3:2 2) 4:9 (3) 2:3 4 9:4

in the given figure, if AB=¢, AC=b and AD 1 BC, then AD=

N et AB=c, AC = b 00cX: AD | BC wond AD =
c

D
B A
i __bec 4 be b2c? _
U 2,2 @ 7. 2 (3) 2 ool (4) None of these

399 £

. If the circumference of a circle is 22 cm, then the area of a quadrant of the circle is

59,
2.5 Syfo ny, Soepflod 22 0.2, sows & HBod’ g o o Gk, Jroge
(1) 8625 sq. cm (2) 9625 sq. cm
8625 3. 2o 9625 . 20.2.
(3) 10.5 sq. cm (4) 12-825 sq. cm
10.5 3. 20.20. 12-825 3. 20.2.
60. Four equal circles, each of radius 7 cm, touch each other and a square ABCD is formed

through the centres, A, B, C, D of these circles as shown in the figure. Then the area of
the shaded region is

Sesol’ Sriserr 7 0.3, Tghgo fe o WIS 9o omen 4, B, C, D of bydis oo ABCD o
25 B3 Drod Iropsw

(1) 119sqcm (2 42sq.cm  (3) 1575sqem  (4) None of these
119 3. dolv. 42 3. 305, 157'5 . dotv, sy

SPACE FOR ROUGH WORK / 2655508 s
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POLYCET OLD QUESTION PAPER

SECTION—II : PHYSICS

61. For a person with myopia defect, the maximum focal length of the eye-lens is

62.

<, O SN0 50AG o8 3gd Soed SLE AOR TRrgostsw

(1) <2:5cm (2) >2-5cm (3) =25cm (4) None of these

-S>

<2-5 2o.h. ' 52:5 hobu. = 25 Bo.2:. i ol

The sensation of vision on the retina is carried to the brain by
el Doy Sy 19y005580 BB HSaoss

(1) ciliary muscle (2) cornea (3) optic nerves (4) iris
20aird Sotoren SEeNSy &8 e oL

. Pick the correct answer from the following two statements :

(A) In VIBGYOR, wavelength increases from violet to red.

(B) In VIBGYOR, refractive index increases from violet to red.
@od Dotk TEgEH0e Mood HOGID SITET0 Jobs Jaod :

(A) VIBGYOR & &60i0g50 &:atorh 500 JEioiusy Hordd

(B) VIBGYOR & 3$&2555 Kom%o &mrtol 800d Hopdorth aardod

(1) only (A) is true (2) only (B) is true
(A) 5r@So Deo (B) 55 Deo
(3) Both (A) and (B) are true (4) Both (A) and (B) are false
" (A), (B) Bo&s> Jerd (A), (B) Bo&r 858

In a glass prism
et e Degolt
(1) green light is dispersed more than red light
SEBHBOI 0B HPBoK 508 Ko I DFSro Jotoo
(2]' red light is dispersed more than green light
DN 50D SHIHOND S0 ol I Ao Dotsoiss
(3) both green and red light are equally dispersed
e55) So8co IYPBOIH sTotves Sirsor Jfsen Jotoib
(4) None of the above
2 Y

SPACE FOR ROUGH WORK / Qu0} 5t
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65. A person cannot see objects clearly beyond 40 cm. The power of the lens to correct
wvision is
25 358 40 om Sodd Brdo vy SRupos JyHem SrEdcs. B HXD) P03 TEIOLS KO8 TE50

(1) +25D (7)) -25D (3) +4D (4) -4D

66. A bulb draws a current of 0-2 A from a 220 V source. The resistance of the filament of the
bulb is

&8 208 o 220 V 83 300d 02 A desopin IVEFAY, © ey YeodooeS duos, N6 g0
(1) 1100 Q 2) 110Q (3) 44Q (4) 222Q

67. Volt is the SI unit of
S'¢ wond 323 SI Bsreo

(1) electric charge (2) specific resistance
sogro A G0

(3) electric current (4) None of these
e @’m‘?‘c ERARSN)

68. Four resistors each of 1'5 Q are arranged in the form of a parallelogram. The equivalent
resistance between any two opposite corners is

25500 15 2 2005 5DAS 4 DFrots .8 Sross Sdocymo Gy, 4 oeradr eindyTt, 932 ot 35835 Jaros
Sogs D6 V6o

(1) 6Q 2 3Q (3) 066 Q 4 15Q

69. The material which has a resistivity value of about 10x10!°Q-m at 20°C is
20 °C 3¢5 285650 10 x 1019 Q-m e $OAS Sergo

(1) Air (2) Glass (3! Rubber (4) Iron
™ ree Sey 305500

70. When both the length and area of cross-section of a wire are doubled, then the resistance
will be .

25 B oy Fessp So0aio Hxi5TS Iy Boir, Bodotien Lo & BN 06w

(1) doubled (2) quadrupled (3) halved (4) remains same
ao(.‘..)aeag el a‘mﬂaae:g &rHO% Mo &iH™R Byt
Ii SPACE FOR ROUGH WORK / Duisn8 ig;s:m\ :
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71.

72.

73.

74.

POLYCET OLD QUESTION PAPER

The work dong by an ol_ectric force in moving a unit positive charge from one point to
another pomt in a circuit is called

BT O DS 5
£8 AT JTITY £8 oot Ly Doty B00d So0dnE Doty Rairdod St o3 2 ves L iR,

=

(1) resistivity (2) potential difference
G >aQa0é 8

(3) drift speed (4) conductivity
TS TIES0

Two currents 05 mA and 5 mA flow towards the junction in a circuit and three currents
1 mA, x and 2 mA flow away from the junction. The value of x (in mA) is

Sot> igd BT 0°5 MA 58010 5 MA e ¥ Soohos™ eoS 3P Mo 20 Jurts Mg Eotie:
1 mA, x 280 2 mA e &0%S Mod Ertor HAreld, x Juos (mA) &

(1) 55 2) 25 3) 3 4 2

The magnetic force acting on a moving charge is given by the product of three quantities,
namely

Sosod” &) 6303 SVTaks eALIPY B0 ST e L SEre. 8D

(1) charge, speed, electromotive force
es3¥o, 38, DesogdTypE 2o

(2) charge, magnetic flux, magnetic ﬂux density
o, LIPS ©PT0, VALMES VP Fos

(3) charge, speed, magnetic flux density
eso, 3G, BALIES LI FoKE

(4) charge, speed, current
es¥o, 34, S PTTo

Lenz’s law gives

Boff oo EoBd Tedé* BN 3dALIgod

(1) direction of the magnetic field line at any point
esadod §i Spod 87 Dot 3¢ oD OF

(2) magnetic force acting on a current carrying wire in magnetic field
vapd {08’ DS EIrIre SOA &%) 8D SAJaho eadpd weo

(3) direction of induced current

@08 xS OF
{4 pole strength of the bar magnet
. SoGamEdo GRS), Gyt
o SPACE FOR ROUGH WORK / D8 s
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5.

T7.

78.

79.

POLYCET OLD QUESTION PAPER

An auto driver has started his nuto with the help of a rope by pulling. The device used by
him to convert mechanical energy to electrical energy is
et ens L‘-"“S ¥ b oro e oo G Aherde. wiro®s ¥30 Dogd I I el «. 1 TS aren

o N (AR5 = =

(1) battery (2) transformer (3) fuse {) dynamo
) Y s g

The material more suitable for core of the electromagnet is

AFODOTEIS Fook, ST Sl OGS Sogo

(1) Cu-Ni alloy (2) nichrome (3) soft iron (4) steel
Cu-Ni Esesiro ED B0y o0 )

A. cor_:ductor moving with a speed of 20 m/s in the direction perpendicular to the
direction of magnetic field of induction 0-5T, induces an EMF of 5 V. The length of the

conductor is
LS TEs0 0-5 T (06 SOAS eoodes Fo708 vonds® 20 m/s 3ros’ paredas, 5 V $0s sogdomyos werin

$3H00. & TIEo Bty FEY
(1) 1m (2) Sm (3) SO m 4y 0OSm

The magnetic field lines due to the horseshoe magnet between its poles are
TOGRTE eaamed Clool) EyTe 3o Hyhs aarmPes FE Spo esssn

(1) straight lines (2) squares
. S0 Bpeo SSoBErsoeD
(4) loops of irregular shape

(3) circles
L E30 esdo 8 Sealreo

ST
A bar magnet is moved towards a coil {a) slowly, (b} quickly. The induced EMF is
e SoGrabdmeord)y Bty 8308 (a) 33y, (b) Sriorriy SO, (208 DogSTes weo ¢

(1) same in both cases (2) large in case (a)

Boths SotTySr S50 () Socstos” dejs
(3) large in case (b) (4) dependent only on radius of the coil
() 305808" Briciogy oD SO SEESEsood

SPACE FOR ROUGH WORK / Disgisdd yisssoo
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80. Which among the following pair of units measure the temperature?

@od TRE &FNORe Foom moe Partres

(1) Decgree Celsius, Joule (2) Degree Celsius, Calorie
S 2O, TS S D, 36'6

(3) Degree Celsius, Kelvin (4) Kelvin, Joule
S 2Dk, 3045 285, TS

81. Humidity means
t‘.‘:&@ (3>
(1) Pressure difference in atmospheric air
TIsmesD md hise dc

(2} Amount of water vapour in atmospheric air
TErS5R0E mdSsot: Ko Dl edd H0Sre0

(3) Temperature in the atmosphere
TES0ros R i

(4) Quantity of heat energy given by the Sun
RArEgD oo S &¥8 SB3re0

82. 40 g of water at 60 °C is added to 60 g of water at 30 °C. The final temperature of their

mixture is

60 °C e3yies Ons 40 g 3D, 30 °C afis sns 60 g el EDBTE. Doy oo O &N

(1) <50 °C (2) >50°C (3) =50°C (4) None of these
ENNES)

L3

83. Ghee is converted from liquid to solid state during winter season. This process is called

Borsreos® Booxd BIOTGo S0l JoTITGot> 37y @D

(1) Evaporation (2) Melting (3) Freezing 4 Condensation
arbyensso eSS0 wodemsso Aroyhsoeo
iy . . ngle of
84. The total internal reflection in diamond makes it shine, because the critical ang
diamond is
o Gt SoB(E'ee0 Devd

b iie08® sstrts SORTEOBS 0G0 PR E8loD 0B, Josusm Se

(3) exactly 45°
pQuor 45° ke

{ these
) very high (2) very low (4) None o

T JEPS T S
SPACE FOR ROUGH WORK / Dtis08 g
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85,

87.

B9,

POLYCET OLD QUESTION PAPER

3. When viewed from

A rectangular tank of depth 4 m is full of water of refractive index 4/

the top, the bottom of the tank is seen at a depth of
-, A b X
M T A oo rag ergele Dedor 4/3 98 fomo SONS DIE° Dol GoB. PUI0G BT
5 .

s

WL L BRI Sede i
3 m (2) 2m (3) 038 m Ll

. To examine the internal organs of a human body through light, the doctors use

RTDD 3902 2000 B0 LIMT O T8 T oo GED TERSS
(4) optical fibre

sterilizer
essd }_"235

(1) stethoscope (2) centrifuge 3)
PN @8os oo ?35@85

A bird is flying vertically downwards the surface of water of a lake with constant speed. For
a fish inside the water exactly below the bird, the bird appears to be

©8 2§ £3 T 25 d6B00 535 Dedeym GosH SSi3Kos PATERRNO. & 3§ B0 B Dedood Ko 5 Tox
3¢ st e

(1) farther than actual distance (2) closer than actual distance

QGG EBo Ky SrGorr QGRS BP0 ST ST
(3) at the actual position (4) None of these
I 59

agr LS’

The angle between the paraxial rays and principal axis is

Sodyabd oo, EES erdd S0 fo Seo

(1) 45° @ 0 (3) 90° 4) 83°

A convex lens has a focal length of 10 cm. If u is the object distance, then the image

distance is given by
&5 L0576 Seoso oy, Tgrgottio 10 cm. u 3RS0 wond $88oe e

u 10 10u u-10
0 776 @ o710 ® 76 W o

A double concave lens of refractive index 1'5 with its two spherical surfaces of radii

R =30 cm and R, =45 cm is kept in air. Its focal length is

1:5 Sdes ko ¥OA R) =30 cm S0av Rp =45 cm syrgoor &%) 3ot F'vss asdiseres DAL L3
BERTS'S 550 MOE' GoDID. B TEToBin

i (2) 375cm (3) -18 em (4) -36 cm

(1) 15em

SPACE FOR ROUGH WORK / el praa
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SECTION—III : CHEMISTRY

. The maxim . oot
91 1[1111 - M number of clectrons that can be accommaodated in the [ shell of an
atd S

R - e
L5 WRFRRCE S9H0e Ledetn 300EhR KR Jogine oy

() 16 2) 8 (3) 2 (4) 4

92. If t.he. atomic weights of lithium and potassium respectively are 7 and 39, then the atomic
weight of sodium as per Dobereiner’s law of triads is

SHaDc JoBakn Srerbpion o, BT o S 7 20000 39 vowsS, cebsb BS hoese i,
2eaixo Aoty BEITED §RES0 Jod?

1y 22 2) 11 (3) 46 4) 23

93. The correct order of electronegativity values of the following elements is
55 208 SoT0SoL PABIN BRRIERCHES Jaode I

() C<N<F<O (2) C<O<N«<F (3) C<N<O«<F 4) N<C<O«<F

94. The number of elements present in period 4th of long form of periodic table are
5 essess 538 4 5 boabES' &) Sarese o

(1) 2 (2) 8 (3) 18 4) 32

98. The non-metal present in [VA (carbon family) is
IVA 1o 8 styS Seaoeisnd’ dol o8
m c (2) 8n (3 Pb 4) Ge

96. The element with highest electron affinity value among halogens ia
FEus wrovol’ D Brokius eds Jogs Jidd Daxs doawed

(1) cl @) F (3) Br (4. 1
SPACE FOR ROUCH WORK / ety et
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97.

98.

100.

101.

POLYCET OLD QUESTION PAPER

: e charge «
An clement |, M2 forms ionic compound with another element ‘Y. Then th ge on

the ion formed by M is
1 - af ﬁ-
L8 3romi 1) M2? Y e Sremind’ et nogo Desi. wand M 3 33 ediris) fo wto

(1) +1 (2) +3 (3) +2 (4) -2

The covalent bonds present in nitrogen molecule are
§g.5‘u.5 orudd dod Studrebah worey
(1)- one ¢ (sigma) bond and one n (pi) bond
£5 0 2080 2o8u0 5 1T wodsswn
(2) two o (sigma) bonds and no nt (pi) bond
8ot 0 2058we 30005 T Botio Bt
(3) one o (sigma) bond and two 7 (pi) bonds
£5 0 wogo Soda Boks T woiSwen
(4) two o (sigma) bonds and two n (pi) bonds
ot 0 oS Sodaty 3ot Tt 2odkuey

- The type of hybrid orbital exist at Be atom in BeCl, is

BeCl, veapé’ Be sosrend 5¢ D BEN 9088 By doeran?

(1) sp (2) sp? 3) sp° (4) sp?-sp?

The shape of methane molecule is

WS orny doy, 6gd
(1) pyramidal (2) trigonal planar (3) tetrahedral (4) linear
208 (Ripts) 8han Bgowo Sdotydano Bhasno

Which of the molecules has highest bond length (A )?
81 00 36" BD2 10gs Cireiss exsOES® '
(1) H-F ' (3 H—CI (3) H—Br (4) H—I

\y

SPACE FOR ROUGH WORK / DRI s
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102, Match the following :

103.

104.

B 800 T edtoy :
Ore

(8) Fey04

®) MgCO,

(c) ZnS

(d) Hg,S

(M @ ® ()
G ) i)

@ @ ® (@
@ G (i)

@ @ b [
(i @ (v

4 @ @® [

(1)

(i)

(iv)

POLYCET OLD QUESTION PAPER

Formula
(i) Magnesite (37He)
(i) Magnetite (30%3e5)
(iii) Cinnabar (::'6495)

(iv) Zinc Blende (205 80&)

(d)
(iv)
(@)
(iv)
(d)
(i)
(d)
(i)

The most suitable method for concentration of sulphide ore is

B 308 T8 D 350 $BYE I roBEse TaeDH BRPT Goeod?

(1)

(3)

washing
IS o

froth floatation
355 Pda®

(2) hand picking
386 dodano

(4) magnetic separation

S0P Iyt KB

The name of complex ion formed when Ag,S is dissolved in KCN solution is

AgyS D KCN rseasond’ 50noDsS’ Dy Mol wairo dug, oo

(1} monocyanoargentate(l) ion

IR (1) wosris

(2) dicyanoargentate(l) ion

SRTRSERS (1) eatrso
(3) tricyanoargentate(l) ion (4) tetracyanoargentate{l) ion
msdd (M) eao CerdargSes (1) oard

SPACE FOR ROUGH WORK / Degid o
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105. Graphite is a good conductor of electricity because oof

—nf et el Doyl O dougi e Tomla
) : ' r electron system
(1) 1t has localized = electron svstem {2} it has delocalized

e M‘J’ ff _,,_. Y f <z
Sy e A AL Yo o= PR Y .;-;,.nf—f

S ;.Qu-:l‘-ﬂ\.‘-'l‘:, ..13.‘
(4 - N

it has delocalized © electron system

(3) 1t has localized o electron svstem (4) d 0 clein
.’»3;‘::-‘;: by O ST LS

.t;a:\: 200ad O Joge %35

106. The molecular formula of cyclopentane is
§§:1m‘3-5 o) e 3"53"6'

(1} CsHyo (2) CsHy (3) CsHg 4) CsHy;
107. The IUPAC name of the compound CH;—CH,—CH=CH, is
CH;—CH,—CH=CH, cxt; I[UPAC a3
(1) But-3-ene (2) But-1l-ene (3) But-3-yne (4) But-l-yne
erpes-3-8ud arged-1-5ed aryes-3-o0 arpes-1-z8

108. C,H;,OH on oxidation with alkaline KMnO, gives the compound A, which on further
oxidation gives the compound B. The names of A, B respectively are

CHOH 3 goaos KMnO, & edysoiio Sanmr A’ o liyesin Dydsn, 30000d edwsese 25 B
A58, eond ‘A’, B’ 5k St

(1) methanal, methanoic acid (2}_ ethanal, ethanoic acid
grd, WgTonok esonn 338, 3ok e
(3) ethene, propanoic acid (4) ethyne, ethanoic acid
333, @roTank ey 3P, aTonk et
109. Which one of the following compound hydrocarbons can show isomerism?
on ot D gy e ey, P07
(1) CgH, (2) CoHq (8) CyH, (4 CeHy
110. CH;COOH is an organic
CH,COOH oo o4 RyS
: (1) weak base ) weak acid (3) strong acid (4) strong base
elrS3s oo - wobr e oo ey N
S8PACE POR ROUGH WORK / Dgsds R
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111. The volume occupied by 10 grams of hy

POLYCET OLD QUESTION PAPER

drogen gas at STP is

L0 e et Tty STP i 300 s, opsigod
(1 112 litres (2) 112 litres (3) 224 litres (4) 224 Ditres
112 besao 112 Bexty 224 bexy 224 Gty

112. The chemical equation BaCl, + Na,SO, — BaS0, +2NaCl is an example for which type of

113.

114.

the following chemical reactions?

BaCl, + NayS04 — BaS0, + 2NaCl s srans 36 & @od T36° 828 acrrde

(1) Displacement (2) Combination
Sk yEovo 5301 SOGAPHSD
(3) Decomposition (4) Double-displacement
EAHS AT BraS S0l JATHS
Which one of the following layers of a metallic compound can be formed on electric wire as

insulator during rainy season and causes the power supply to our home from the electric
pole to be interrupted?

Be doB TE D i T 58 SgTesns” s Bt ks Mo A& SoBal Koew Fogio Jod R
O 53 363070 WDFdbetn Snod?

(1) Metal sulphide (2) Metal oxide
&' 995 & egyf

(3) Metal carbonate (4) Metal peroxide
&' 5By &> 2038

A thin layer of ‘X" metal is used as galvanizing on iron surface to protect from rusting of
iron. The name of X metal is

3050 Hoiy 96006 DPOSELD MR F8 SyPed X ek S5yrdin meghsasor ASAPADS, X 6 65w
pe’ed

(1) tin (2) lead (3) zinc (4) aluminium
a5 o5 20§ SurRLRaho

SPACE FOR ROUGH WORK / ifs08 pisssa
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115. The chemical name of baking soda is

408 Mo A Do ARG oot OIAD TIVBD

(1) sodium carbonate (2) calcium hydrogen carbonate
r
A&oe 5‘56:3(&5 o "xd,’uo }3‘@,‘&:«5 3"5‘;_\’3&)

(3) calcium carbonate (4) sodium hydrogen c:arbonate
Qoo 5"5‘.)3‘15 ré&o%0 E‘L&" ed =6 Qﬁw

116. The colour of methyl orange in alkaline medium (basic) is

£ @3T8 WS estof wrdy GRoo, Sord

(1) orange (2) yellow (3) red (4) blue
estoe S0 K55 Qe

117. Which one of the following types of medicine is used for treating indigestion?
B (308 TS’ D 00tk BEGoSL EHBFAIE?

(1) Antibiotic (2) Analgesic (3) Antacid (4) Antiseptic
es0e30Bre38 JdEE " a0 asroelu}E

118. The number of water molecules present in one formula unit of gypsum is
8 Foyer e 208" dod Ve wenHo Hops

(1) two (2) half (%) @3) five (4) one
Bocs> RS0 (V) oY egeS

119. The names of the sub-shells present in M shell (n=23) are
M &3 55550 (n = 3) & Godsiio esEsioe B
(1) 2s,2p, 2d (2) 3s,3p, 3d @) 3p, 34, 3f (4) 4s, 4p, 4d, 4f

120. As per Moeller chart, the correct ascendin
orbitals is

g order of their energies of the following
Dowed gseo @SS, S $od Qg ook, PV F E:30500 5850 K505006° der doerodo
(1) 3s<3p<4s<3d (2) 3s<3p<3dc<4s

B) 3s<4s<3p<ad (4) 3s<3d<4s<3p

SPACE FOR ROUGH WORK / D308 335 e
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POLYCET OLD QUESTION PAPER 2021

1 MARAE AR QB @
POLYCET-2021

Hall Ticket Signature of
No. The Candidate
Time : 2 Hrs. Full Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet,

EHOS% eraos @it Bwot OMR e BiEsod’ FIRGD DITION WG KiSodk.
SECTION—I : MATHEMATICS

1. The product of two numbers is 30. If their HCF is 5, then LCM is

Bocd Sopg® 00 30. =D HT2r. S @0 SRR,

(1) S (@ 6
3 4 4 8
2. The smallest odd composite number is
©® D3y B Hodkug Sops
(1y 3 2 5
@ 7 (4 9
3. V2 is
V2 5550 e
(1) a rational number (2) an irrational number
esEseion ogy Kseiah Sogdg
(3) a prime number (4) a composite number
PR Doy Rociog oy
4. If 10g3x2 =2, then x=
10g3x2 =2, ®ond x =
(n 2 @ -2
@ 3 (4 -3

SPACE FOR ROUGH WORK /083508 arssa

@
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5. Set of even prime numbers is

R0 [ Sogge Hdod

(1 &4 (2) 4,6,8
@ 8, 10 (4 &
6. If An B= B, then the correct statement is
AN B= Beos 8 800 T8 0G50
() AcB (2) BcA
(3 A=¢ (4 B=¢
7. Which of the following sets are finite?
Eo 808 TS DB HOMs 509
(1)  Set of all natural numbers (2)  Set of all prime numbers
Xires Soggeo el So K08 ) (TS Sogge Bs
(3) Set of months in a year {4) None of these
2.8 Songytod Joo WaR-daS

8. The number of zeroes, a biquadratic polynomial can have at most is

S0P HBNTE enTURO8 €0t TR Howg

9. The product of the zeroes of x + 2x% + 1 is

> | 5
X427 H ] cﬁwga,w’vgo 050

(1) -1 2 2
4
3 1 @ 3
10. The zeroes of the polynomial x2 - x% are
x° = x? iR ooy, B0
(1) 0,0,1 2 01,1
8 1.1;1 (4 0,0,0
SPACE FOR ROUGH WORK /05508 3:?0&.;
2021-81/81-A [2]
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11. The quadratic polynomial whose zeroes are «, f§ is

o, B oo Dwrgeon fo B¢ eisuisd

(1) x*—(a+B)x+ap (2 2 +o+P)x
3 x*-a-Bx+ap? {4)  None of these
DE =

12. The equation x—4y =5 has

X= 4y =5 650 SAoBSeIoH

(1)  no solution (2)  unique solution
S Seso JBE G55 St

(3) two solutions (4) infinitely many solutions
2 FEHe0 oy ©H0S TEHEo0 Bowy

13. If ax+ b=0, then x=

ax+ bhb=0s00S x=

(1) -a 2) a
b b
@ - e

14. Which of the following is not a linear equation?
Bob T8 Bhan 2Dosseo 08
(1) S8x-2y=y+x (2 x+y=1
(38) 1+2x=y-5 4 3-y=x*+4
15. Which of the following represents the situation where Siri bought 5 apples and 6 oranges
and Laxmi bought 2 apples and 15 oranges for same amount of total money?

2 RV - 1 2 2 S Al [p PR ~ & A=K ] o 1@ DO s, TVd ACan® | L e T <.
B 5 by, 6 TOcesw Hobois oy 2 carad,y, 15 TOoweo DEIET &8 JogrE T0. B2 DX SFTos

Shosteso
(1) 5Sx+6y=2x+ 15y (2) Sx+15y=6x+2y
{(3) 5Sx=6y=2x-1by (4] Dx=15y=Bx=2y

16. Which of the following is a quadratic equation?

Bod FRE° 3¢ “ostero

(1) x{x+4) =12 (2)  x(x+4)=x%+2x+1
(8) x(x+4)-x(x-2)=0 4) x(x+4) =x(x+5)-x
SPACE FOR ROUGH WORK /95508 Spisa
2021-81/81-A [3] [BT.0;
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17. Any equation of the form p(x) = O, where p{x) is a polynomial of degree 2 is called

Plx) 38 $050e0 2 Ko 2B wowd, p(x) = 0 & susseo

(1)  linear equation in one variable (2) linear equation in two variables
25 Sood fio EPah Sotseo Botia Jocras o 3D ShEseo
(3) quadratic equation {4)  None of these
5 BAoSE0 28

18. The equation x?+x-306=0 represents that the

x% + x— 306 = 0 &3 B5)os5e0 KroHB0

(1) sum of two consecutive positive integers is 306
Boto 0 PG Hogge oo 306 e

(2) product of two consecutive positive integers is 306
Boted L GiS3reE Koy vgo 3006

(3) sum of squares of two consecutive positive integers is 306
Jotho HoR GG Sowg $Te Fo8o 306 e

(4) product of squares of two consecutive positive integers is 306

Bote W00 GRg Hose oo oo 306 &l

19. The degree of the equation ‘c2(>c2 +x+l)= e P -2 +3x-11is
P +x+1) = xt+53 - oF + 3x- 1 oy 38T
(1) 12 2 2
@ 3 (4 4
20. If 18, x, 36 are in Arithmetic Progression, then x =
18, x, 36 ©oEFEGE &, x =
1y o9 20 18
@ 27 (4 26
21. If a, b, care in Arithmetic Progression, then a+ ¢ =

a, b,c coscsFERS e ar o=

ES
() b (2) 2b
(3 b-a (4 bta
SPACE FOR ROUGH WORK /083503 %;m
2021-S1/81-A [4]
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22. The common difference of the Arithmetic Progression 781, 806, 831, ..... is
781, 806, 831, ..... ©o5@E ool Strodito
(1) 26 (2 24
(8 25 4 23
23. The product of two numbers is 91 and their arithmetic mean is 10, then the two numbers
are
B0t Ko ©20 91 8afo 770 eoslugitoo 10 o e Sopyeo
(1) 10,10 2 12,8
(3 13,7 4 14,6
24. The centroid divides each median in the ratio of
HotoSBoso SOEHTRY wrrerrsreennens DYHE DEZ08.
[y 2148 @ 2:1
@B 3nl 4 1:3
25. If the centroid of the triangle formed with {a, b}, (b, ¢ and (¢, a) is O(O 0), then @+ B+t =
(@, B), (b, ¢) 5080 (¢, @)od Dy Hatasy Sogso O(0, 0) wosi a® + b° + ¢
(1) abe (2) 2abc
(3 [Babc (4)  3abc
26. The vertices of a parallelogram are (2, =3), (6, 5), (-2, 1), (-6, =7] in this order. The point of
intersection of the diagonals is
(2, -3), (6, 5), (-2, 1), (-6, ~7) 33 360G’ B57086 Iestioyes TS, T S oS Hood
(1) ©6,-1) (2 (0,0
@ L0 4 41
27. Distance between the points (O, @) and (0, —a) is
(0, a) 508k (0, —a) o B¢y 3550
(1) & 2 2d
(3 4d® 4) 2a
28. Two poles of height 6 m and 11 m stand on a plain ground and the distance between their
feet is 12 m, then the distance between their tops is
TS o Moy Boted Hoare Hges ST 6 Do, 11 Do epsr, el Fesue Hy §rde 12 M. eand
De&}z @ode Sy Eto
(1) 11 2 12
(3 13 {4) 14
SPACE FOR ROUGH WORK /95508 Spiesas
2021-51/81-A [S] [BET.O:
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29. AABC ~ APQR, if LA = 50°, then LQ + LR =
AABC ~ APQR 380500 LA = 50° @od LO + LR =
(1) 180° (2) 40°
3 80° (4 140°
30. The point which is equidistant from the vertices of a triangle is called

@gbe oo dood $IFH $res” Ko Hotid

(1)  incentre {2} orthocentre
oS 8 Soo oo Solo

(3) centroid (4) circumcentre
Hotoss; Sogso 55058 Sotso

31. The number of tangents that can be drawn to a circle from a point lying on the circle is

&8 o D fo Lot Food & Szrd fcone Fj;)(‘jgéa:@ oy

[ 1 2 0
@ 2 (4) infinite
©o080

32. The total surface area of a cuboid of length ‘’, breadth ‘b’ and height ‘#’ in square units is
FED U, sy B, A8 R a0 o BY FoSo o) SogEe FToo

(1) bk 2)  2h(l+b)

1 (
(3)  2(b+bh+1h) (4)  2(+Db)

33. With usual notation, if r=7 cm and A= 10 cm in a cone, then its lateral height (approximately) [ =

Forver $c3eod r=17, h= 10 Todeurr fio #opod) Baot) e AL I =, DO,
(1) 134 cm (2) 103 cm
(3] 182 cm 4y 122 cm

34. [l the diameter of a sphere is d, then its volume is

2.8 S0 ook Trgdo d woas AR ARSI IS N orTo)

4
3 s 3
[y e ) 3=
: 1.3 N
@ zz* A g
SPACE FOR ROUGH WORK /0503 355
2021-S1/81-A (6]
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35. The sharpened edge of the pencil gives an idea about the

36.

37.

38.

39.

(1) circle
&

(3) rectangle
& Seatse
If tan® + cot6 = 2 , then tan?e + cot?0 =

5 9 y
tand + cotd = 2 @ooad tan?e + cot?e =

(1 4
@3 6

1
[f tan® = 70-, then the value of cos € is
(=)

tan® = T 0S5 Coso =

o

If sin® = 12 , then tan® =
138

. 12 y
sind = T, QS tang =

r
L

H
=
=
-
m|w

A

L
—
w

1o

sinl8°

cos72°

odb.

@)
)

cone
None of these

28 =%

Lo

—

& vl

ulp o|o

i
4

SPACE FOR ROUGH WORK /05008 Srisw

2021-S1/81-A
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40. If sin® = — and 0 is acute, then the value of sin20 is

(SR

. | g — . -
sinf = 3 20Baho 0 @t,:o:;gsmo e000 sin20 oﬂwsbﬁ)wa

-
S
ﬁ“la

5 L

@ 3 W 5
41. If sina = cosw, then the value of o is

sina = coso QD o s O

(1) 30° (QJ 450

@3 60° (4 90°

42. The angle of elevation of the sun, when shadow of a pole of ‘A’ metre height is J3h metre
long is

P ey MY 1o 28 658 ooy, e Feid VBh Do, oo Brtegd dsgiFeo
(1) 60° (2) 30°
(3) 45° (4 50°

43. The probability that a non leap year will have 53 Thursdays is

2.5 &9 So11 50 Bo1l & 53 Hotomres oo SogTi®

1 1

(1 551 2 =
5 g
o 5 ) 13

44. A bag contains 4 black balls and 6 red balls, if one ball is drawn at randormn, then the
probability of getting a red ball is

2.5 S008" 4 Seod) SoBKE 6 o) wosons Ko, 2l 208 021')”0;)2)3!50(?’ ST 68 Kod) 0B LiHENS Ko

bogTig® 087

5 3
[ 5 @ 3
3‘ i r4~ i
G 3 " 56
SPACE FOR ROUGH WORK /05508 &7t
2021-81/81-A [8]
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45. £ and E, are mutually exclusive, then E,NE,=

1
El ) EQED ;'DC’XCQCS LQ@ VLA ER D asbhy) El ) E2 =
1 2 5
@ ¢ (4)  None of these
B ¢

46. If three coins are tossed, then the total number of outcomes are
3 TRk JEIADT Sy $EET T dowg
1y 2

{ 4
(3) 6 (

2

)
)

~

47. The formula for median in a grouped data is (with usual notation)

$O%B SougneRA Brgo (FPrdes BoSTrod)

N
" g
) L2 _—xe @ L-2—
=7 f
N
E_F g+F
(3) XL 4) L+=——xC
¥ 1§
48. Modeof 1,2, 3,8, 10,11, 16 is
1,2,3,8, 10, 11, 16 9 er5odso
(1) 11 2 1
(3 16 {4)  None of these
2 8

49. The arithmetic mean of a-3d, a-d, a+ dand a+ 3d is
a-3d, a-d, a+ d08ab0 a + 3d o SHen @o850¢s00 =
(1) a 2 d
(3 2a 4 2d

50. Which of the following is not a measure of central tendency?

5o 1308 5" Sodab B8 S0l (Soird Juok) S0

(1) Mean (2) Median
e Soggheo

(3) Range 4] Mode
) AV

SPACE FOR ROUGH WORK /3853508 3;0:,.:

2021-81/81-A (2] [P.T.O.

128



POLYCET OLD QUESTION PAPER

SECTION—II : PHYSICS

51. The amount of heat required to raise the temperature of 1 gram of water by 1 °C is called
1 pesos el &80 1°C Hodees esio @dﬁ:g o]
(1) joule (2) kelvin
6 36)5.5
(8) calorie (4) degree celsius
ES2 &R 2Dy00%
52. Two bodies A and Bare at temperatures —100 °C and 173 K respectively. The body at higher
temperature is
A 508050 B @i Soth Digayew sXoim —100 °C 08uio 173 K éﬁéu“.éo DG GTH 0. T3E b &ﬁéq\’é‘é
D &by D3
(ny A 2 B
(3) Both are at same temperature (4) None of these
Bots> o8 &S 56 F0) 55
53. Which of the following pairs of substances have the same values of specific heat?
@od 38 &8 DYoo Devideo SHAS escty STgreo
(1)  Copper, aluminium (2) Ice, water
56, wargodoko Boo, N
(3) Brass, iron {4) Ice, kerosene oil
384, 08w o0, 38"
54. When touched, we feel that a metal piece is colder than a wooden piece. This is due to the
transfer of heat from our fingers to
Boi0 BEREDE & D Boog) 5083 28 i S0y, Jore eNKod. HAE s6mo B0 B8 4 Sod &
PS50
(1)  the metal piece only (2) the wooden piece only
) S0 ST acoriod D 00K SR estoragiood
(3]  both the metal and wooden pieces {4)  None of these
Tote 505 EET” eorodood L Toteo Ba5EET e8It
SPACE FOR ROUGH WORK /05508 %;m
2021-S1/81-A [10]
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55. A samosa appears to be cool outside but it is hot when we eat because the curry inside it has
ingredients of

BRI By T eobhedd) Sofl &0 S 3 dotnod. s, ¢ 56 Sergio

(1)  lower specific heat (2)  higher specific heat

0y D%ﬁ;ﬁgiﬁ 5DA &otaod (STl D%%igi}:l 50A &otood
(3)  zero specific heat (4)  None of these

oty DIYALR 5O Sogwod ERRR)

56. Which of the following is not an example of refraction?

Bod 7e36° SERTTR &Trtes 570

(1)  Bottom of the swimming pool with water appears to be raised
2630 53R &5y Bedofinrd edoierto 8 SSedeo

ARGA :

(2)  Pencil placed in a tumbler of water appears to have a bent
3D BOA a5 PSS AB DeJIDk B SoASENT KSRk

(8) Lemon kept in a glass of water appears to be bigger than its size
edD KA &by FBS’ Ko Diysald BoRTEcS AT oo

(4)  Appearance of our image in a plane mirror

Bode (3508 $0% (HSBo0 B0

57. The speed of light in benzene is 2x108 m/s. Its refractive index is (speed of light in vacuum
=En10f m/s)

BodSE" wod Srio 2x10°% m/s. wond oD 5fess oo (@r9eE’ o8 Sro = 3x10° m/s)
(1) 066 @2 1 @ 15 4 2

58. A light ray travels from air to glass with an angle of incidence of 45°, The possible angle of
refraction is
28 5708 80 d ol e GRS 45° Beol 380 wanisd. $od meds” Dodly S5 Fero
(1) 45° (2) ©65°
(3) 90° (4 30°

SPACE FOR ROUGH WORK /385508 ?,gom

2021-S1/81-A [11] [P.T.O.
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59. According to laws of refraction, which of the following lie in the same plane?

SIEP5S Debsres eBndod, 208 T3 68 Sucd’ dotosd

(1)

(@)

(3)

(4)

Incident and refracted rays

5% S00ch0 SN veTeo ST

Incident ray, refracted ray and normal

585 es0, 58755 8ev0 oAy ATHTEs Btaioky Soop A vowo
Incident ray and normal only

585 &ero Bodcibs alrdsols Hodcis Sucd At vowo

Refracted ray and normal only

5855 8oes0 SoBubo ATHTER) Stdass Soop A voeo

60. A focal plane is
a‘%}oﬁﬁ S0 WR0HG

(1)

(3)

parallel to the principal axis (2) perpendicular to the principal axis
ETTTs Sirofo PTTgRs gowo

at 43° to the principal axis (4) at 60° to the principal axis
B8 45° Semo I8 Sororss 60° Feo Bikod

61. Which of the following lens is used as magnifying lens?

BoB Te35" e Seako (§IrSg0) ™ HITco Kexko

(1)

(3)

Double convex (2) Double concave
EiEooersd SrersE
Plano-convex (4) Plano-concave
Sose Booegrstl S0 Derses

62. A convex lens gives an image of the same size of the object when the object is placed

SN D TS0 3565 SODRDED, .5 Eo0EPEeLS Koo S35 SBSTea0s S SB5rea0 Ko (5880 Doigen?

(1)

between the focal point and the centre of curvature
Db Hotiord Hodae S Sogre Koty

(2) between the focal point and the optic centre

B ot $080%s ¢5y5 Soso ¢
(3)  beyond the centre of curvature

Sz oo N
(4) at the centre of curvature

S oo ©¢5

SPACE FOR ROUGH WORK /03503 3:&3&&
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63. Pick the correct answer from the following two statements :

(BoB Botk 500 ool $BES HRTEEe Jous JiFod :

fa) A lens has at least one curved surface.
2.5 Eeoto B0 2. HESer 50A doexnod

{b) A plano-concave lens has two curved surfaces,

28 Sdode HErss 505708 Soth SESTTen &0t

(1)  Only {a)is true
(a) 3 dezo
(3)  Both {a)and (b} are true

(@) 56055 (b) Bo&r Jex-d

(2) Only (b)is true
(b) S35 Deso
(4)  Both fa)and (b) are false

() 500a525 (b) Do Sisy8

64. The material suitable for making heating element of electric iron is

3 26 50 LOROIT SIS VYo
(1)  copper
%6

(3) silver

oo

65. Match the following :
Bob T30 230800
Physical quantity
T B8 o°g
i)  Electric current
Wogd (o
fiij Electric charge
36535@5 )
fiii} Electric potential
Dsosd FEVctd
(1 - (c) (W)~ {a), (i) - (D)
@ - (a) ()= (), (i) - (b)

{2) nichrome
E D
{4) germanium

éé&t’\h‘iao

SI Unit
SI Hioreso
(a) Coulomb
Koo
(b} Volt
g
{c) Ampere
eachchd
@ - (9 (i) o), (i)~ (a)
4 ()= (b), (W)~ (@), (iii)- (c)

SPACE FOR ROUGH WORK /{&3508 3;3&.,:
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66. The materials which have resistivity in the order of 10" to 10'® @-m are

101 500@ 10'° @-m St 2% 2600 SRS BT

(1) insulators {2) conductors
(3) semiconductors {4)  None of these
STSRENEEES R 559

67. The graph between potential difference (on X-axis) and current (on Y-axis) for a conductor
gives a straight line

&S 0 GBaols, RS B (X-w50R) Soiaiho oS Eairo (Y-wEo)o Sogy AR (i 3 Sevdy

BegFaidas

(1) parallel to X-axis (2) parallel to Y-axis
X-e508 S5osto Y-egdd S5rodsto

(8)  passing through origin {4)  intercepting both X-axis and Y-axis
Soore odiod Moot S0y X 308000 Y ugross pododsrsn

68. 1 joule / 1 coulomb =
125/ 1 Horod =

(1) 1 volt (2) 1ohm
15 1 &5

(3) 1 watt (4] 1 ampere
1 ey 1 es0b0bd

69. Pick the false statement from the following :

ot 38" iy, w00 :

(1) Resistivity is also called specific resistance.
DE GBS DBZ.08 Go wourtHd

(2) Reciprocal of resistivity is called conductivity.
DS Booxy, DE o0 TEPESHW

(8)  Units of both resistivity and resistance are the same,
DEesEs Sobaho DN 2B PETrress 8D doerown

(4) Low resistivity metals are good conductors,

w0y DEGES SHAS §'fon S0l TIFT

SPACE FOR ROUGH WORK /05508 :‘:m
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70. A current of 1'5 A passes through a conductor of resistance 208. The potential difference
across it is

20Q D80 SOAS .8 TisEo roow (Hroi S 1'5 A wand FEYans e

(1) 1333V 2 30V
(3 5V 4) 20V
71. The materials which are useful in making of diodes, transistors and integrated chips (ICs)
etc, are
&G0, ErRyRE00, R0BTRIE TSy S Jaiesos” &SRS S
(1) conductors (2) insulators
TSR0 AISIR LoV
(3) semiconductors (4) alloys
SISO Moo

72. The defect of vision in which the people cannot see the objects beyond far point is called

Boed sood 1ER Dot exde Mo Siodeso S8 Do Bopodods C:’D%}&S%p

(1)  presbyopia (2)  hypermetropia
Soyto B

(3) myopia (4)  the angle of vision
s aEeo

73. For a healthy eye, the accommaodation of eye lens will be in the range of
&8 RsHosR00 Sotd Ghot, Kot 568 P Deodien HosTErT
(1) 2to25cm

(2) 25to25cm

(8 1lto2ecm

(4 25to227 cm

74. A person cannot see the objects placed between near point and the point of least distance of
distinct vision. His defect of vision can be corrected by using
2.8 2558 B3 L0 Eotiond wodatio ;S,J@Cb%} EJR B0 Sogky oW S3gdod SO SrESETS, e dq)%&sﬁ?ih
TDoW0IEd e {38 ko

(1)  bi-concave lens (2)  bi-convex lens
QS eSS && Locerses

(3)  bi-focal lens (4) concavo-convex lens
&5 TgTo8S DerTS-5cerss

SPACE FOR ROUGH WORK /3&5508 ﬁgm
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75. Dioptre is the unit of
cosrd SR8 o

(1) Refractive index (2) Focal length
SESs Moeao TS0
(38) Radius of curvature (4) power of the lens
S 3‘53"‘{;2503 SRLS 3‘&%0
76. For the children below the age of 10 years, the value of least distance of distinct vision is
about
10 Sollo 503 SE B0 Ko DROK0 otk Hyitha SUR G0 Deos Hexisor
(1)  7-8 cm (2) 25cm (3) 60 cm (4 227 cm

77. Pick the false statement on the magnetic field lines.
LOTIOB F& CPULs HoBofoN Sy T

(1)  They are imaginary lines (2) They are two dimensional
@2 &5 Spen &R BloBaDbis0

(3] They are closed loops {4)  They never intersect with each other
) Homd HEree @ e5T0T5D Podoosed

78. The SI units of magnetic flux and magnetic flux density respectively are
eciorod efiariiro Koo exlbded e Pobe S ENreres Stk

(1) coulomb and weber (2) coulomb and tesla
Ererrod, Reb Ereretl, S

(3)  weber and tesla (4) weber and‘ampcre
b, B 8, eachanHd

79. The development of electromagnetism lead to the invention of

DSOgSOHRNOSE I ok, S o Ko sedod

(1) electric bulb (2)  electric geyser
oS ouy do g8 Ad

(3) battery {4y dynamo
ergerd &3

80. The magnetic flux passing through a unit area perpendicular to the field is called

gl 2

SERd oomorT (EEre JTego oG Bl edies o

(1)  magnetic flux density (2) magnetic moment
SABTHOS VL FoS IO (grF050

(3)  magnetic pole strength (4) electromotive force
SADTHOH Gy 00 sogETRE won

SPACE FOR ROUGH WORK /03503 SpRsdas
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81. When freely suspended, the compass needle come to rest along the geographic

BTy oD, BETYD o, K8 gD o, G0 B Sond Do HBS Sy

(1)  north-east directions (2)
SEC-BI0) Q¥
(8) south-east directions {4)

S8-S0y Ben

82.
final temperature of their mixture, then

cast-west directions
ST —sCEE 0
north-south directions

&30 038e O

If x and y are the temperatures of the hot and cold water samples respectively and z is the

3 5000 Y @ ST 36 So0co Hed Ve SrTe efiites ©000, 2 TS MERD Sod IS woxd

(1) y>x>z 2 x>y»>=z (3)

83.
law is

X>z>y (4 y>z>x

If iand rare the angle of incidence and angle of refraction, then the equation for the Snell’s

i BB 7 ev BESE 0 e DB Pesoen BEHT 8003B 2nd Debio sk, BIGHD

(1)  $Sin i+ Sin »= Constant (2)
Sin i+ Sin r= ?go‘oém

(3) Sin ix Sin r= Constant 4
Sin i x Sin r = Horosso

84. A lens is made up of

o35y Soired Bobotato Tea B

(1) a transparent material (2)
vEo'we; ‘23' ;mo;aa 300

(8)  both transparent and opaque materials (4)

3“6650}25 So8ao @3“0’650’83’ :355“0;&;0 Bolsae

85.

Sin i - Sin r= Constant

Sini-Sinr= ?g@om

sin i

. = Constant
Sin r

sin i .

: = QTPOEI00
Si1 r o

an opaque material
@;3“0’(5635' Z)D‘“g;bo
None of these

D8 =50

The distance between the focal point and the optic centre gives the

B0 Dot 080 ¢8 Boion Bty Mo Crto BUR BDAHIAVI

(1)  radius of curvature (2)
SET THREE
(3) object distance (4)

555 S

focal length
RN eR oINS
image height

588000 2K

SPACE FOR ROUGH WORK /385508 ?,gox,,a
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86. The human eye functions on the principle of sensation of

BISDE K50y 52 SebotatH eprE H80ES

(1) wvision (2) hearing
& DG

(3) taste (4) smell
Sod) TR0

87. An amount of charge passing through any cross-section of the conductor in 1 second is

called

8.8 Trgo oYy, IBD Sogigditio Kior o 8 ENiroh B Sesro

(1) electric potential (2) electric current
D0sS FBVeS DS @aisro

(3) electric resistance (4) electromotive force
Aoy DB 50 3)633555‘305 20520

88. Which of the following materials obeys the Ohm’s law?
8ot edE’ £.50 DADBTRY Fredoiio Bagisn

(1) Light emitting diode (2) Silicon
85 JDoe3of ¢BrE (LED) 20®

(3) q}‘gluminium (4) Germanium
@orylolabo é’é@__ﬁ}a‘bo

89. Pick the false statement on the metallic conductors.
T TFso $onofod Bod T3S’ Hidy s
(1)  They obey the Ohm’s law.
(2)  The ratio of voltage and current is constant.
ed S SoBc DesogBoe DK orossoo.
(3)  The voltage-current graph is non-linear.
T T ~ DengSo i) SESHR 3oy,
(4)  Their resistance changes with temperature,
T DEGS0 &S e BT,
20. The device used to measure the potential difference or electromotive force is
TERcd Sor Sor Degdunel pokius SeneDd oo Feine

(1)  Ammeter (2) Voltmeter
llrb FEoess

(3) Calorimeter (4) Barometer
3560066 erSanesd

SPACE FOR ROUGH WORK /05508 %;m
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SECTION—III : CHEMISTRY

91. What happens when litmus paper test is performed with an acid?

8.8 esasooro Deyld TAS0E SBEoNS Bod TRE® DO wioitiso?

(1) Red litmus turns to blue {2) Red litmus turns to yellow
X535 Dy Joone $rtsdo 033 DeyS SR S0

(3)  Blue litmus turns to red (4)  Blue litmus turns to yellow
O HenS I S 0O Bend BT StHso

92. Which of the following properties is used in the olfactory indicator?
GoBTRE D oferd) 88 FEB HrIES E@PATEO?

(1)  Colour change (2) Odour
ot 578 S

(3) Taste (4) None of these
5o P8 T

93. When Na2C303 reacts with an acid, which of the following gases is evolved?
Na,CO, es5igsiod 35t ailbibidi, $ob 708 O Taiod Soositodiod?

(1) H, 2 N @ o 4 Cco

2 2 2

94. An antacid is
QoeFHE 508

(1) asalt (2) an acid
5830 e250:500

(3]  abase {4) an acid or base
g0 esioi0 Boe greRo

95. The nature of non-metal oxide 1s
&S &G D Hes 5ORI0E008?

(1) acidic (2)  basic
©i0 Y]
(3) neutral {4) acidic or basic
B3 e o 36
96. Principal quantum number (n) is represented with
(55 5000 Sogds (n) GRS Kl
U R B K, LM, B X372 (49  AB,C, ...
SPACE FOR ROUGH WORK /3853508 3;\):,,0
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97. Which of the following properties was explained by Bohr’s atomic model?
&6 BoxTen Voo B Bod 338" BV DsBood?

(1) Line spectra of H atom (2) Fine spectra of H atom
TS S Segoesison TGS ety Bgiseo

(3) Both line and fine spectra of H atom (4]  None of the above
s Sy SoBatio &ty BEse0 26 26 s

98. Maximum number of electrons held by p-orbital is

p-eByrdE rogor I Jog Sosiy?

m 2 2 3 3 o6 (4 10
99. The electronic configuration of an element is based on

BEBTE0 B0, Q@@;ﬁ Deorgido B Vot exrBidcorin?

(1)  Aufbau principle (2)  Hund’s rule
ST Dabisses ook Dohisoses

(3)  Pauli’s exclusion principle (4) Al of the above
9 555 Detorsossos 20y

100. Which of the following quantum numbers can’t have zero value?

@B T D o0 Sogy HowTy Deoss EOAGIN0EL?

(1) Principal quantum number (2} Azimuthal quantum number
5 ot How Eelan sy im0 o

(3] Magnetic quantum number (4] Both (1) and (2
BALTHOS F508D HOog; (1) 5080 (2)

101. In which of the following, elements are arranged in ascending order of their atomic numbers?

@b S’ BIS’ 55rew Bopge eBe Ehsnd Hrose esedio a8iod?

(1)  Dobereiners law of triads (2) Newland’s law of octave
00 @5 xposo oot s Sk
(8) Modern periodic table (4] Mendeleev’s periodic table
SE0DE eBSS B8 00605 LS et
102. Which of the following quantum numbers increases down the group in the modern periodic
table?
Bot TS’ D ool Sog, DY eSS Be3E By (UHE° GobE Buys, TQ e ?
(1)  Principal quantum number (2)  Azimuthal quantum number
s Totaso Hog Eelat 53K oo vogy
(3] Magnetic quantum number (4] Spin quantum number
SADTES 51080 BOPs e SoLa0 Koy
SPACE FOR ROUGH WORK /1'1)9‘_\‘;_%;’3?35& 32:‘6:133
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103. Which of the following are called lanthanoids?

B0l TS eI TrogHes Boerso?

(1)  s-block elements (2)  p-block elements
$-275 HaTosTeo p-e5 darosoo

(3) d-block elements {4)  fblock elements
d-TE Saresa FerSsoresen

104. How many elements are present in 3rd period of the modern periodic table?
0 55 Be3EE°D 335 HBAHE Sothd I Horuses 50 ?
(1) 32 2 8 (3 18 4 2
105. The valency of an element belonging to VA group of the modern periodic table is
€358 &S5 RIEV VA (1rHED Sorosiin Gk, 38y Jois?
(1) S 2 3 @ 7 4 1
106. lonic bond is formed due to which of the following?
QTRE 20450 @ FOTT DEEeoH?
(1)  Transfer of electrons from one atom to another atom
2.8 S50 8007 BoB@aos HESTeidhd o)QJLSSE) BB exloroty 5o
(2) Electrostatic attraction between two oppositely charged ions
Bots> LT30S Kero ¢y DY DSEEes $o
(8)  Sharing of electrons between two atoms
Bots> SESTERIL gy Mo JoF k0 HO
(4  Both (1) and (2)

(1) S8 (2)

107. Which of the following is a noble gas?
Bod RE° estaraind DO
(1) F, (2) Cl2 @ 1, (4 Ar
SPACE FOR ROUGH WORK /Jé_ga:’dé‘ 3"0“‘;,:
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108. When a metal atom forms ionic bond with a non-metal atom, the metal atom will

o 98" 5508 warE 2oes’ FES,

(1) gain electrons (2) lose electrons
dogisss oot Jogs FE B0

(3) share electrons {4) neither lose nor gain electrons
doF 500506008 doFgst B8y e Srockd

109. If the valency of sodium is 1 and oxygen is 2, then the formula of compound formed between
sodium and oxygen is

Féano oo, Foy 1 Se8aho edyess @l oy 2 wcad Feabo Sbaio edred gy DO Sy do

@"dﬁ&@" D0ed9
(1) NaO (2)  Na,O, (3) Na,O (4)  NaO,

110. Triple bond between nitrogen atoms in N, molecule contains

@Las%se‘ﬁo Becess’ &) wogitnes

(1) 1 sigma bond and 2 = bonds (2) 2 sigma bonds and 1 7 bond
1 oy 208, 2 T wogren 2 &y wogboom, 1w oo
(3) 3 sigma bonds (4 3 = bonds
3 vy eofiticen 3 ' 2o¢dooen

111. In nature, gold metal is available in [ree state(native), because

588" wort Sitro ) HBE° dototis st

o/

(1) it is less reactive (2) it is more reactive
B0y Porglos Qs SoegBes

(3) it is independent of reactivity (4) None of these
BorgBod DS OB D8 s

SPACE FOR ROUGH WORK /05508 %;m
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112. The impurities such as soil and sand associated with ore are called

8.8 rEoE’ HOG 063 SoBA> B Soed SodTrwiiy DKo oert?

(1) slag 2) flux
oo 5550

(3) mineral (4) gangue
2e30 LRI

113. The spot at which corrosion occurs on the surface of an iron material, behaves as

i

5088003 2.8 DO [rotod” Eabo uBRS, & @rofo Jor (HS0Kk08?
a (LS = 2

(1) cathode (2) anode
FHE™ (558:00 aTET (3583900

(3)  either cathode or anode (4) It has no relation with electrode
THE 8o e & 558k00 JoEES Howogo oo

114. Which of the following minerals contains manganese?

Bod TNE D Fepessins 5rondD 5OA &otwod?

(1) Galena (2) Cinnabar
Rty 5erd

(3) Pyrolusite (4) Horn silver
2.269 (’JJ“ESE&S 355; ?0@_55

115. Which of the following methods is used to prevent corrosion?

BoB TG 2 353000 Ao JorOoNotsd ESEIATILL?

(1) Painting (2) Electroplating
o00Ls Woheso Sromos Ky éoitso

(3)  sSacrificial electrode of another metal (4)  All of these

©HE dorgies SOAS §iof Ky doiito 5

Qm

SPACE FOR ROUGH WORK /385308 arssow
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116. The ability of an element to form the longest chain with its own atoms is called as

25 DTOEH0 TR Do) BEITERHO W 20G0E I otar TS Bdggioroiio DGOD Friboiio Dol

DOTRD?
(1)  allotropy (2) hybridization
Erarodores 08855830
(3] catenation {4)  isomerism
HODO Ftko ©ED TUNKO
)

117. Hydrocarbons that contain only single bonds between the carbon atoms are called

SO OO 50 ELI0H0 ATHE GOLD T D089
TESGES S Mtk D500to STER &0l T oo

(1) alkanes (2) alkenes
B, &5y

(3) alkynes (4)  All of these
3% 2%

118. For hydrocarbons, if the molecular formula increases, then melting point

-.

e ook, eewarine Do) 8 LDESS o DSedHEnos?

¢

E_l) increases (2] decreases
folebTata Vol SHB0od

(3) either increases or decreases {4) No relation
0l Sor SiHEecd 2 KoBOGo Eotid

119. In hydrocarbons, which type of bonds does carbon form?

TESGS SintTed, S Mol noprao S0t

(1)  Four single bonds (2) Two double bonds
TR DEoTEe) Botio Broiren

(3)  One single bond and one triple bond (4] All of these

&
w5
o

o

[

2.5 DEI0¢S00 SoBuke 68 (HeIodsson

f

120. The hydrocarbons containing —CONH,, functional group are called

~CONH,, oot S0 SDRckui T s isse DR woerdo?
(1)  carboxylic acids (2] amides
50398 esTen ol
(3) amines (4) esters
@by Xbeo
A €

SPACE FOR ROUGH WORK /05508 %;m
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POLYCET OLD QUESTION PAPER 2022

N R 0 A e @

POLYCET-2022

Hall Ticket Signature of
No. The Candidate
Time : 2 Hrs. Full Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

BHODH azmraved Erooed S0t OMR amre SIBS50E° ascdd S Skok erigmr SEHod.

SECTION—I : MATHEMATICS

1. Which of the following rational numbers has terminating decimal expansion?

58 1808 ©E6e30D S0geS’ B wosHEhy Tod Dijdeasd IR &oB?

o1

M 35 @ 3
5 2

©) 21 @ 15

2. Which of the following is not an irrational number?

5o (8o TRS" S55aD oy SAB IB?

1 V2 @ V8
@ V4 4 5

3. If p and g are two positive integers such that p= a®bh? and g= ab®, where a and b are prime
numbers, then HCF (p, g) is
P 3081 g B0 G3IY Soggen p = a’b? B0k g = ab’, a 801 b e [H57 Sogen. eadeend

Aarer. (p, g =

(1) ab (2) ab?

@ b 4 @b
SPACE FOR ROUGH WORK /3)@%}&32)@ :'\?;ééﬁ.\)

o

022-S1/2-A (1] [P.T.0.

144



POLYCET OLD QUESTION PAPER

4. The sumn of exponents of the prime factors in the prime factorization of 196 is
196 cfmgzj BEed seterol DeSsHS'D FUETosO S0080
(1 1 2 2
B 6 (4 4

=

' . . " . o R o}
5. According to the fundamental theorem of arithmetic, if p (a prime number) divides a~, where
a is +ve integer, then

908K3E8 oY %q’;oéo 55780, p 2.8 (5 Sog)g 8010 a 2.8 % T8 Hogg AP azd p K)%;:xorv’

AR
(1)  adivides p (2) @ divides p
p & a dore grRnod p & a? Dyiore grRos
(3) pdivides a (4)  None of these
adp X)i}(xorv’ gAY 259 5%
a b )
6. I log—+log—=log(a+b), then
b a
a b
log5+ log— = log(a + b) ®0x3
a
(1) a+b=1 2) a-b=1
@) a=b (4)  None of these

299 5%

7. Which of the following collections is not a set?

e 1808 SanTroires® D8 S st

(1}  The collection of all boys in a class
2.8 SBHAE’D 0t wrent Bdoro

(2)  The collection of all even integers
@:b 58 ;)yg K)o:pase JHomrodo

(3] The collection of ten most talented writers of India
erBHTE0S D @508 (HETHoBSH 10 o8 Bbonde o

(4]  None of the above

98 s

SPACE FOR ROUGH WORK /&@éb@%m

2022-S1/2-A (2]

145



POLYCET OLD QUESTION PAPER

8. Match the following :
1808 T 23hHBDW

{a) Null set (i)  {x:xis a real number}
iy S {1 x I 2.8 TS Do)
{b) Singleton set (i) {x:xis a whole number and x < 0}
D 0¥ DA (X1 x &G 2.8 Frgrosin HBat x < O}
{c) Infinite set (iti) {x:xis an even prime number}
308 IS {1 X OBSB 2.8 B8 KHeeS Sogg)
() fa)—(i), (b}—(i1), {c}—(i7) (2 (ap—(iti), (b}—(7), (c}—(1)
B)  (a}—=(), (b}—(i), (c}—(it7) () (a)—(@), (b}—(it), {c}—(i)

9. If A and Bare disjoint sets, then
A 580t B edd Dot K)Z)Je‘ﬁ)?é,

(1) AnB=A (
@8 AnB={0 (4

(S

AnB=B
ANB=9¢

Py

10. In a class of 60 students, 45 students like music, SO students like dance and 5 students
like neither. Then, the number of students in the class who like both music and dance is

60 2008 Dershen Ko &8 SEKBST 45 008 D50 HoReso 5083 250, S0 5008 Dy Fexgo 083
ago H0Baid 5 208 Mg S Bodoes e ago S 00d Sofigso BADL Te50 BoGoeS) BZSG

BEKBSTD 36‘5&%@) Dogyg
(1) 35 2 40
@) 50 (4 55

11. If A and Bare two sets such that Au B=An B, then which of the following is correct?
A 358050 B & Boko Iees AU B=An B oGyt Ho & 8o8 TS 98638 282

1) A=¢ (2 B=¢
3 A=B (4)  None of these
29 5%

12. Which of the following is not a polynomial?
&5 1808 IS DB T8 D ?

(1)  B3x*-2y3x+5 (2 9 -4x+2
3 4 o s 3
—x’+6x° ——=x-8 -

(3) 2x X @x (4) x+x

SPACE FOR ROUGH WORK /Z)égéb%ﬁg&’)m)
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13. The degree of the polynomial (x+1)(x*—x+x* —1) is

(x+1)(x7 = x+ x* —1) 093 25058 Gog) 585730

(1) 2 @2 3
@) 4 4 S

14. If the sum of the zeroes of the quadratic polynomial fx® +2x+ 3k is equal to the product of
its zeroes, then the value of k is

Fox? 4+ Ox + 3k 0D 58 258 g, Dramge Do BTy e)zac;:i)g K)ﬁﬁ;&?_oé, k Densd

2 2

1 -3 @ 3
1

(@) 3 (4) 3

15. Number of zeroes of the polynomial in the graph shown is

(TRE° SHads w08 dboY) Lrge Kogs

Y
N
«——— —e— >
X’ O X
&
(1] o @ 1
@ 2 4 3

SPACE FOR ROUGH WORK /93508 @{;é&ﬁ»
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16. The value of k for which the pair of linear equations kx—y =2 and 6x -2y =3 has a unique
solution, is

kx—y =2 208050 6x -2y = 3 BPab S5 28D ITE A6 HoceH k Dewd
1) k=3 2] k=3
@ k=0 (4 k=0

17. The pair of equations y=0 and y =-7 has

¥y =0 208050 y=-7 3E&ere 385

(1)  unique solution (2) two solutions

bga:_g 5D 5HosVOB Bo& I $HoeTON
(3) infinitely many solutions (4 no solution

€930 AP0 DOLTPA) R DOLED

18. If the sum of the ages of a father and his son is 65 years and twice the difference of their ages
is SO years, then the age of the father in years is

a8 ol DB @98 DI mmao Ao 65 réo:)éé;aoven SH8a 78 :)omma)e) BordE Bego@ 50
K)OM‘JO"O& 5&5.)‘“&‘)?_33 6’90@ 03)056 éoti)an)

(1) 45 (2) 40
@) S0 (4 55

19. The 15th term of an AP -10, -5, 0O, 5, ... is
-10,-5, 0, 5, ... ®0¥EGS® 15:5 5680

(1) 55 2 60
(3] 65 {4) None of these
299 5%

20. If the first and fourth terms of a GP are 1 and 27 respectively, then the common ratio is

2.8 10ea@GEES*D Dowded HBatL TPedrS Soren SBITe 1 SBatn 27 ewand, & @G Boog) Ay Ajyd
n 2 2 4

@ 3 4 6

SPACE FOR ROUGH WORK /a@:m%aag:xm

2022-S1/2-A (5] [P.T.0.
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21. If , b, care in AP and x, y, z are in GP, then the value of x*y*2z%*l js
a, b, ¢ & e05RSS” 805w X, Y, 2 e HeRsSS Doyand Iyl Z oy Deos
(1) O @ 1
B  xyz (4) x%ybze

22. The distance of the point P(2, 3) from the x-axis is (in units)

P(2, 3) Dot x-e950 2008 re o (hrdeys’)

(1 2 2 3
@ 1 4 5

23. The quadrant in which the point divides the line segment joining the points (7, -6) and (3, 4)
in the ratio 1: 2 internally lies, is

(7, -6) 2850 (3, 4) Do ey Beraoad) 1 : 2 IBE' eosorr 2o Hotd Hod s

(1) 1stquadrant (2] 2nd quadrant
Boodsed Srddo Bosd o

(31 3rd quadrant (41 4th quadrant
BaTeEES Breso T 0

24. The triangle formed by the vertices A(-4,0), B{4,0} and C(0, 3) is
A(-4,0}, B(4,0) &8ain C(0, 3] oveore re @abaso

(1) isosceles triangle (2) equilateral triangle
B Sgheso Dz |Bghao

(3) scalene triangle (4) right-angled triangle
D (BeHeso oot Bgheso

25. If A(-1,2), B(2,-1) and C(3,1) are three vertices of a parallelogram, then the fourth vertex is

A(-1,2), B(2,-1) #8obo C(3,1) Dosde 2 555088 Sxipymo By, e dore wond, o

T %g;s»
(1) D20 (2)  DO4
B D(2,06) 4 D(6,2
SPACE FOR ROUGH WORK /96308 350
2022-S1/2-A [6]
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26. If the slope of the line joining the two points P(2,5) and Q{x, 3) is 2, then the value of x is

P{2, 5) 8050 Q(x, 3] HosodHess Sen By dng Tven 2 ow8, x devd
1) 1 2 2
[ -2 4 -1
27. 1f the points P(2, 3), Q(S, k) and R(6,7) are collinear, then the value of k is
P(2,3), Q(5, k) 805 R (6, 7) Dothiden SOPArS8, k Dens

1) 4 2
(1) @ 3
’3' _g r4'- =
(‘ J 4 ] O
; 2 AD 3 s ®
28. In the given AABC, if DE || BC, o and AC =5-6cm, then AE = s
ol
, AD 3 o
adyo AABC & DE| BC, R 800 AC =5-6 00000 ©00d, AE =
o
A
D E
B > C
(1) 2'1cm (2 2cm
2:1 20.20. 2 20.50.
(3) 22cm (4 42cm
22 20.2. 42 0.20.

29, Ifthe lengths of the diagonals of a rhombus are 30 cm and 40 cm, then the side of the thombus
is

a8 935 Sdpeo (To02) BB ETre e¢Hen 30 0.0, S8 40 0.20.60 08, & gHeso e

(1) 13cm (2) 20cm
15 2o.dv. 20 »o.dv.

(8) 25cm (4 30cm
25 2o.50. 30 2o.%v.

SPACE FOR ROUGH WORK / D¢:508 @;é&ﬁ»
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30. In the given figure, O is the centre of the circle and LAOC =110°, then ZADC is equal to

2dy% 50006, 3% Boo O HBay LAOC =110° eond, LADC =

D

B
(1) 110° 2 55°

3 70° 4 1

bo

5°

31. Ifa point Pis 17 cm from the center of a circle of radius 8 cm, then the length of the tangent
drawn to the circle from the point Pis

8 0.20.0 TgFgo 1o B Soo ok P & DD 17 20.20.0 e’ Htons, & Domd Wod
08 Raberdsd 5y5Be 26D

8 cm

17 cm

(1) 10cm (2) 12cm
10 0.5, 12 2o0.50.
(3 15cm 4 1l4cm
15 2o.2. 14 2o.Xv.
SPACE FOR ROUGH WORK /3)@33)% @gé&ﬁ»
2022-S1/2-A [8]
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| &

32. If cos A=—, then the value of tan A is

@]

.

cos A =% 008, tan A Devd

o

- B
(3} 3 4 3
TR . Al t
- 1€ value o Sir130°+cos 60° 1S equa (@]
o OOLHDR ety
$in30° + cos 60° b
1
M 1 @ I
. 2 1
© 3 @ 3
34. The value of tan2® tan4° tan6”... tan88° is
tan2® tan 4" tan6”,.. tan88° oBoaébi)oob
(1) 0 (2) A
@ 2 (49 Not defined
QB¢ DO
35. If tanB+cot8 =5, then tan®0 +cot”0="7
tan® + cotf =5 ©owd, tan”O+cot’9 =7
) 27 (2) 25
(@) 24 4 23
a® b
36. If x=asind and y=>hbtand, then the value of F_y_* is
a2 2
x=asing® N80 y=htand ®and, E Densd
(1 1 2 2
@ -1 {4)  None of these
209 5%

SPACE FOR ROUGH WORK / D508 53396&3))

2022-

b
1¢2]
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37. If secH +tanB = x, then tan® =

secH +tand = x ®o0d, tand =

( x*+1 0 x -1
) x 2 X
- x> +1 4 x? -1
(\)) (2)( ( ) 24‘
- sinf
* 1l+cos8
1+cos® 5 1-cos®
sin® ) cos 0
. 1-cos6 L 1+sin®
(3) sin® 4 cos B

39. If the ratio of the length of a pole and its shadow is 1:4/3, then the angle of elevation of the
sun is

a8 YozJo GBovs) &) 8ok & D% DotsDHO Ny 1: J3 wond S8R 88een gIPE b(bé{ﬁ) éeggesao
(1) 30° [2) 467

@ 60 4)  90°

40. If two towers of heights A and h, subtend angles of 45° and 307 respectively at the midpoint
of the line joining their feet, then the ratio of &, : h, is

hy 8050 h, e $ORS Bodk AEHT 0 b grres: 59D $598 ¢ Dotsid o Toed D grmres 457
208050 30° &ee S'eren JEYSIS hy @ hy =

(1) 1:43 @ J3:1
B 1:3 4 3:1
41. Which of the following eannot be the probability of an event?
&0 (808 RS° 2.8 65 ok Sogrgs 78 82
(1) = 2 03
3

@ 33% (4)

SPACE FOR ROUGH WORK /3@33%%5&&»

2022-S1/2-A [10]
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42. If a card is selected at random from a deck of 52 cards, then the probability of getting a red
face card is

52 i)émogben o el éeag 2008 otimse){tbéom a8 s‘“(gm HOHTT 98 B BolH 5009 ?@ D) He éow:)éeé

e 5 2
M 26 @ 13
o B !
® 13 =g

43. Two dice are thrown together. The probability of getting the same number on both dice is

Bot) FIEOD 288 EFGoT 8. 77e3 J0gPeD 2.8 HoyR D08He SoeTge

1 1

1 3 @ 3

, 1 1
) 4 13

44. A box contains 3 blue, 2 white and 4 red balls. If a ball is drawn at random from the box,
what is the probability that it will not be a white ball?

a¥ :;egesﬁ 3 He0, 2 By 208050 4 B BorH 20eHen K0, e3 26 $008 aireDygorr 8 o8 &5
©8 Beos) 2of SPEIEIES e Sogrsgs

(1) @ g9
. 7 2
© @ 3

45. The mean of 12 numbers is 19, If 4 is subtracted from each number, then the new mean is
12 Sogge driew 19. 98 o2 208 4 B SdIaHre :év:ﬁaa 8¢ driew
(1) T¥ (2) 23

@ 21 (4 15

SPACE FOR ROUGH WORK /3@63%@35&&»
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46. If the mean of the following data is k(> O}, then the value of k is

S8 (808 Ddgadxdssd B0 s BHeD (8908 D) k(> O] eand, k devd

Marks k 4 k 8 3
w&ben
Frequency k | 2k | 3k | 4k | Sk
x‘r*:\’)a@béo
(1) 10 (:
3 5 (4

8
4

S

ey

47. 1f a data has 25 observations {(arranged in ascending order], then which of the following
observations represents the median?

&8" 783 (5008 0200y 25 5080508 KE oot S (808 rRS" diy H08:H ey SdRe6 2

(1}  12th (2) 13th
(3) 14th (40 15th

48. If the mode and median of a frequency distribution are 5 and 10 respectively, then the
mean is

a8 a»;s:;»né DeTresdn0eS’ eruTgsn 8atn miﬁéﬁé:mm S0P 5 08010 10 0008, o e908 mqsman

Densd
(1) 75 2 105
@ 125 4 25

49. Which of the following eannot be determined graphically?

0§08 TIS" B (T o IzBois Faw?

(1) Mean (2) Median
89085083500 Sogglieso

(3] Mode (4)  None of these
OB 29D 5%

50. If the mode of the data 2, 4,6,7, 5, 6, 10,6,7,2k+1,9,7, 13 is 7, then the value of k is
2,4,6,7,5,6,10,6,7,2k+1,9,7, 13 Szo¥o Gl eriodsin 7 eond, k devd
1y 7 (2 3

@ 4 (4 2

/

SPACE FOR ROUGH WORK /aé_gébgﬁgééﬁ»
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SECTION—II : PHYSICS

51. 1 cal=
185% =
(1) 1000 J (2) 27315J
(3 80J 4 4184

52. Which among the following behaves like heat store house for the earth?

z;iﬁ‘;b?:z ng%ep“omnﬂmenrw B9800

(1) Trees (2) Minerals
D PJeren
(3) Factories (4) Oceans
SorroUed S0TEIB0TEED
83. Pick the correct match :
RO BESBBEeD) J3nE0s ¢
Substance Specific heat (J/kg-K)
?.SWg;‘m B[S0 (F°/ &..-3)
{a) Water iy 483
A&
{b) Glass {ii} 4180
e
{c) Iron (iii) S04
R0
1) (a)- (W), (b)= (), (c)- @) (2 (@)= ), (b)- (i), (c)- (i)
@ (a)- fir), (b) = (1, {c)- () (4 (a)= (@), {b)- (), (c)- (i)

54. Formation of dew on the surface of a cold soft drink bottle kept in air is due to

OIS’ 0D 28 3P KD VDD DD Y AT OH SBeain

(1) evaporation (2)  melting
gran g0 &DgHH0
(3] condensation {4 freezing
3\*0@56230 0DesBH50

SPACE FOR ROUGH WORK / D¢:508 @;é&ﬁ»
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55. The heat energy supplied to a system during melting is known as

EDe500 DoBerTy & BgBgE @orsBatd & ¥

(1)  specific heat (2] latent heat of vaporization
5 o
bg%é&m) 2,3"%)2;5:)?\1) K)@‘_;go
(3) latent heat of fusion (40 humidity
(DS O30 8%

56. The device used to measure the specific heat of a substance is

2.8 :m**go AB00E) DBFRA0D §PoNER8 To¢ HBESHA0

(1) micrometer (2) spectrometer
DE ests> )& e

(3] calorimeter (41 barometer
3S" B0 25 2088

57. Il i and r are the angles of incidence and refraction respectively, then i < rmeans the light
ray travels from

i 20Bodo 1 en 583 HoBaho 855 Seren B0 | < redT 570d 80 WoIrBonds

(1)  denser to rarer medium (2)  rarer to denser medium
e0|L9858 0l DBY 03578 DBY AIIH80 0 FRoRISEHD

(3) throughout denser medium only (4) throughout rarer medium only
BT oSS AIREoS® SumEd IO DBY AieRSEes B

58. The physical quantity which has no units, is

Waoreren 89 g8 oo
(1) radius of curvature (2)  wvelocity of light
DET TogEI0 5708 DA
(3) Tfocal length (4) refractive index
gy 088880 582595 roeaio
SPACE FOR ROUGH WORK /&é_gﬁbgﬁgm
2022-S1/2-A [ 14 ]
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4
59. A rectangular tank of depth 2 m is full of water of refractive index 3 When viewed from the
top, the hottom of the tank is seen at a depth of
4 "
2 0. e SBAS 2.8 B SWERTED TG, 7 HEPH 1heaso Dend $BAS IBE Frgre Aod &8, 2 3
908 STRVIDE, EE i g Do S
(1) 266 m (:
3 1:383m (

B
al

m

D

-

33 m

=
¢
w

60. When we sit at a camp fire, objects beyond the fire are seen swaying. The principle involved
in it is
Sdo 5"505 }25 S00080 1-‘1}"6.)‘):6&:)3)63), €3 osy Y ?_‘Q) éb& S0P 5&&)00&)?6&&87\“ @K)?)XD_DO@. 828
[020080ID 380D

(1)  refraction (2) reflection
BTSN BTGB

(3] total internal reflection (4] dispersion
ROIToBE oS0 DEHE0

61. If Aand Bare the speed of light in a medium and refractive index of that medium res pectively,
then
A 58050 B o) S5607e 2.8 alrdgoss s2oé o 8akn & airdto @oébé&ibé o5 en 90008

(1) A is low when Bis high (2)  Ais high when B is high
B Qé)&é, A 885 B Qs‘ozéé, A

(3) A is independent of B (49 None of these
B A &8s EERESN)

62. The refractive index of glass with respect to air is 2. The critical angle at their interface is
e SBorv Tear Sega o?mgbaé&;é:é 10380 2 eand & AIrEsTe 3 S0 oo 5 SoBY §%s0
(1) 90° (2) 60°
3 45° (4 0°

w O

63. The symbol | used to draw the ray diagrams indicates

85 DEren Racsos® T 108 B3I BOHIR0B?

(1) concave lens (2) convex lens
eSS Eeaso Bogrses &80
(3) plano-concave lens (4 plane mirror
D00 HerseE 880 Jdoese ééﬂ)mo

SPACE FOR ROUGH WORK /Z)@é&)%a};a’)m)
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. Y . . . . .
64. 1f y and 7 are the object and image distances due to a convex lens respectively, then its

focal length is

Y 08w % &0 &8 50578 SeaSo G30¥) S5 208010 &0 BITren B0 e Ktako GR0Y) Fogrg0e80

<

& @

1] 4] __BI’UI
2l& vl

@)

(4)

65. A lens bounded by two spherical surfaces curved inwards is

&5 D> SoR &3y Boda SO &R &) 8880

(1) double concave (2) double convex
635 eI QS 07578

(3) plano-concave (4) plano-convex
DB HeTrseY Do BDogrrsed

66. A convex lens gives a virtual image when the object is placed on the principal axis
PFTE0R 9 0 5 IDV GOWVIDE, L0FTSE E8¥o Py L:aé’aﬁ)owih Ao ?
(1) at infinity
09908 Srgos’
(2) at the centre of curvature
SiBee oo $¢
(3] beyond the centre of curvature
S Sogso esde
(4] between focal point and optic centre

TPab Do Bo8ako &5 Soso Bogsg

67. Which among the following pairs represents optically transparent and opaque media?

5008 @6656,35 So8asn @bbéddag ofredsreurT 1o 208y sbm"c;e»

(1) Water, glass (2) Water, ice
O, e B, B00

(3) Ice, clay (4)  Clay, wood
3005, 208 ;‘)Jeg 208 :mg, 553}

SPACE FOR ROUGH WORK /&@ébg%m

2022-S1/2-A [16]

159



POLYCET OLD QUESTION PAPER

68. If R| and R, are the radii of curvature, n is the refractive index and fis the focal length, then
the lens maker’s formula is given by

Ry H080i0 R, &0 Hi8ee TR, 1t 18855 roeao 08atn Sargrgosto 20008 K6 $air8 oo

s @ fﬂnﬂ)%"zﬁ
0 gedlid] e el

69. In case of myopic defect, the image is formed

g Byg B0’ H8Dowo Ryt i

(1} before the retina (2 after the retina
Bedmeg Bov0tsd Bedae B

(3) on the retina (4) Does not form an image
Bede B&Dowo Dy

70. The part of the human eye which helps the eye lens to change its focal length, is

%063 K)o"éeaoés 503 Beoso &5 TergosTR) wes;ag*’moess DRFONE eTOHDI

(1) iris (2) ciliary muscle
28 290578 Kocsoren
3] cornea (4] aqueous humour
) L)
SN E 68 Gs0

71. The power of a lens is 2:5 D. Its focal length is
2.8 Bea80 oangbaumgéo 25D, ngﬂéoéesm
(1) 10 cm (2) 25 cm
(3] 30 cm {4 40 cm
72. Bifocal lenses used to correct the defect of vision are called

9 aq)gseanx)& RPBBaT0EsE Bg-TegrgoBt S5y TEEE?

(1)  hypermetropia (2) presbyopia
5352)%\ Sergio

(3] myopia {4)  None of these
ERg Szl 23D

SPACE FOR ROUGH WORK /3@63%@5‘6&»
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73. Pick the correct answer from the following two statements :

808 Bot TEgHe 00k SBEHS HITEEHo JodE Dooé :

(@) In VIBGYOR, wavelength increases from violet to red.

VIBGYOR ¢* e‘édoﬁ%m &0 S006 JHHB DB

(b} In VIBGYOR, refractive index increases from violet to red.

VIBGYOR &° 582555 osa¥o & 5008 JHDE D08

(1) Only (a)is true (2) Only (b)is true
{a) 33 Daso (b} $37E8 Jeso

(3) Both {a)and (b)are true (4) Both (a)and (b) are false
{a) 208 (b) Bodks® Jezed {a) 508050 (b) Bocsr® éi.’)gpa

74. The formation of the rainbow is due to the dispersion of sunlight by the

RIEs508 1§08 T7B3E° DFHe0 D00 HOD RO (N AYEHOE

(1)  dust particles (2] water droplets
G Seren e Dododen

(3} N, molecules (4] inert gas molecules
N, DE8TeH00 2G0T DBBTCEHO

75. II 7} and i, are the angles of incidence and emergence respectively and A is the angle of
prism, then the angle of deviation is given by

i 508050 1, € SBHT H&S5 o 80K 2rordd Sleren 0801w A B¢ o @@ Do §o
1 2 n e

(1) (q+3)-2A @ (a+i)-A
(3) A(il _iz) (4) A(l‘l + iz)

76. The quantity which has the unit ampere-second is

€50D0DHE-BD Sessore Ko e°8E o8

(1)  electric current (2) electric potential
DesgS Fairo D8y 2-BYoHd

(3) electric charge (4)  electromotive force
DéogEeBEan Deﬁaééabené OB

SPACE FOR ROUGH WORK /3@63@%‘6&»
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77. A bulb is marked 100 W and 240 V. The resistance of the bulb is
a8 ey 100 W $08030 240V e &o8. s e DB BB
(1} 41668 (2) 2508
(3] 24K (4 DS768
78. Electric fuse is used in household circuits for the purpose of
20638 Ko 5)&6355 Seoired @‘55 T éség-‘éo
(1)  measuring electric current (2) maintaining all appliances in series
Desogd I SoneedE ©Q) HBETO% @63 SogrHod” sosed8

(3) preventing damages due to overloading (4) decreasing resistances of the bulbs

L38S°G 5g SOR PSRy NoeBoseeR8 D8o5& wone VG TroR SRoSES

79. Four resistors each of 2 Q are connected in the form of four sides of a parallelogram. The
equivalent resistance between any two opposite corners is

a,g"bg&é 2 Q Dewd Ko ek IS Erod el BET0ss éefwti)?)ao ﬁnébmmm gegrenrr ee;ﬁ)ﬁamd). 5939
Boc 3588 Buree 506y sow $OS &%%50

(1) 1Q 2 29
@€ 4 4 8

80. Ohm’s law is applicable to

& DA BB ed8 0580 Vobisiy

(1) gaseous conductors (2) semiconductors
°QI0 TUTETED esg:PZJ“s“eD

(3] metallic conductors {4) light emitting diodes
Sy Trdrseen geS Je3oh EareEen

81. Resistance of a wire of length 0'5 m and area of cross-section 1 mm? is 1 Q. The resistivity
(in &-m) of the wire is

0'5 m & S8t 1 mm? mqséfsaé o5 SORS B VG0 1 Q. & 8K DG G50 (Q-m o)
1) 2x107° @ 12
(3 2x10° (4 10°

SPACE FOR ROUGH WORK /9¢308 350
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82. The area of current-time graph gives

DS (D0 — SO0 [T B0, DTO5H0 FNIB

(1} potential difference (2)  specific resistance
2-800d & DIQ TG0

(3) electric power (40 electric charge
Déﬁoesé L0 D@éa"f}%m

83. Two resistors of 3 Q and 2 & are connected in series and a potential difference of 5 V is
applied across them. The potential difference across 2 & resistor is

3 Q 5800 2 Q V80 EORD Botd A8 grod B Sogrdo DD T3 5 V s)nesgomé B L0l D,

2 Q A8%5°D8 docd bveBQOSJeS dce
(1 2V 2 1V
@ 5V 4 30V

84. Of the two bulbs in a house, one glows brighter than the other. Which of the two has larger
resistance?

a8 90e36” o Dot wened” a8 MBEWE T ) WSTEosorT JeVHWNE. S Bokoeds” K5

DEL B K o)

(1)  Brighter bulb (2) Dim bulb
Lb?%boé?_oé LA DB éé& LA

(3) Both have same resistance (4) Brightness does not depends on resistance
Bo&ed DEEsHL DAIS (557805680 DERBVD LI

85. Pick the correct answer from the following two statements :
808 Both T55e 00 HBGHH HITFHRWE JoDE Bobod :

{a}  Kirchhoff’s junction law is based on the conservation of charge.
8o 805D AoHivo e Asthe DAHITY) BSBoSH

(b}  Kirchhoff’s loop law is based on the conservation of energy.
§c°§> o daHdavo 8 X)ééés Klo‘i)ﬁ)‘ﬁh 90080500

(1) Only (a) is true (2)  Only (b)is true
{a) S3S Jessoo (b} 3378 Desdoo

(3) Both fajand (b)are true (4) Both (a)and (b)are false
(a) 58010 (b) Bos® Jezed (a) 801w (b) Botir® S5p8
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86. The electric power (in kWh) consumed in operating a 60 W bulb for 3 hours a day in a month
of 30 days is

60 W 0850 fe ey a8 8ers’ 3 fowen &SRR, 30 aren Ko Bod® DABHo edhy Dixd 4§

(B&'ey fotros)
(1) 27 2) 54
@) 8 4) 36

87. On increasing the temperature, the resistance of copper and germanium respectively
&S VBRI, 5236 8ok BGIapo D& ren ST

(1) increases, decreases (2) decreases, increases
POIHEOB, SiHenod S1Heo8, LB

(38) increases lor both (40  decreases for both
Bo&oedd 2EIHE08 Bodioe3d srasod

88. 3 volt x 4 coulomb =
3 Sey x 4 Lravrod

(1) 12 watts (2} 12 amperes
12 ey 12 esodond

(3) 12ohms (4 12 joules
12 &0 12 &6

89. Three resistors of 1 Q, 01 Qand O:01 & are connected in series combination. Their equivalent
resistance is

1Q, 01 Q58w 001 Q Devsden K8 B ISTEOD B Dogrso Do, o3 HOS A6%0
(1) 1111 2 12«
(3) 201 (4 21
90. The scientist who proposed that the metallic conductors contain large number of free
electrons is

P Tirses’ i Soass’ f‘ZS’Ti) DO GoeraHd HBFBoDD T

(1) Oersted (2) Ohm
sanbys B0

(3) Kirchhoff (4) Drude and Lorentz
8oy (& So8aiw erdod
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SECTION—III : CHEMISTRY

91. Which of the following is not a chemical process?

92.

93.

94.

BoB Te3S° B S5 5708 B2

(1) Rusting of Iron (2) Changing water into water vapour
ABB0 BB Ao DB BB

(3) Mixing metal acid and base (4) Baking a cake
£330 3080 FEHLD 0D S 28R

What is the value of X in the following balanced equation?
68 808 o5 BIaDHH SE;S” X Dewd Joé?
YH,+ 0, = XH,0
1) 4 @ 3
@ 2 4 1
If Qis the heat energy, determine the nature of the reaction in the following equation :

8ot AdgaGD eI $85S° Q OIB &5 ¥§ e, & SB5 BE) DearHo e ?
2C,H, +70, = 4C0O, + 6H,0+ Q

(1) Exothermic (2)  Endothermic
ERBV T

(3) Both (1) and {2} (4] Can’t be determined
(1) 508050 (2) Bodio BeSSa0

In the equation given below, 100 g of CaCO4 and 73 g of HCl are used to prepare 18 g of H,0.
If 300 g of CaCO4 and 146 g of HCI are used, then how many grams of H,0 is produced?

CaCQO, +2HCl— CaCl, + H,0+ CO,

D AIWED BIADE «:56566 100 rawe CaCO, 8w 73 e HCI J &3a@Rod&S 18 (rhdwe
H,0 f,)q)dom. 2,53¢ 300 grdwe CaCO, HBaly 146 grswe HCL D é3@Rods Y rd0e Hy0
bé&(.‘a)m?

(3] 300 4 146
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95. Which of the following is/are used to detect acidic or basic nature of a solution?
&8 [EP9£90 G089 Soe T8 BT K080t 1§08 TS B SHATAE?

(1)  Phenolphthalein (2) Metals
2)3"5))3)5 SeRooen

(3)  Universal Indicator (4)  All of these
A0 B B0 D5

96. Which of the following metal liberates H, gas on reaction with NaOH?

808 A" d S NaOH & 385508 H,, 5750 Deocse 3082

(1)  Zn (2] Ca
(3) Mg (4 Na

97. Which of the following can’t be used as X in the equation given below?
Acid + X — Salt+ CO, + Water
29 ARED IS 3 Sergo X T aIGERoSS0?

(1)  Metal hydrogen carbonates (2)  Metal carbonates
& &' TPy S s8Hden

(3) Both (1) and (2) (4 Metal hydroxides
(1) oB8aiw (2) Botsr S B

98. Tooth enamel is made up with

BosreR &0 Dorrel 508 BA EOR &otwod?

(1) calcium hydroxide (2) calcium phosphate
s*§apo y@qu_“)cz) s*9abo anferS

(3) calcium oxide (4) calcium carbonate
s*§ao 83‘35 57ano 5633ed

99. What is the pH of the salt formed from weak acid and strong base?
wo?r;é?_o:é €500 08050 VO FTEAN D0 MYES oBea A% PH Dend o &oeod?

(1) 3 2 ©°

© 7 4 S
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100. Who among the following did not propose atomic model?

Bo8 T°8° 58:507e0 H0rTR HEE0VD ToEH JSSH?

(1) Planck (2)  Schrodinger
08 @eGoesd

(3} Bohr (40  Sommerfeld
&°5 506 D

101. Which of the following electromagnetic waves has highest velocity?

o588 Ao EORD Séo?séesoi)ﬁbboé S80K0 8?2

(1) Violet (2) Green
& Sold SEV

(3) Red (4)  All have same velocity
RIS)) o) 2,8 Do ORIV

102. Which of the following quantum numbers gives information about orientation of orbital?

808 TS 2 s7c0e0 Hog)g e8yery @ERE BRcTRySo 180D BDAHER0E?

(1)  Principal quantum number (2)  Angular momentum quantum number
D5 $°g080 S0P §*Hoh 2535 M 5°c0820 RHogs

(3) Magnetic quantum number (4)  Spin quantum number
©00R)08 57080 H0)g 2y s7¢080 Hog)y

103. The electronic configuration of element ‘S’ is
S 09 Bore¥o 03»5690&;’5 Dg0
(1) 1s22s522p03s23p* 2 1s%2s22p53s23p°

(3) 1s22s%2p%3s23p2 (4 1s22s522p°3s23p!

104. The maximum number of electrons that can be accommodated in a subshell with angular
momentum quantum number [ is

1580 (¢5gBK s7g0es0 Soayg EDAS &issy 5&° HBFor IRy Jogisy G052
(1) on2 2 2(2A+1)

@ 2 4 (20+1)
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105. Which among the following is a non-metal?

BoB TAS° e 5o HBoSod :
(1) Potassium

DTA0D0
(3) Silicon

2525

Chlorine
£'65
Sodium

dté&aho

106. Which of the following periodic classifications is not based on the atomic weights of elements?
808 TIS" Srese SEHED FrERN S0KE™E BE'D Mureste $858 282

(1) Dobereiner’s law of triads
2856 (&% Arzoso

(2]  Newlands law of octaves
‘:33"5@5050 @Qg AN

(31  Mendeleev periodic table

0605 e8% D8

(4}  Modern periodic table

G0 589 :>e§§

107. An element with atomic number 14 has a valency of

14 583770 Doy $ORS Sareso o‘:mébﬁeﬁb

108. What is the family name of VII A group elements?

VIT A 197D S0res°e o), $6002 7050 00632

(1)  Alkali earth metals
FE3BE S
(3] Chalcogens

6“656@385&)

(2)

()

Alkali metals
58 S°en

Halogens

PS ey
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109. Which type of bond is formed due to transfer of electrons between two dissimilar atoms?

Botsd B D> BESTEDHO Doy QeLs&"S B3B)E D03 D EEDS oo bégé.)éé.)oa?

(1)  Electrovalent bond (2) Electrostatic bond
0§ 780 woto 6 S wogso

(3) Tonic bond (4)  All of these
0¥ 20850 }_)éﬁ)g

110. Which of the following is correct regarding the melting points of ionic, polar covalent and
non-polar covalent compounds?

808 DS’ TR, §5)i Sodreslod B e SodrBdoh g T, LS LTre Sty
Po@0gTR) VOT JrI0RNE I6?

(1} Polar covalent > ionic > non-polar covalent
&y HDo@rraNoD > eoedE > Cloy oot

(2) lonic > polar covalent > non-polar covalent
0L > Gy Sod@radot > OGS Ho@I e

(3) lonic > non-polar covalent > polar covalent

©0STRY > &5 HoGIreERoD > &y Podredoh

(4)  All have same melting point

o) &8 BEIID Fodo AR Goeraw

111. What is the hybridization in H,O molecule?
H, 0 e GRo¥, $0805680 962
1) s @ sp

@ s 4 spPd
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112. Which among the following theories explained both shape and strength of the bond in covalent
compounds?

ROCBIEIAD SEgTe Bk, esgyEen HBAkY 208 FHe HBoD DIBoSB drzoso B2
(1}  Electronic theory of valency
S0dy dogs drgoso
(2)  Valence Shell Electron Pair Repulsion theory
VSEPR ?.)cso“oe‘ﬁo
(3) Valence bond theory
3@)5)‘3 206 ?omc"oe‘_’eo
(41 All of the above
DI

113. Highest abundant metal in earth’s crust is
2o Heeosst e Bsone odo o D82

(1) Al (2) Au
@) Ny (4 Fe
114. Which of the following is not a sulphide ore?
808 TS 3SE red 5708 B2
(1)  Pyrolusite (20 Galena
28052 oo
(3) Cinnabar (4) Copper iron pyrites
Rdinerd 538 080 BB
115. Which of the following ores undergoes roasting?
S DD BPH0S® &2
(1) Carbonate ores (2) Oxide ores
ses‘b:ses Fevids V) 88 e
(3]  Sulphide ores (4 AT] of these
9SG D D5

116. Which of the following metals liberates H, on reaction with steam but not with cold water?
363 N38° 3T 08%0G", VB 8BS’ 3B;ToB H, 57atnud daxse I S'iro 282
(1) Pb (2) Na
(3) Fe 4 K
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117. The number of sigma (o) and pi (7] bonds in C,H, molecule is

C,H, 0e0pe” ot vy (o) 98050 D (1) wo5re Sogy

(1) 3 sigma and zero pi (2) 3 sigma and 2 pi
3 ?omé So8atn T D 3 ﬁm"é SoBatn 2
(3] 2 sigma and 3 pi (4 4 sigma and 1 pi
2 ?;)m&;’}.)ﬂoin 32 4 %mémsm 12

118. Which of the following is not a conductor?

808 TAS" iy Ko 5798 B2

(1}  Graphite (2}  Carbon nanotubes
rTPes 86y o Tooren

(3]  Diamond (4 All of these
Sieso DY

119. Which of the following is an unsaturated hydrocarbon?

808 T°AS® S0y ES )R D2

(1) Butane (2) Butyne
(3) Isobutane (4) Cyclobutane

120. What does an oxidizing agent do?

es8ysoBrmren DR Baod?

(1) Tt reduces other substance and itself undergoes oxidation
RES HTTOH FANES0 080 D e8yE5ETIS HEHE

(2) It reduces other substance and itself undergoes reduction
RS HOTOD FAHESE0 B0B0d e FaHESETE HEHE 0D

(3) It oxidizes other substance and itself undergoes oxidation
258 bwo;emagaééeao 2080 esgragdwi)g 8T 00

(4) It oxidizes other substance and itself undergoes reduction

28 STTo e58y5580 Bo80d D KoHESTIE HEHT N

SPACE FOR ROUGH WORK /aé_gébgﬁgééﬁ»

2022-S1/2-A (28] AA(P)-22—30,000%4

171



